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Alphabets in reverse order

D E GH 1 ] K'LMNGOTUPU QRS
9 8

%21 20 19 18 17 16 15 14 13 12 11 10
1

D = ¢ ]

FErEHETTH 9 e

]

FAIAT®

PRE A @

TTTT o

T YR Y

AFIST

a9

1 g H Y

T

5

o). If LOYAL is coded as ‘JOWAJ’, then PRONE is coded as —
<. QRPNF ¥ ORMNG . NRMND Y. NRMNC

SRR . o 76 oeces st srwa J; Y o et s o

SF W; O 9 A WoiffE® - P aw 8 wess wivrk we N; O a7 {1

SFER WO 9F M; E @ +§33 R WioR W C; R ¢ N weiifds
PRONE is coded as NRMNC.




—

R IQ SUMMIT

If PALE is coded as 2134, EARTH is coded as 41590, how can is
PEARL be coded in that language?
¥, 24153 ¥, 25430 . 29530 9. 25413

KRil] The letters are coded accordingly P as 2, E as 4, A as
1, Ras 5 and L as 3. So PEARL is coded as 24153.
oo. If ‘eraser’ is called ‘box’.‘box’ is called ‘pencil’. ‘pencil’ is called

‘sharpener’.‘sharpener’ is called ‘bag’. What will a child write with?
%. Eraser . 3. Bag 5. Pencil ¥. Sharpener

w‘" ]E A child will write with a ‘pencil’ and ‘pencil’ is

called ‘sharpener’. So a child will write with a ‘sharpener’.

. If “ABCD’ stands for “WXYA’ then ‘BAD’ stands for—
¥ XWZ ; 3. XTYZ 5. WXZ

9. YZW . none of these

G EEEmA=W; B=X; C=Y; D =A - o, BAD = XWA.
Mﬁﬁmﬂﬁvmn
9!.1:%1mwa,sz,smx,4mz,saa3,6mw,7awL,8m

U, 9 93 D, SReT 853417 3 T3 F
<. UBDXZF ¥, UBXBFL 5. UBXZFL ¥. UDXZFL

.,- ]E F=l’P=2sx=3,Z=4,B=5,-‘W=6,L=7,U=8: |
D .

dEL

=9 . 853417 = UBXZFL [®*% itz 717 I+
ou. If you rearrange the letter “LNGEDNA” you have the name of a/2n?
<. Ocean ¥. Animal s1. City 9. Country

RN~ JHEii LNGEDNA = ENGLAND; LNGEDNA <7 Letter
o0 Rearrange 3@ 0T (0T 1 2% 1 = ¥t = ENGLAND (936
Country I ) |
o4. 3 PAPER fitt SCTGW WRI¥, WMOTIIER oy Roa @ T2
% ORVLGW ¥ PQVIGT s, PQXJJT ¥. PQXKJV

RO g > S, OF '8 ¢ S T 0, 8, ¢ 411 I ST | e
P % o §i* #% S; TN M G o 4151 # P; {3 & 8¢ S 5R 41T WP | C:
A G ¥ R T C 5 N O GF 4 7 ™07 Q |

ob. A 9@ Z 48 I 1 (0% 26 1§ yrRrRiRIs AN F#90, LETTER=?
. 40 ¥, 56 . 80 ‘9. 100

el iEEm| L = 12, E= 5, T =20, T =20, E=5, R = 18 (¥t
SRS T W) G2 RGNS (et I @16 WG 12 + 5 + 20 + 20 +
5 + 18 = 80. qe=U% SOt *3rF T 80 & Letter marks 3#1 ZreT |
o». T HEATER fitt KBDQHO @RI v, COOLER fatyr fRessr ci=fe aimare
%. FLIRHO ¥, FRLIHO st. FLRIHO 9. ALRIHV




Jo.

M.

R

2,

38,

3.

Rfstata: [Q SUMMIT

T JJARIRIL] 5¥, ©F & ¢ W77 © Y15 AW WA | A H a7 0 1

A WA K =it I i coxf C g7 o 1™t A P F offant I | w141,
3, a#eﬁWommm|mﬁ-Emommm3m¢m
O G © 4o PR ooteer L theat T |

(W, U, S, Q et BTht THITIT 8, u, b e Yo M WY w1 D, F, H, J
et

If ENGLAND is written as 1234526 and FRANCE is written as
785291, then GREECE is written as 7

7. 392291 . 381191 %, 382292 ¥. 392191
B[ I55m] ENGLAND = 1234526

4R, E=1,N=2,G=3,L=4,A=5N=2,D =6; FRANCE = 785291
W, F=7,R=8,A=5N=2,C=9,E=1. GREECE = 381191
@R%. G=3,R=8,E=1,E=1,C=9,E=1

1" MACHINE fory 19-7-9-14-15-20-11 WRR ©@, DANGER finr sz
I T

F. 13-7-20-10-11-25 | ¥, 13-7-20-9-11-25
. 11-7-20-16-11-24 . . 10-7-20-13-11-24

ol S JSGIRT] @27, A =7, B =8, C = 9 qor 4RI Z = 32 a1

THR | GTey, MACHINE = 19-7-9-14-15-20-11 <3 DANGER = 10-7-
20-13-11-24

EGIK 3t WUSQ wRitr v, DFHJ fier fior R 32
¥. ECGI ¥, XVTR . BDFH 9. SQOM

il HERGE, G, 1, K 3ottt Teiar ¢, q, », 5y T S g | Wi

TR 8, u, v, >0 ST SR | THAR 7 HeF ow ¥ quw ¥, @y
WG Bt e (i o, ¢, 4, > SRYPEWE (X, V, T, R) |
%8, 1, T, T - R Y R oy
F. ¢ q.7 T q o
w* Qi) E(3mm) SRCH SR WP 0,8,¢,8,9 T G0 |
LA AR |
3., 9 - %, ¥ T3, 9 RS
" G TR R T R Wi e I | W
YHI- &, 1, B, R e ol v, 8 o, 1)

ZAs, Y4B, XCg, W3D, ——
+. V,E 3. VE; 1. E7V ¥. VE;

" C EERT RS ST ERGTT SOOI cdre ST Z, Y,
X, W. @ e et eiRFeia et A, B, C, D. & i G mUR
Order ¢ 3R | @ftres wRE 4 4Rt Sy 5, 6, 7 SRR 4, 3, 2 SRET YR
RIS Were 5, 4, 6,3, 7, 2 ...... CeRa 8% VE, |

9




o%,

.

Sb.

.

0.

Q3.

W 3. D A g 9N

RiEts [Q SUMMIT

LXF, MTJ, NPN, OLR, ?

3, PV <, PJW s, PHV . PIU
R |3 ikit) weret Term 47 & Letter 4% T ST TR | X S
BT Y% COTET X OF SRS 8 41 FICT AR | (- L« 3 et A M; X 97
g gt e T qRF 977 8 ot e J, TON O @R > o1 AT Py LG 8 4
oA H @ R @¥7 8 M AN V
AT (oI ST & =1 Q1P SEITT (| {0 ST ST
. Legacy 3. Legible si. Lenient 4. Length

|
mwwmm'ﬁfﬁw-m A1 OT I A ot
4 Legacy | SR oot — Legible — Length — Lenient 9% &g

I\
o 2t faeeter Reverse order 4 wde, Brot i T ST A S
for T Y B 1 e o @ f A

ol
X ﬂ]% Reafe Tt Reverse order @ &I - Z, Y', X, W,

V,U,T,S, R, Q, P, oO,N,M,L,K, J,L H, G FE,D,C, B, A. O g

ez sy oI @bﬂa@iﬁﬁﬁ%ﬁwﬁmN |

If in a certain language, COUNSEL is coded as BITIRAK, how is

GUIDANCE written in that code?
¥ FPHZZKAB <. HOHYBJBA . FOHYZJBB ¥. EOHYZKBB

el [ i) < word a7 REs IF (1, 3, 5, 7, one) ST letter
a7 528 letter GRTHG RIF (2, 4, 6, 8, -.....) SYTH letter 4F 528 (6,
5, 4, — %) 2ol letter Ax coded word 567 3 TR |

"Which letter in the alphabet is as far from G as T is from M?
%P TN 1. Q 9. R

MIN]O|[P[Q|R| S T | M@z 793 T
cE T[T X|L|M|N| GRENRITN
Look at the letter pattern and choose the correct opiion. JAK, KBL,

LCM, MDN, —
¥ NEO ¥ MEN s. PFQ 9. OEP

NEY o
v @) E[r

J |A |K JKLMN

K|B |L :

L|C|M wde ABCD E

M|D [N

NI|E |O KL MNO
2w S QTR | I 88 T NEO w7 3.

8




RfEe [Q SUMMIT

2. T, SRS = = 80, T Q6 TR = 83y R T 7% RO = €59 &7 T T8 < W T
F, 9 ¥, 3 . ¥

v (3] E(urm)
o

78 ¥ [ %e [ W
Qwrﬁsqs

8 o

" Q8 WA T = )

%. Ramjan, Tamanna, Faruque f7e1R G | 07 T00 LS ITwR g
T Foam Tame T

+.8 4. ¢ 1. 9. 9

e N

ol UIIGRT] R(2)mj(a)n =31 T(a)m(a)nn(a) = o 717 S T
I e A ) F(a)ruque =3 3% o & IF
8. !nmﬁ A, T '-msw a:cm

1. K 9. H
| @ i e

SR = 3 5 ew =33 A=) ; K=13)
€. nﬁeeeoaqmvoLumw O{ Bov Tt ¥y

<. ULON ¥4. MULE s, MLEU ¥. MEUL
¢ | v © o | 8 |y 8 | o | 9| QY
VI|O L U| M| E M|U|LI|E
RY. oueenl; G E, C, A 41717 | G WO 200 157 _
ki L 4 F 1. K 9 P
e .]E (ST0T) R R e g s S—
ORI} i 3o )
4. ¥ CUB =55%3 %@ LAB = ?
<. 84 ¥4.66 .38 9. 56
C=24 [L=15
: U=6 A=26
ol IR ¥ Z=1, Y=2, X=3 gy erg = B=25 B= -
mmmmmm
. I a=1, b=2, c=3 T¥, == 8514 x> It Aot sy
¥, Dcan '~’f Head ¥, Aunt ¥, Hear
mma~n 5=E,1=A,4=D

Wy, wﬁCAT--slzo WeE DOG=3T
. 4320 <. 3159 . 4157 ¥. 4335

v (] E (T [ R A ———
 |A=1,T=20)13120 e DOG(D=4, 0=15, G=7)= 4157
®o. TRAIN=98726 T © TARIN = % 7

¢




Riiaa IQ SUMMIT
. 97862 ¥. 97826 1. 97682 ¥. 69782

N~ JiEEi) T=9, R=8,A=7, I=2,N=6 .- TARIN = 97826 ]
e. T TALE=LATE & %3 CAFE
% FACE %. CAFE . EAFC 7. AEFC

R = |35 CAFE Tre et 36 o SRt I Wi o 74 37

1
ex. The fifth consonant from the begining of this sentence is the letter—
3.1 d.e T.a it

w ﬂ]E 2T TR TATE (¥, (T 2o 321 TATE & IFF ¢¥ consonant
I | ORI, ST letter ‘T’ T Y consonant , SRR ‘H’ T0T
consonant. SRR ‘e’ R¥*e’ T vowel. ST fifty F “f TR TRERT o7 ¢
g€ consonant FRT TR I T vowel, ST ¢ consonant T- ‘t* &M

Lk
0o, X T G (N0F 58 OF W T (17 T WHe (FI0?

ABCDEFGHIJKLMNOPQRSTUVWXYZ
3. U 1. F .S Y, (FMF0Z H

| Rt )[R e = O 7%’ STt 3T 57 X e W |

©8. Who is to the immediate left of L?
% Q 30 T K .M

R [REii) Immediate left ST 3% & 3 @10 o7 SHCe W17l
w1 L < 7€ Alphabetical order w33l ¥ ‘K. So, AT tew ‘K’ |

Rte darad A

01. SUMMER «¥ &s i RUNNER &, ©.7 WINTER G (ITG TI @O

[JU: B-Unit: 22-23: Set-F]
A. SUITER B. VIOUER C. SUFFER D. WALKER

B[RS UMMER=RUNNER T, WINTER &
%@ VIO UER. G5, S ¥ {07 9% W IO letter ‘R’ IR, U i
Rl MRFHRIFNICTRRE R s 3am | o1 Rew™
WINTER = VIOUER ¥ é% ¥&7 |
02. T A=y, Z= 5 R SUN=R4 T, B CAT=? [JU: B-Unit: 22-23: Set-D]
A. 67 B.49 C.59 D. 57

RO D[R xewfer afan 26 1 Ok, A=26 T @R Z=1 T AN
SUN=27 T%; R CAT = ¥® 57. @, & (¥ C &3 T I 24, A G

T 26 R T= @I 71 =R C =24 +26+7=57.
03. LOYAL <@ @S ¥ JOWAJ T, ®& FRONE 97 (F1C I @0? [JU: B-

Unit: 22-23: Set-G|
A. QRPNE B. ORNMG C.ERMNC = D.DRMNC

Y




Rizfites [Q SUMMIT

v ()] E (o)

P K J F E D
0 R | O R @23 | R
Y X W '™, [0 N M
A TRIA | A N aR T | N
1, K | E D C

04. I GROWTH @ & BMJROC 7@, o KGVXZN G 1% zar
[JU: D-Unit: 22-23: Set-P]

A.PLACES B. CRISES C. GLARED D. AROUND
ol AR @41t of Letter 4 437 ¢ | - B ™4 G 7 FY ¢ |
TSI FIGT PR ¢ 3 | HeAn Afe% & PLACES.

05. Fxwfer I YRRIRZSIE Sve WFET AW MiF doT T (DT (JU: D-Unit:

22-23: Set-T)
A.H B.S C.F D.J

Ll J E English Alphabet 26/ | ¥RRIRF o3 3oy 3f 2o R.
S R 9 IO Yor wrwald H

06. ‘DESENSITIZATION’ *It% I35 ITZ & 1 GRIREAR TLH I G
%0 28X I AW (JU: D-Unit: 22-23: Set-T]

A. DESTINATION B. NOTATION
C. INSTITUTION D. DETAIN

(ol C)ICIT DESENSITIZATION e 3 ‘U’ o1 ®X
INSTITUTION =+fb 0ot <1 SoRg 3T 9% "4ore ‘U’ X |

07. 3 KITE = 45 7¥, SRr, WILD=" [JU: D-Unit: 22-23: Set-I]
A2 B. 40 C.48 D. 29

o E (T Bl English letter 97 ‘T’ & letter 9T N7 §T7 QOIS

AR TR | @ : k= 11 993, I= 9wy af, T=20 oy 3, E=5 oy 3f | Jean
KITE = 21+9+25+5=45 'SR, WILD = 23+9+12+4=48.

08. I EXAMPLE 9% & LEHTWSL =¥, izt ZAYHALNF a7 &S
FRM? [JU: D-Unit: 22-23: Set.1]

A. STRATEGY <B. CAMPAIGN C. COMPOSED D. LEVERAGE
Ll A SEIRH| @4t EXAMPLE o oftere Letter @ #aadt
ST Letter & it zawe -LEHTWSL | cows-

E X A M P L E
7 7 7 7 4 7 7
L E H T W S L

R, TR RO STRATEGY <% 5% ©6% 03~ ZAYHALNF.

09. 3% MONDAY 9% e JLKAXYV 70, Sign WIZARD @7 RT6 QD T@?
[JU: D-Unit: 22-23: Set-M]

A. SFTXNU B. BFNXRU C.TFWXOA  D.RFUXMN




gtz IQ SUMMIT

R C)|4EIETL) axree @ letter Tl letter & 3ve) @=- J, L, K,
A X V letter ooz 23 4w o7 I zont WRT-M O N D A Y ;5 8% et
WIZARD ST TR TFWX 0 A

10. What comes next?
A,1A,111A,311 A, ? [JU: IBA Unit: 22-23: Set-I
A.31112A  B.13211 A C. 13211 B D. 31221 A

B AGTT e, 3 = A
A =10 A (1A) [y foremm]
oxaf = 1% 1, 16 A [ et
g€zt = 3 1, 1 A [ty oot
sexaf =17 3, 2/ 1, 1 A (13211A) [y foret]

11. ABC =36, ACID = 289 %, DEAF =397 [JU: D-Unit: 21-22]
A.78 B. 16 C. 256 D. 265

— e

RN C|EEE)] 9w, reat sie, ABC = 36

st i, A= 1, B=2 @R C = 3 [Reefer qofar >0 e 117 1 45
~1+2+43=6

L+, 6 TF 6 VAT ot T W, 36

wRR, ACID = 289

et E, A=1,C=3,1=9,D =4

n1+43+49+4=17

+ 177 17 ¥R/t o T307 &, 289

ez, DEAF = 256 T |

@, S e, D=4, E=5,A=1,F=6 . 4+5+1+6=16
L1616 Rtet | =256 ..DEAF =256

12. 7qee 7%ee VACATE @ AVACET frerzer, LITERATE <@ TF G 1A

AT [JU: D-Unit: 21-22)
A.ILETARTE B. ILETA'RET C.ILTEARET D.ILETRATE

Rl B |3 CIR)| et e e,
VIA[CTA]TI[E LII[T[E[RJA[TI|E
Alv]alc Ve, R

ElT I(LIE|[T|[A E|T
Q¥ AR YT AT TR | S (MG FHIFR Sre, SIRLAL
PO [WH |
13. T BROCCOLI @ @ ILOCCORB ¢t SPINACH 43 &S
HCANIPS T¥, ©13 RADAR % (316 J} TA? [CU: D-Unit: 21-22: Set-1]
A. SBEBS B. RADAR C.QZCZQ D. ARDRA
) B[ {E5i0) BROCCOLI = ®v%t @ fiet =@ ILOCCORB.
SPINACH w trh1 2 it HCANIPS. Wi RADAR & S0t 35t foreier
7@ RADAR.




B 1Q SUMMIT
14, ST @I *W{oa TN &9T? [CU: D-Unit: 21-22: Set-2] N
A. Utilization B. Utility C. Utilitanan D. Utihize

o ]E Dictionary<® @=md@ Compile ¥ T ™A LA<

Alphabet-a% RIARFST TeH TS *HRTET F91 A M | o1 o =5 55
Utilitarian.

15. 7@ STAR «% 1% TUBS 9x MOON & (318 NPPO @@ 1 9@ MALE @&
31S ¥ TA? [CU: D-Unit: 21-22: Set-2]

A. ELAM B. NBMF C.LZKD D. AMEL
e B[ HEIR| s =T M=N
T=U O=P
A=B o=P
R=S N=0
wxfe 7Sl Alphabet & 2 7% |
TR, M=N
A=B
L=M
E=F
.. %$F Bex NBMF

16. If arrangement of 12593 is to 35291 and 29684 is to 46982, therefore
72936 is to- [JU: B Unit: 20-21: Set-A]

A. 72936 B. 69237 C. 23769 D. 37692

[ (BIHERD) e e siot o w0 757 ffes P | a: 1, 2,
59,3=3,5,2,9,1

wefe, s MRS ax e, < RS of w1, on fBfed Ry 3w, 8 RfET s g
e &% TG e i IR o wE R IEm e I W 72936 3

=i ol e TE T 72936 = 69237 | AN 6% e W B.

17. If you rearrange the letters “CARACTTIN” you have the name of a:
[JU: B Unit: 20-21: Set-D]

A.Animal  B. Ocean C. City D. Country
S B)lHEIEI| CARACTTIN = ANTARCTICA TF; T <30 TR |
G, TEATER SEE T AT A TR |
18. Which two letters come next to the arrangement of the letters A Z B
Y D W G T? [JU: B Unit: 20-21: Set-E] .
A KP ___B.CL C.EF D.MO
AR @ e v i Tew firs qor s A e Z oy o
T G 1 T T 3t SO0 R (JTe oY STT R | (AR QNI QNI IO
A8 A Z; ST B IGTR 8 AW Y; S WF (orF C 8 1y ¥ X 51 Ifey
WA FATees FE 6B IR R yrriiReer ey qew quetg | aaw- W
e te D e ¢ 18 4% eF ot 87 Letter ‘W’ I00g | W, OY e

»

b~



RiHAH 1Q SUMMIT
N W ‘G’ ICTE aR oA o e cieee AT 3f T’ IR | 94 Ty
S O e TRt fiar wRr o ot ot an, S A L3
R, (T Q81T UF (AT 33 Letter ‘K’ «3r 00T i cdrpe 33
Letter ‘P’ ICTe 31 I Soriomicas wpmet 30y | o2 H3e S T A
19. ¥ Xl I BoVfer e onet 2w, STReT AEE (IF 53 O WwT
SR 97 WH0 ¥ &2 (3U: B Unit: 20-21- Set-E)

A.F B.W C.H D.V
w* ) E[TR) |
ABCDEFGHIJKLMNOPQRSTUVWXYZ

R q
eI R T B vz wife, Z TeTE ofe FE0T “O° T 3% SIS |
S 0’ (T3 SR S 9¥ 3 o1 @ ofer 7w (V7 | iR 3w Tew D.

20. “WYH F 7@ JE, LH, OL, SQ, . [JU: B Unit: 20-21: Set-GJ

AWV B. XY C.VW D. XW

Sl A IS BRI astor 2t o fir ffer 3t e o <t Tt | 9% WL RS
20 $3R GESI¥ ST | SIR TIIGT JTADT FATr o/8 IR AT | O 71 &0 ARFHE
BT [T AR || TFT FIW, 9, Letter iy @ «inder 3=t t@e 99
YRRIRFS! WIET ¢, 8, ©, 3, | BE IRIEE W= ST T S A1, o
Trick Ot @t =t «11f¥ | 777 3031, &t YRRIRE 6T ¢, 8, 9, R, 55 T O FACS
Letter et#i% 2= I07R RS IR ofegsr fMrasoTr G At ICI0R SITHE0T |
A- ey J, *w E | Oi% B5w ReE e g St AL ARy W C. 77|
&L WV G T 30T > G W’ 0T €V «F #itad I; R erig@ilit «ieenig)

IOt PR | O1R AT T T A
21. If MADRAS is NBESBT; the LAHORE will be ___ ? uyu: s van: 2021: 5011
A. NCIQTG B. MBUPSF C. NBIQSF D. MBIPSF
R D)[IEED| MADRAS =N B E S B T @ity @ «ft ot R «ffet
ITE W M % 7 N, A 9% 7 B....ouuene qS1T S 7 7 T RS =i Izice | &7
R LAHORE =M B I P S F T3 ifés S |
22. CREATURE *rfox 3ottt g3ge o9 G (0 5O A TRIP (0: P Usie: 20-21: etk
A.CREAME  B.REAL C. MATURE D. TRUE !
R D)J{GE =7 A (CREAME) @ ‘M’ wite bt ava Sl
‘CREATURE’ @ G% | 1% W A 37 | W7 B @ L WitR 31 &te} SwfRe =ios
@R 1547 C & M Wit @35t are BgfRe % ‘CREATURE’ 9 <% | R =5 D
@7 % ‘TRUE’ @7 are3ft 398 vy T@fRe %% ‘CREATURE’ @ Wit |
23. 3 DHAKA @7 3 g EIBLB izt SYLHET 9% (316 (F1H{6 2 [CU: D Unit:
20-21: Day-1; shift-1]
A.TZMIFU __ B.MZIITU __ C.ITTUZM __D. TMIUFZ
'l A )| DHAKA = EIBLB wéfe, ef weeaw +waq WS 307 |

D@a*RE He*R],A 97w B goid SYLHET = TZMIFU.
Yo




Rfits 1Q SUMMIT

24. 1% STAR @% & TUBS ax MOON @7 @1& NITO @, ereen MALE
% CF1E 3 TLA? [CU: D: 20-21; Day-2; Shift-1)

A. FMBN B. NBMF C. IZED D. AMEL
R B[IEE0] STAR = TUBS, MOON = NITO. > S 0 |
fiag | STAR=TUBSYS W WRT, THW @FHW WU, A RFIFT
*7 B, R 9% 9% 9% & S. &%, MOON = NITO 9 MALE = NBMF.
25. d:a::h? [CU: D Unit: 20-21: Day-2; shift-1)
A g B. f C.e D.i
RN C)[Hii) e, 2efer Tty Sevrens 4 ) ey 3 T
QAR | OF- ‘D’ @ ‘A’ a7 167 4 |
o, ‘H’ R 4 59 147 Letter &t ‘E? |
26. I BROCCOLI 9% @w ILOCCORB 4® SPINACH @ &
HCANIPS ¥, ST RADAR @& (3G A7 [CU: D Unit: 20-21: Day-2; set-1)
A. SBEBS B. RADAR C.QZCZQ D. ARDRA
8 BJIJEIE| BROCCOLI = ILOCCORB; =, SPINACH =
HCANIPS; 91T, *Isetaies SR cndt Toe | G} Retd RADAR & S
foritr ‘RADAR’ -XTJ |
27. ARBITRATION *%f67 et Tz I 064 (I =%(b 51677 <1 T2 [CU:
D Unit: 20-21: Day-2; set-1] ‘
A.NOTE B. IODIN C.BRITAIN  D.RELATION

WOT AT I et AN WA )
@, W A, T8 E @; o B. 1 D @ g s D. w L 3
Wit | S1% A% Tew weopt C.
I STUDENT &% J¢3S T 5894638 «dt TEACHER ¥ IS T
8627160, izt ERNEST 9% 513 9 TCA? [CU: D Unit: 20-21: Day-2; set-1]
A. 365806  B. 603658 C. 856360 D. 806365
il B )15 Eikiii| vrewt i,
STUDENT = 5894638
TEACHER = 8627160
SIEE, Wi I #ii%, ERNEST = 603658. 33, Sf3% Tex w7 B.
29. B;P3 R4Qs, HeR7, KgSo,——? («1R: Unit-D; Set-S; 19-20)
A NipTi3s  B.NyoTn C.MuUis D. MiogUni
Sl B )| EED] @2t ety B @+ % Letter 3w fior cete et 3t
@R P a7 o e ot 2f Reeny 3w ot X Kg @ @ LM 3T Nyo 8
So @& Ty Nyo T,
30. AGM S @ RS 7 (5:R: Unit-D; Set-3; 19-20)
AW B.S CY D.P

28.

b))




QiR IQ SUMMIT

'l CJIHEILIN) 2w oft v Letter escape Oi% S ¥ *i7 ¢t 3f 317 frieor,

Y&

31.

Three .clf the following four are alike on the basis of their position
inEnglish alphabet. Which is the one that does not belong to the
group? (wi: :03v-3», WAL: G (IBA), ot A)

A.WZT B. KNH C.RUQ D. DGA

Sl CIEERT| =P (A), (B), (D) & 5¥ w57 7 5% W7 @7 € WO
S (6T TR | 7T (C) (T 58 ¥ 077 @ qF 9 WO S (et TR | ™8
WWW'%B, Cs (D), E,Fs G!H11)Ja (K)'IL! M‘) N’ 0’ P’ Q’

R),S, T,U,V, W), X, Y, Z

32.

33.

3s.

36.

If YCVGT means WATER, then what does HKTG mean? (wfR: 205v-3»,
TFE: C, ob: A) .
A. GJSF B. IMVI C. FIRE D. AIRE
Sl CEERT y ¢ y ¢ -y £ I E &

L ]

; T

K T G=F I
I s 2 e ¢ R S
2 2w o

. If 1394 = ACID then 4516 =? (wifR: 203v-3», Tf: C, : F)

If A stands for 3, B for 4, C for 5 and so on, then what word oi 5
letters the following figures stand for? (wiR: sv-3», ¥¥f: C, &: B)

11,21, 14, 3,15
A.Salat B. Islam C. Irish D. None

.l B3GR A =3, B=4, C =5 81 91T ¥ |
e, 11=1, 21=S,14=L,3=A, 15=M .. Islam

A. DEAD B. DEAL C.DEAN D. DEAF
R D)[EE)] 1394 = ACID wife efSf s wrrpies siret, 4 =D,
5=F,1=A, 6=F - 4516 = DEAF

BEEF =2556 T@ EGG =? (3ft 5w R: 03v-3», T&RE: D, 1F: )
A.177 B. 566 C.977 D. 577

. D)JACEI| BEEF = 2556 7o, EGG = 577 wfe ey afarons @y
P AT TATE |
TRAIN = 98726 T %@ TARIN = ¥ TA? (3R 10 R: 205-33, TR c, O: 2)
A. 97862 B. 97826 C.97682 D. 69782

vw” B[] TI|!AIN =9?T726 TTRIN - 9”26

R
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37. 4ft PUSH 9% @& 1234 «@x ROUGH @# (#1 65274 T o SOUP @&
3G TLA? (57 -3, TRG: D, of: o; RFm)
A. 3521 B. 1253 C.

R AlcsgrusH -

312 D. 1352
ROUGH = 65274
I .

38. APPLE 97 &1 25563 @@t RUNG 9% 316 7148 T PURPLE @ 3T&
TE- (5 05v-3», XERD: D, CT: & 73M)
A. 176351 B. 763512 C. 173652 D. 517563

w""'_l_]jé LE =25563 T‘.UNG =T7143
1111 T

PURPLE =517563

AnRATIEH

39. If letters CAD stand for 314, BAD Stands for what number? (Cou:
2016-17)

A.318 B. 316 C.214 D. 212
R CldEEn cAp = 314 BAD = 214
Ll 31 Ll s34t

40. ‘Good’ T ‘Bad’ T owF ‘White’ &? [‘Good’ is to ‘bad’ as ‘white’ is to-
#R: 2013-10]

A. dark B. black C. grey D. ebony
Ol B)ldCRi| Good =Bad,  White =black

41. T “BIRTHDAY” & ua8cord ity &3t F=i T, o ‘BAD’ & &N
R &3 Fal JCIT? (ol 3088-32)

A.280  B.208 C. 852 D. 242
R ACRG BIRTHDAY = 2674 5081
L- f 1
BAD = 280

42. % ‘BANGLADESH’-T& J0¢>bo»oq Gl &3Pt 341 T, ©d ‘BENGAL’-
& TS U &M A0 U7 (wR: 33-d0)

A. 210653 B. 274610 C. 235106 D. 260154

PV}




gfate 1Q SUMMIT
v (@) E[@rm BANGLADESH =

09387

20516
fTT T
TMRELE - e

3. Three of the following four are alike in respect to their position in the
English alphabet and hence form a group. Which one does not belong
to that group? (ef: 03v-3», BRE: G (IBA), &F: C)

|

A. CFI B. UXA C.RUX D.SVZ
R B[S s A Cl Fll B. Ul X A
D.E GH D,E G;{q
CCR U X D.S V Z
S, T V,W OT,U WX
QI I TR )f6 < et TR |

4. Find out the sixth consonant in reverse order - from the word
‘EIECTRIFICATION’ (wifR: 303b-3», ZERL: B, ob: J, Feb: )

AL .G Gk D.R
R C)|SEiKil| ETECT RIFICATION
3 v
)

e #oF 3fe (Blood Relation)

{ Relztion Commenty Used Terms
Granatathers or Granamother' s only »on Father

lc ‘s o Grandmothers anly daughter-in-law Mamher
| Fathar's lathar o Mother's — [ Orandtather = ‘T
| Famers Mather or Molhers SEgE Grandmathe: i
rrm_h-:r_nu-uﬂ ey === Uncle PRNE.

i Fatrar'y wmier of Mothers Awarr

[ Son's wite o %0 | Daughmr-n-la= 'i
| Dawgiiers hustand . T T 7| Sea-inaw |
[Mncqﬂ-.u-_n'_ Sister-n-law |
|Wl0— wile's iother = | Brother-indaw 2 ']
Brotrers wie ) Scster-n-law i
" Brcbars o alern bon Nephew —
" Beothars o msters deughier P Niece = — )
[Uncie s or sunt's 390 or Gaughier e TR Cousin

Sineer s Mabane i ) ~ | Brome indaw

Sinlar-in-law
[ :
Girand Girmewd Dawug® e
| Greal Gran1 Son

| Brotars wite
{Mmswkuwnm
Crmnd aon's o grand dasghier s son

°8




»y -

fG. P is the mother of K; K is the sister of D; D is the father of J. How is

B 1Q SUMMIT

FEER T [ AT THOR G0 =g e RO Reaes |57 @2 Wt

PATERMAL SIDF RELATIONSHIPS

Father's Father Grendfgther
[T Father's Mother Grandmother
[ Father's Sister Aurt

Father's Drother Uncle

Chidren of Uncle Cousin
™ Children of Aunt Cousin
= wife of Uncle Aunt
" Husband of Aunt Undle

oo 5 & SIPIRIR AWt |
o] X 3 SR - - -Fg -7 - |
e © § WA SR -TRH-T1E ST FY |

o5 8 ¢ AT CRTT-TIH-SIRTA-SITH-STi |
efor] ¢ $ WA Ffe-ref |

T G Y qRT AR QT R T G L P T G| - R
T T 97 TNE ¥y

F.TUIOBID

LGRS

ST TR Oy e oifRqfae o swrs

4 ™M AT §T SRTeR A @ w4
[T

IST E e ovw o7 o T o
W ¥ g e ok Rfr =t e

T 1qUFE AR Frew sifdafe? sut
IFA |

TFG@EAGS T FIFINE

v EET

TOAAAT | ¥ 8 % T T G I GR T A GF 0 | O
Hfo% BT X, FIA- F- G AT R AN A7 TSRS WA |

X SR B e

arGlt‘iI

IG SRGF (TR ®RI6 IR SRR TI0E [ Th7
¥, sifeat

. SI% g, I

ol )| I e S5 et T iR e WA 3T | S o

(&0 SI%, SR IR 2 |

P related to J?
A. Aunt

B. Mother
C. Grandmother D. Data inadequate
' IWW P is the mother of K; K is the sister of D;

D is the father of J. S1¥ J is the nephew or niece of K and P is the
|grandmother of J.

9f. SR TR G TG SR TR (RIS SR, S

<. Sty

4. BI6T

o, ©ig g, ot

v ] R R P Eege e ey w——
S 3 IO T S I | SR S QI Celb St S uit |

/(.wnm ot SR (R | COTT S S i@ Ty

33‘1’@1

w"WT

RIS A . 0E (M6

e T i - s——
mqﬁmmw.

9e. wWw@mwﬁmm “&F (TR T =W SN oA

W'M{I ﬁmﬁﬁaﬂﬁw Y AT & s

. A

L

T, 1% Y. TEe oiga

bl'q
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ov.

od.

So.

N,

R

39,

giatds [Q SUMMIT

v B E[@ra) W OReT i Iy e Wiy Fre? | S o 0w
_ fare® | e wigaft zor wiRemfbw o

¢ W % G =TT TS STt X W@ A, B, C, D @R E | A a7 G
w1 CRAE @1 DM A G o% g B7rm A @7 it | B @7 3107 E @7

o ¥y
A. Brother B. father C. Uncle D. Father is Law

D )[dEii] C (@) @2 71 A @R E e @t | D 701 A 7 SR G C @
Tt | BT A @7 1l @3 C @7 3[T | B, C 7 IR/ GRE G0 49 |

M @1 N-47 5% SRz N 20 P g7 IR/1 M o P 1@ & 307 eI ta?
T I <. ©1} of, SIETeT, ©PITT 9. A4l

ot )| i) a4 MN 22 o2 | N 7 aeor P M S1eer P T S12eeT 3

R |
TR R A T & T 1 ST T T O RO | e TR % A

R
3. @™ o, Mol of, q. #fifers 1

1 JAGRm) >z St Sieeot | e SforRy wAieE W 0T S |
3 ST IR G U] T, ST SRR 141 S AT A (LT |
o w7 e A & iy

x| hSidhal f. @ 9. T
WWWWWWIWWW
MMWWW|MMWWGWWWMW|
e 3t orala @i |
wmﬁwmmwwmm,mw,w
T Vo | S S WA T B

o 4R o, o . foret
WWWWWUWWW,
m&ﬂmmmawwwmawvmmamwl

G T T FOK T S SR I AR e, “1 T T (ST

mmwr:ﬁmﬂmamﬂwﬁﬁw
7 @AW 4 o sf, A v, 1
mﬁmﬁm‘tawﬁmﬂ G I TSN
e T & ™A

‘p K’ wdie

P+K IR PWK R AP x K 31t P T K @@ =18 a3}

Pz K @@ 3 | e @b w2 A, B @@ 7
¥.A+P+B 9. A-P+A . A-P+B v . A+P-B

W T A + P — B TICT A T P 7 G R P I B aamaj

TAMAB FTY |

oY
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Bt 1Q SUMMIT

o T W QA0S WG A0, ~ 01 G NG (AT ST A G
st mhmf&'wuﬁﬁwi‘rwﬁzr

¥, A4 o1, BIBICE] ST 9. (21402 %
',a- zﬂuﬁﬁmﬂtwﬁtwmmuwmmwm
mwmmmmmmumtﬁmmﬁwmw

Rt e SR
01. %, @A T, SN, T IF AR €, T 9T T | F, ¥ GT-7 JU:D-Usit: 22-23: Set-T)
A. Wt B. @@ C. srear D, wfe

Pl OJFGERTD] =51, % ' %20 comeat % G 1 2T, 1 20 €
O G ‘¥ G TN | A T T COTAE AT | (UL ot ST W S @ X (I
TR T SR ‘% B 0 N COT S | =T B zre g e |
02. %, % O AW | ¥ G AT (AT | TR N G B, ¥ | T AN T
7o &7 (JU: D-Unit: 22-23: Set-M]

A% F9eE B.ss@@eny C#5@a@ D5 @@

G| 7o wEt, <= e o | Wi ¥ 2o cor q | W T e O
mmtwwmmﬁ mmmmwwwmmms
[STaEe % 6 B 3t ST T TS

03. There are six persons A, B, C, D, E and F. C is the sister of F. B is the
brother of E, s husband. D is the father of A and grandfather of F.

There are two fathers, three brothers and a mother in the group. How
is F related to E? [JU: IBA Unit: 22-23: Set-i]

A. Uncle B. Son C. Husband D. Daughter

_—_—_-E:i::ii eTes, F @9 @9z C. E (3B) 97 7l ©i% gt B. A @7
IR T D. G D 7@ F @3 wwt | eigge, 2 o et g (D,A); 3 % 1% g
|(A,B,F). 73 F, E <& c&te1 |

04. T, ¢ G OR T; ¥, T GF A T R 7, T 97 IRN ;' OW ¥ T GF A e
FEIS? [JU: B-Unit: 21-22)

A. S} B. sy C. @~ D. =g 7

ol D) EIKH| o e et e o, Fvecs w01 $R e S
QF %R W | T 0, T B G o gt O Q| ST T o

O IS SIE | WE e o G R | S, (SR SRR e 3 N Tt
T (o) Sifeut/sifefe |

05. .A, B s +4@ C,D @301 D, B 9330l C, A G 7 [CU: D-Unit: 21-22: Set-2)
A. +@ B. foret C. sify D. @t

Rl CI| R =07 i, A SITT =0t corats 3wt B 301 et cota 7 | C

T Zrel S e D W10 2t Comer T | S1Ree, C 9 e A O3 q-Sifa 57 |

°9




06.

07.

08.

09.

10.

11,

RiHta [Q SUMMIT
ATIB @, C A 97 °@, D ¥ A @7 01 | D @ B 7 W07 571 foy
[JU: B Unit: 20-21: Set-A]
A. BTSTCST ©1% B. WrarTet w13 C. FgIer o3 D. &S ©1%
AR @ e efret a0t Gz firce smeat, Sige 3 ©e7 oeut Gy,
WWWIWA,B C, D = fArem #ffJiae Aewe A FEA1 I 60 Iag
mmmrmwmﬁamm,Awmm B e Bf fAer |
WIE C XM (O BI6T TR W1 D X0AT (ST BI6R (e | SIReeT I1% Tk, B
() T D (51617 () 97 BIBITeT 1% W41t @1 |
MZEN FSR, PN 9@ +@, CTg M 93301 | C ¢ D gw# | P 9 D 7
T0g € {2 (JU: B Unit: 20-21: Set-D]
A. BBICST-SIREN B, wrt-Sify C. gg-sifeat D. f*et-a

RN AR M e N @@ ©i%, P 2t N % %% W, C 26 M a3
%t | 9feE C 8 D = ©IR | ©iRee, P s D =7 5i510st ©i @M |

AT B 9T 4@ | Bs C3zm# | DX¥ C g7 Wt | EZT D @3 301 | E qRA @7
TG & &2 [JU: B Unit: 20-21: Set-E]

A‘TE‘ B. 3T C. 7t D. wrat

Eiill] % e ey @t G e 10, OIReeT Se (3 4T 3R
WWIWA B, C, D & fAtew e A0t ST F8A1 20 | T
2T, A TS B &0 TSI 3131, C ZE (S 5161, D XA (T g G E
T (SR T | SR, G RO E RO A ST |

AGCEITI DIBRRTEWAGFERICHFD FATIE GRD

7 g 7 &7 [JU: B Unit: 20-21: Set-G)
A. SIR-®A B. s151-Sifest C. T-Sify D. FH-A1fS

™ | mm,Ammmanwmwmwm
& | 57 D e S fiver | W E Zet (O IRE Ok 1 Ok, E qR D« W0g

5151 SifdwR TR fopa |
= a7 0 ¥ @ A R TR o G, I AR Y 7 Aoy TaE ‘e’ 97 AR

‘R qEER| T GEEANY T GF & fF7 (JU: D Unit: Set-F; 20-21]
A. zara B. 4@y C. =niferet D. BTBItST G

B ) 7 ot (§) — () T (1) > () 7 G () — ()

ﬂ'ﬂ’(ﬁ)—) mwﬁ-n T F G Y |
‘', ‘¢ gz forer) o, ¥ GABIEl ‘o % (I SR T AR, o @ F

[JU: D Unit: Set-M; 20-21]
A. FIfs B. vt C. @A D. w1t

['!ﬁ"ﬂm o a7 et T | T @t s T G i

12. = ‘% 7 7@ | '€ @ R @F | T R T G IAN Y G T

Srou f&?2 [JU: D Unit: Set-C; 20-21]
A ‘Fazam 'y B @rvas® C.rvPFaEsw DF9 eI

o



T TR e W= e sl e

Rftates IQ SUMMIT

ol AR ¢, o, v @7 T T ¢ s R R | TR F A s
a7 o |
13. o IR g Freaw Fre e 3w wem, “Rf W IR  FEa F0R
" ¥R 27107 T (CU: D: 2021, Day-1, Shife-1]

AR B. @ C.w D. et

el A3 - et <rm e e A A @ WD
e TRAMT Fafa @)

14. At B @a'sR, C gt D @7 et qx B 2 D «F 4@ | A R C 7 Frzm
(CU: D: 20-21, Day-2, Shift-1]

A. @ B. forer C. 7fe D. Al

ol ClEERi| B ==z A, D @@ et C,D @z B | . AT C G
& |

15. AT B 99 G, C 7ot B @@ 711, D T C 3 Pt @ E 2o D @3 et |
A FISIT D &7 A 347 (CU: D: 20-21, Day-1, Set-1]
A. 31 B. firemz C. et D. et

‘TFW@T, A T Bf; Bz o ‘@, C At cemg
1 D A O AR GR E 9 TR T3 O A W | ST, A RS

2% S D ZET ot A, TSAR G RO B 2ot To TR A A/ATS, eam
SfeF e D | _

16. ¥ FFY e AR e 2 30 W0, “OR IR W IR G o |
‘e TfR@Moa 72 (CU: D: 20-21, set-2, Shift-3]

A.S1% B. %@ C. wmt D. 3m@1

v5*" 1) E (TR g g ————
T ST o R | i avr 1Rzt ew o

17. TR S @A ©1F, STRGOWPHS WA, MITR I/ ST T M € S
TG F HE? (1R Unit-B; Set-G; 19-20)

AIRM-TH  B.-am C. S-cege D®% - @
ol BT S e T, R @@ ww - §; P g care - S;RE@F/-M
S TRER FI®M, SR G @@ S WRS S T M. -

18. DT B 97 (w, CTARMETA O
G g S7oHE Fy (@n.R: Unit-B; Set-H; 19-20)

A. ifr el B. W-cezer C.¥¥tsmr D, eiwm

il O} B <@ i D, A @71 C, A @SR E, D a3 car C

wWEe E @39 C @ C & @ D W D € E & T0q 57orf sy |

19. AR C @731, D3W B @7 =01, E % ARSR RCYD FTAISKE o
D a3 T0g 74F A7 (@18: Unit-B; Set-L; 19-20)

A. SR B. vio1-sifset C. Trar-smy D. smr-=if$

AL

il

SR GRC, D REASED 8 E

b} ]




Rigids IQ SUMMIT

[ DJEEE C @3/ A; B @ & D, A SR E, D F A C, 9
A s CIAITF | B E 8 C @7 oy 7= o1o- Sifes |

20. Pointing to Surma in the photograph, Faria said, Her daughter’ g
father is son-in law of my mother.” How is Faria related to Surma?
(WR: Unit-F; Set-A; 19-20) - '

A. Mother B. Aunt
C. Sister D. Daughter in law

C.Sister ___
IS O[3EKi) Surma a7 &R TR T T e T U ST S W

&2 &% Faria ©F QR T |
21. Aginl introduced a boy as the son of the daughter of the father of her
uncle, The boy is the girl’s- (.R: Unit-F; Set-G; 19-20) £
‘A. Son B. Brother C. Brother-in law D. Cousin

= DT b R T e, Ty

¥ | 3% e e moa Cousin.
22. WWMImmﬁimmmmiwmn
o€ E7 (5R: Unit-D; Set-3; 19-20)
AR B. T _C. ¥R D. et
A [k = A T T T W P (VO S T R

SIS
23. X, Y @R, L, Y @& o, V.X &7 @,

13, Unit: C, Set:3)
A.X B.Y C.V

[ERAEEED] [x wer Y

Wit S @ WER

U, Z gxSiX. U G 516t (F7 (JU: 2012-
D. NONE

pm— 97 W Z,— eﬁﬁitU[

U RQAZ, IRAY, TV, 50X

24, VOTR IR VR GFIA QT G CNTH CST#? (JU: 2012-13, Unit:C, Set:3)
A. Sister B. Sister-in-law__C. Wife D. Daughter

ol wmmm-mﬁmimﬁﬂ= cormizr oy | AT
TR T = (O TT |
25. C is the father of A and B. A claim to be C’s son but B says, ‘I am not Ii
hisson’. What is the B’s relationship with C? (CoU: 2015-16, Unit-C)
A. Daughter B. Son C. Mother D. Nephew

| E (1) AGBMWC,WWWWNC «x +ar | ¥ B ’
WmCﬂﬂm,wmumeCaim; |
26. If P is the husband of Q and R is the mother of S and Q, how R is |

relatedto P? (CoU: 2015-16)
A. Mother B. Aunt C. Sister

0

D. Mother-in-law




e N T TS

RiER% 1Q SUMMIT
R D [EEn| Q @@ it P, Rz S «@x Q @F ™ | e T R, P«
4afS (Mother-in — law)

27. GBI COMR IR R R W | TSR CAA (SAR? (R s6-39, WY D)

A. niece . B. sister C. aunt D. sister-in-law

" N E(m) R COTE AR W WA o wife T o W

(ST SRR (0 | SR R corare ergfey/sifdfe |

28. A is B’s sister; C is B’s mother; D is C’s father; E is D’s mother. Then,
how is A related to D? (A Tt B 7 @1 | C T B @@ W11 D zoen C 93
I E Tt D GF 7S A G A D a3 5o ) (CoU: 2015-16, Unit-C)

A. Grandmother B. Grand daughter
C. Grandfather D. Daughter
B @ WHA
I/ D
oA, A G w W D, W A T D @3 Jef (Grand daughter)

29. A 9 (& B- ¥ e Ry 7@y C- @7, 9 @ D- 9% Ry 7one E- a7 1Y,
@ B- T ©} | D- 97 M A- 97 (@ 2 (5:R: 105-3v, TWHE-D) :
A @R B. oy C. *fer D. SI6ITS1-TAH

il BJ|3EIRH] A 9% =7 B; B @7 wife C. C 9% G D; D @ husband

E; B @¥ S E. w1fe B, E 7o A 9% +@; @y D 2ot E 9% wife; TRE D
T A GF AT |

7 et (Evaluation of Relationships)

0d. Which man is the tallest? When A is smaller than B.B is smaller than

| C.C is smaller than D. D is taller than E. :
: A A B.B C.C
D.D E. R
W




Qi IQ SUMMIT
X E]E T T D’ 0K K’ T T NI, ST TS R Ty
@, SRR AR D’ ¥ 50w 7w |
03, CIET WA GI A NS I WM, @ FCER et e TR v

e e SRRy T R
3. fret Y. @ o, wR A

R~ R e v it | <ot lter vt ey 7rice oo 20 I
oo, G a& TS 8 BT Y 7T Wi TSI RO 0 SSIPIR WA FOF 203

TIR | ST IOF (WD IO AT A
F.5 3. 30 53 .53

N )] o iRre 1R ¥, Ok o 7S e © o «aa R
o HRE T SSI FTT (NIG W | SIRE, CHIB Werer R Wi 3R F0a 33
& |
08, T T GHOWIG|'T T 7 BT (RIY | SR (A (FIA(G HOF?

7. T q® Y G I Y, 9 oW IS
S, ¥ 9 oW TG . (AR T

RN FEL = ¢ @ owIw aR T F 7 W @IS | WO, TGS

option (%) 6% 7, I ‘F* 8 ‘o’ *FFF I RV, ST S A 711 Option
(%) © 8T T '’ X G BT I HEF 7 | (S S W “oT - 6 ©I% | SRR

Hde Baw DL T
A, B, C, D, E- <% ¢ ® (1% & &t 9ot | A «F e et C R E G ;T

D T A G5 @ B I A @3 U | B @7 MR E o7 TE Ry

o&.

A. Brother B. Father C. Uncle _D. Father in law
N D)[HG E o f17 7t E o7 =od 79, OF THl SReT E 97 N
(Father in law) |

Rehana is one inch taller than Jamila, and two inches shorter than
Faria. Amina is one inch shorter than Jamila’s younger sister, and
one inch taller than jamila. Which of the girls is tallest among these

ol,

girls?
A. Rehana B. Jamiia’s younger sister
C. Faria D. Jamila

RN C I3 wt wifterts oo s &R wwt | R GRIAR T % e ¥1e |
oA TR R T © Bk wNT | W SR e w3 fe wiNr | wifie
BRI SRR oo 3 2R N | S[SAR Wk Qb @ Wi o { ¥fee w1

WS, SR QP et i
0q. (ORI ¢ B, (ST IR T WRT G (ST SFew > T I @ =R

R AT Ayt IS

/3.1!' . 9 3 .9 %
RN = )[R ¢ (51)+ 2 (RRT) + 5 (G @A REY) = b
)

S ——
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FEATICAR ?

7. forg e Ry ¥, 97 6 fig t.fgecy  W.fgeRy

ol G o v 7o, R v et fig |

ob. ¢ O IMF GIH ThIG ATSTAIATOR ST G | FI ST I Oy 11 ¥ &9
TACT PIRC Qe ey, ot ot (g 7o~y < R S0 (e <1 | oreeet
efRwfem auy g @ 1

T 3, e PR ] 9. TFT

Sl | e ot st = i P aEE> e |

So. XM LT 5w w1, Rg veid o1 @D, [ X (40F [0 39 FI0d 403

NI ST T SR Ny
. N q ﬁg o, ﬁg 9. 7
ol TR 2mrefig >amefiz |

3. et Prom corr v, et S (it G5, TR ST (4 (A (6 S
CATF IINT | ST CF FAUHTH WN1?
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39.-5 yearsago, Anderson was 10 years older than Rafsan . What is the
differenc. hetween their ages at present?
A.5 B. 10 C.15 D. 20
o E]]E lliij| Age difference of two persons will always remainr
‘ ' . 2qge ; Therefoe now the difference is 10 years.

J

R 7 e

4 61- “Who is the strongst boy? If-
i. E is Weaker thanp
iii. C is Weaker tha) E
iv. A is Weaker thanE [yu: B-unit: 22-23: Set-F)
A.D B.E. \ _— T D. A

e J SRR e, B>E>A>D > C. e srauswr =t zot B
R T & 7 C o

ii. D is Weaker than A

9
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04.

06.

07.
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Qi IQ SUMMIT
A, B-5 R GiRw 37w, “vf Wiy et g q@s A @ 17 B-az g
SE A~ ¥ Y [JU: B-Unit: 22-23: Set-D|
AA B. 37 C.smr D. =
e D[R] ==, A W commr w1 Wi B WG S | IR et
T T TR O R WO (HOTHR) R * A COTNI IR T80 oy,
SR A 8 B & TR T |
ASBRSR, CsDRAFNAREAD @FeR | ctFa@ B, C @

[JU: D-Unit: 22-23: Set-P]
A. oY _~ B. 11 C. foret D. 301

» EJE T I, A T (S RN GR B 2091 (S04 IR SR |

SR AR R QTR INEAIC s D | _
A TS (ST IRE &F; ‘D’ W IR WHT @I SIR |

G0 B T COISRS5T | S B« Hved CF G 376 Xl 515t Sifefer |

Ajay ranked sixteenth from the top and twenty-ninth from the
bottom among those who passed an examination. Six boys did not
participate in the competition and five failed in it. How many boys

were there in the class? [JU: IBA Unit: 22-23: Set-]
A.40 B. 44 C. 55 D. 50

RN OEERD] e, s At wtave = 16+29-1 = 44 =
. T5 T AT = 44+6+5 = 55 &

Five boys participated in a competition. Rohit was ranked higher

than Dinesh. Kamal’s rank was between Rohit and Vikas. Who was

ranked higher? [JU: IBA Unit: 22-23: Set-1]
A. Vikas B. Dinesh C. Sanjoy D. Kamal

R OCin)] <es, TR < e R > Aot « 3@ > P >
WIW;=|E|$MWW>W>W>W>WI

P, Q, R < S SW x| P, Q- «¥ oor¥ VY, R RAsw o T¥l, T S a7

*TBT | TR WO S BT (F7 [CU: D-Unit: 22-23: Set-1]

AP B.Q LR D.S

Rl C[fERa) P, Q, R, S v@ 3x 1P Q 678 WOOT e & TR

WIWRMS@MQ@WRW&P@W@'WP’
.

R, S ® T R T SR X007 | D,AWWC 5B

A, B S <101, AW C SOoreT #19T |
- lag) 28 (1401 ﬁi’AWWlWﬁTmmﬂﬁm (JU: B Unlt: 20-21: Set-Al
' D.D :

ﬁ B. B, C.C
N 3R]« wrew o Se e orTn SRS YIRS S
wwmmz@wwmm caﬁrwrvrmw
Wm@mm@ﬁaﬁﬁ%uﬁ:B>E> >D>C
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Bl 1Q SUMMIT
20 391 T, WX BHOR 37 OIH 727 Bez T@, A. I, (NS (WTBE T
wrmmmAmemlwqﬁatﬂWA

M, S T W, A, M (3G@ 7¥], R, A <% 0% 9], P 77418 40 o151 | T 2Rt
ST CHOH WY:TFT WA IS, O TYIS| ZITA (F QFTA? (JU: B : 20-21: Set-D)
B. S C.R D. A

Eﬂlﬁﬂ G2 G T TS (TR TR OF (W0F RIS
LI STSIF0e I W 7 | 9?4, P>R>A>M > S.
. A TOIS] YT IR | TSI 6% &g 5o D.

Z, M ™ 9% 3% R ™ 4181 | N, K w0 W1 &8 M 0 10T | 907 700

FACOWH ANT (F7? [JU: B Unit: 20-21: Set-E)
A.R B.Z C.M D.K

» ' ﬂmmmmwmmmmw

TR 6e BT @ T T | @F7: R>Z> M > N > K. &R W 79 I R.
R, S T TG Q6 58 T e 5 | T, WA G M@ 39 | M, T 99 o 39 77
R 93 50 ()% | & 54E[ 87 [JU: B Unit: 20-21: Set-G]

AT B.G C.S D.M

ELRL| T3 SPHTTS & ST fs of (79 90 BIRET AT (aRIesia
mﬁwﬁmmﬁﬁﬁﬂﬁmm1m §>R>M>T> G. oRET [ H
& =T G.

Who is the poorest? [JU: F Unit: 20-21: Set-F]

:l'.lu'l.

Shirley is poorer than Tony. Shirley is richer than Mark.
Tony is poorer than Henry. Henry is richer than Mark.
A. Shirley B. Tony C. Mark D. Henry

Sl ClIERI| e, wrifesis €7 e *ifies Chronology I

6% T&x “iveur AT | Wefe Henry > Tony > Shirley > Mark. wefe Henry
AT AW 4 G Mark ZeEm SR 539 |

B, A 9 W IO R C, B G A% | D, E @@ ww F¥ B C 97 oow
YTt | G SRTETH AMT? [JU: D Unit: Set-B; 20-21))

A.E B.C C.B D.A

S AJEERdE) B<A,B<C,E<D<B. . sRO@W B E |

7T S AP A TR O W (8 L7 TR S 797 | 2o e

mmmﬁﬁﬁm%fﬁwmwwm.wmﬂwmm
[CU: D : 20-21: set-2; Shift-2)

A B. ¥1% - C.H#f D. 34

Al BlSEIRID| o = Fredi s gt finr stview epr stes w9m
BT AT TR | ©IX, G 73T T2 Tod W 9ot YRIAIRTSIE & 37 i 6ot
@R T e Taw 0 1w 7@ | (O FAR < W < I < F < B <l
EAR ST Q@ TR (TR FR GIR TG I A9 TARE AT |
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14. Which is the longest? (w.fR: Unit-B; Set-G; 19-20)

Cis equal to E E is longer than D

A is longer than E -B is shorter than C

D is shorter than A

A C B.B C. A D.D

RSN C)ldEiEi0| E=C; D <E, E <A, B<C,A>D
~ D <E <A [ ~ A F001 7§

15. Who is the fastest? (w.R: Unit-B; Set-H; 19-20)

A is faster than C E is faster than C

B is faster than E A is slower than E

D is faster than B
A.D B.E C. A D.B

"' [AldEiEi] C<A,C<E,E<B,A<E,B<D~C<A<E<B<

L |

D we D is the fastest.
16. Which is the costliest? (wrfd: Unit-B; Set-L; 19-20)

D is cheaper than A C is cheaper than D

A is cheaper than B E is cheaper than B

C is cheaper than A '

A.C B.A C.B D.D

RO C i) o srrfert Rt e, 7o >&=eut w, B> A > D >
C Rk B>E e B 5{00 @ U |
17. Of the six cities- (arR: Unit-F; Set-G; 19-20)
A. Delhi is bigger than Bangalore

B. Kolkata is bigger than Hyderabad
C. Mumbai is not as big as Kolkata but is bigger than Bangalore

D. Bangalor is smaller than Hydrabad but bigger than Pune.
Which city is the smallest? (&1.%: Unit-F; Set-G; 19-20)

A. Bangalore B. Hyderabad _ C. Pune D. Mumbai
RN O] @i et st K > 1 >D>M>EB>P

STy (®i6 Pune.
18. If E is smaller than F, F is Bigger than G, J is smaller than E, H is
bigger than J, and G is equal to H, then which is the smallest? (=R

034-3v, TFAL: ¥) ;
A E B.J C.G D.H

RN B[R] o Srare et 3, Al T A @I J.
19. R is thinner than P.Q is heavier than S. S is heavier than T.P is

thinner than S. Who is the thinnest? (wf: sv-3», ¥8F0: C, &F: E)
A.P B.D C.R D.S

o JE R<P, Q> S, S> S>T, P <S - S0 Q& #rser R.

WY
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20. Anis is shorter than Babu, but taller than CamelliA. Doli is shorter
thanAnis but taller than CamelliA. Emon is shorter than Babu but

taller than Anis. Who is in the middle position in terms of height? (zfx:
Jode-38]

A. Anis B. Babu C. Camellia D. Doli

s’ ] mtw Babu > Anis > Camellia; Anis > Doli > Camellia.
Babu > Emon > Anis. Jo3R avy qRRIReST Sl TR SR Siee
Anis. WYY, Babu > Emon > Anis > Doli > Camellia.

21. IR, Bre ax oo T Rew e @7 o o, R A W a7 oo
C&J5 W G 7 5T TG TN RIS /7 [ty carcer : 2030-38]
A. An>Si>At>Su>To B.At>Su>An>To>Si
C. At>Su>To> An>Si. D. To>Su> At>Si>An

i ol BHEIRT| it > s > wmew > e > Brate | ey, s

W I WV e FRwsTw v 2w Frgye |

22. P is heavier than B. R is thinner than A. P is thinner that R. Who is
, the heaviest? (Cou: 2016-17)
| A.B B.P C.A D.R

'. Sl C)|IEEN] P> B, R <A, P <R womr @i st A,

23. Prw, W, W, 5w, |, Qe 9x o O BRI ITT IR [T IC7E QAT 8
aﬁwwmwﬂ-{wmmemwmﬁwwmmml
IR I ' TR TR & 30T SRy (ke Sv-33, TR C, oF: A)

A TFT B. {1 C. 37 D. =%

" )] (TR i e S pp~— | SR I q0TE YR
8 oo SR | TEIFTH S T W T 01 ey, =i = 1y |
- 24. 5 boys took part in a race. Shimul lying behind Murad touched the
; finishing line before Sumon. Maruf lying behind Suman touched the
finishing track before Ripon. Who stood first in the race? (wf¥: sv-3»)
A. Suman B. Shimul C. Murad D. Maruf

W>ﬁm>m>m5ﬁwm.wﬁ!m
wm;ﬁmmm;wmmamﬁmemmml

| . = |

AR AME, @A |

" 25. R is thinner than P.Q is heavier than S. S is heavier than T.P is
i thinner than S. Who is the thinnest? [JU: € Unit: 18-19: Set-E|
A.P B.D C.R D.S

:I | Rl C)I3ER0| R <P, Q>S,5>8>T,p<s e .

s 26.aﬁwﬁammmnwmﬁmmw:ﬁmmmm|ﬁmemm
AT wﬁmwm i fRosw @’WWWWW? [KU: C Unlt: 18-19: Set-A]

A, W0 [T 5T Ny B. wire 3R ooy wwr

jy C. et wretm wur AT D. 3fT Ry oowr

R4

-




R e b,
gitlisis [Q SUMMIT L
v* ) EErY =hT > B wie > Rt @t > B = @ IR faw
5T W e SR T R | |
27. Rahim is more emotional than Shihab. Sumi is more rational thanp

Rahim. Shihab is more rational than Sumi. Who is the most rational?

(COU: 2016-17)
A .Rahim  B. Shihab C. Sumi D. Rayed

el B)JEEi0Ri) Shihab is the most rational.

i
e il = o)

os. It is impossible for a sceptic to be a -?
A_ Philosopher _B. saint C. nihilist D. idealist

B JRiRy| Sceptic e 1% | «@ew W% wrftae (Philosopher),
nihilist mﬁvqﬁmﬁqﬁmﬁ-‘),mﬁ (idealist) TrS I | Reg 3y (saint)
[&& T '

0% Itis impessible to imagine a state without
A sovereignty B.a parliament _C. rule oflaw  D. None
A ) 2 ¥ state < o9 S €W w£Z TR SEEy

mver{ugl;tyﬂﬂ@ﬂmwmml

oo, — WHI AW |
v . LR o, AT g, =
v GEEN mmwﬁsﬁnwﬁmwmwwm
b <Ll B

8. It is impossible to imagine a contest without ——.
C. Opponent D. Spectator

A_ Umpire *B. Victory
N CJGRG. s, 7 (Spectator) oSt c¥t SR E aferT WYl
_

e ik L

W
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oY,
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obr,

od.

So.
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. I WO IRCTT AN F41 ¥, 75 25 o=
s, JTITA I ST 1 q, §EE T

R [AEn0] Clue 315 W5t 9o O 0% (1 9009 7T =0
WL |

TG U N &0 W -
=, YIRS QETT ¥, e ged 5. weraa zew W, ffFe »ew

‘m A WSt TTE €37 AT 9 22 S 7T | W TG et At
eI

3t A AT | SR O T RS | -
BT AAAETN, ST I, W TS 7 | W ARG 2 WHo=
fowte e TGN &0 T FeT ot 7wt @& <iee? ARIET @ FE
ST A — 97 RFTs ¥ &30 FWR |
3. oy . froere st ffsger . fgfeerer
I i) = s @R SARERe ST Ceed 1° afefae
B | SRR WA ARAETN | R T W @, AR @
ST | SeeRAD Freret 3t EREet 7 REFte 7% &3 TR |
It is impossible for a family

A. Not to have education B. Not to have a house
C. Not to have its members D. Not to have relatives

R OGRS s, forer, if wet «ffam st =41 3w, Reg 70 Ot
AR 167 39 WA |
Lighting % &7 @b SR STee?
A. thunder B. rain C. electncity D. Brightness

R ClHEE1| Electricity 31 fige @@ AfaF ¥ Lighting =
Lighting <% & electricity S0 &wae |
It is impossible for a teacher not to have
A. wealth B. knowledge  C. populanty D. follower

R D] e fres w0 Fifre 72 1 R =i s @e =i 1 oF
o '@ SHIEST e 4TS A, ey o1 g Follower (Frer) S0 4R |
It is impossible to produce a soap without ......

A.Protein  B.Fat ~ C. Milk D. Carbohydrate

—_————

Rl B )| Cik| Fat 3t 5% 38 soap ¥re «@ 1| @1, Fat T0% soap
TSR ey THW |

3, ——— WGl AT FEAT B A

F, (EWR 3. SioT . Cre ¥, O

R = | e, o Rt sibt ardie iz i, Rew O 1
YOS FLHZ, (I 7AT LS AT 1 | i SPRT |
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yo. WHE AT 0¥ T PR —
7, R Rufee 3. AT gfo st

of. SeXF =T &3 ., ST Tt
RO < [ "o ¥fow At @ it tafs effiret Seieent e A | if
wifirat seiRe ¥foT fte awifie gor < |

Rfs T SRR

A state is impossible without ___and train is without . (en.R: Unit-B;

Set-G; 19-20)
A. citizens, engines B. sovereignty, compartment

C. constitution, passengers D. railway, territory

01.

RO A)[FEE| iR (citizens) wot @ @3 B FEA! T WA 2

engines (2f8F) QST G A1 31 I A |

Library is impossible without ___and learn without . (9. Unit-B;

Set-H; 19-20)
A. book, reading

02.
B. librarian, guidance
D. building, books

C. reading space, teacher
RO [Fi] <% O R W 7, S A Wl e W

Writing a drama is impossible withouta ___and a cellphone without

. (wtR: Unit-B; Set-L; 19-20)
A. stage, battery B. performer, network

C. dramatist, sim card D. plot, connection

03.

RN D [ et R 31 <A Wt AOF Cf M R A AR GRS
S WG!St I A |

04. It is impossible for a family without- (&f: 2035-39)

A. house B. food C. education D. members
ARma)) T T e =R e A |
05. e CISIER *IUF STWT- (Wi 2039-5v, TEFAY: ¥)
A. #feasg Afoe @vy ot B. T3 H7ATE AGICHAT F4T
C. g zeu D. &13reh o7 FAT

R ] <o st efearR e v e i A |

06. SFe= O 70T THI- (W 3039-3v, TWHG: O
A. [ YT TAA TR 40 B. 5% 3w <=t

C.¥FF s D. JS3EAE o T
R A[HELT| e ot S wet FRETH AN FH0 AT T |

07. Trifae Teu PWI- (wilk: 2039-v, TS €

A. fors gt B. srrat ger  C. 3B QOT D. eF gret
_]E 08 1 <R T QW AR A |

Yo
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08. ARTiT *IUF 413 HT- f#f 2033-ye)
A. TFefite B. ©re C. D. atfere
o e e s e o e
BRI R0 30 | Ok oiwe R 3 &%

09. It is impossible to judge a person’s character without his- (efX: 305v-3»,
TERT: B, &%: G, fat: o)

A. voice B. deeds C. dress D. intelligence
Ll B)|HEIET) awerm famimot wret et from 2t w7 1

10. It is impossible for a fish to live without- (wnfa: R05v-3»,¥5f0: B, C10: A, Frab: ¢)
A. tail B. spawn C. scale D. fins

Ll D EIRD] = e <t et 25t ez

eIt (Possibilities) '

SRITST: (FF 9OAT Y01 AT AT 9O SREAAIE
SRIAST 0 |

__ S WO e
mmmw_m

YT GO FFERT 7 (o)
WWWGHIO)

O : O 8 &% 3

i. fo71®= (Clubs) Black &

ii. 7% (Hearts) Red v

iii. %#2%9 ( Diamond) Red ¢
iv. T (Spade) Black 4 .
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e e | @eTy | w30 FT 4
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to the Earth?
A_ Sondzy B. Mondzy C. Tuesday D. Wednesday

: TG Taere are 5 leap years in the mentioned duration. So|

hhyuhdﬁrﬁzkﬁma%n-ﬂ).

_Sohwanni:y—4=Tusdzy.
ye. How many days will there be from 26™ January, 1996 to 15= May,

1996 (both days included)?
A 102 B. 103 C.111 D. 120

T

Il CHE Number of days from 26-Jan-1996 to IS—\‘lay-1996I

(both days incladed) = 6(Jan) + 29(Feb) + 31(Mar) + 30(Apr) !

15(May) = 111. |
ok




g 1Q SUMMIT

et Aid

Arabic

Fnglish
Bangla

16 WREE Foitt St wredox frmd A9 weene S aEeee F
T A 2IEH IEF | IR AT 5 A 3R W o TS o) e, T
TFAGL W4 W% (/73 W 147 oo fitez 771 G of% ved Twz A <=
QT T TT R o Atz | =6 3re 3wz s v oo

T, EE W OIRR S TR (A v a7 W T 1 = 20 A — 28
T IEER TINY 38 T (X1 o) ForRE—a S0 T e R EE T — ¢be

G A

SIS (T I I B TS 8 R e R | T R @ o 25T S
oy TR =R @ e W€ T Leap year 3 | o Saw sfed o fae
e = |

A i3 A S35

T T (F) =91 (/0T Fnd XEEeR N udr s T, o3y SE R u2E

AR 29 T 42 e A T 3 | < 9T 69 (3n) vor e e
T TE

D en e IS R B K, mRE wrd e R
D N e VEE T S IG = obe T, R ) I = ees
o3. 757 & Tal® wika€ (Leap year) 2

<. 3900 ¥. oo ; 7. Rooo . J200

g :? 4O T0F TH ooo M SRIE | IR TSN (W 800
Atz P Reremee? vy sfiRt T3, s W=7
o 030 T 3 VI WFERI W1 SRR T OF < T X SN N TR
; %.Go . 1@ 1. e q] &
gl =BG e, Tew e el v,

mm%s—ﬂézﬂ%sm

[Ea % IR e o R IR R O | IR 3030 AOH » W SEAN e |
@ e R I RR | T R g sr Yy am s w1 #
T 3,7,5¢,33 6 I TR o RIIAH ||

°q




gitsa IQ SUMMIT

4R @A TR @A
{000 mgobhwmmwmw |

A Hise-
R = 3 WA = ; G = 0; TR = 8
TR =6 T RW=y; ST W=0|
wpn(A+B+C)+7
A=WM&QW;B=W@WWW@?W«H’EWW
7 s @ =eifRee @@ %0t et Lo fen C =W e @ IR AT T Q
IEF @6 TMA

Sia - o) PRI RS afeer £ 3 Rty
=, "= ¥, I . G q, T

o a] E qqf:q', A=Y ; B =28 (000, 008, o0V, 03%)
B, 2050 TR 7T TOGT FvETR R CTETT 43T T | 1030 (F'9 SEIR )
4

C = (3 + 3 + 9 + ) =01 q) 34 (O

e (A+B+C) +7 .

(34 +8+3%9) +1=2R9+19 a9
@Y

i ST S | AR (TS W A =3

weuR, fl e e >
Ty, fal 7 3@ fiar ot ST ¥, ot To e = | SheTE I @ T

' ﬁaﬁwwamoWWWﬂTmeﬁ R T AR,
© T CIRR, 8 T TR, b T JXE |
Note: «ﬂﬂrﬁ,cmwmﬁrmwmﬁ-fma IR 16 TSt | e

y @ T T €4, S it 1% @ T G e 2o o9 e | Tt zTeR C = (9
+ 23 +9) + db) = Yo QR i =S A, aFAfE=1s A7 (AT 0¥

sy Broiu), WMo i, db «qRfer orfE=by fiF | 1T QeTel CrT e C @37
T Y04 | '

LRI, 205 0 33 o & am feeme
¥, TN ¥, T o, TEE ¥, 94

RO~ JEEi) e, A=12; B=3 (2000, 2004, 2008)
c=(31+29+31+30+31+19)=171 7)) 186 (26
e (A+B+C)+7 14
(12+3+171)+7=186 +7 " 46
.'.wmm4mmmmmn 42

4

b




RiE® [Q SUMMIT

3300 (JTT ¥ AR CFw fArse AUy WPt #4903 2N
< I3 FSs- >

t"‘ll“ﬁﬁ:)Mzi,wzo.qq—qﬁes,w:aﬁﬁhﬂ:b,!ﬁ*ﬂ: o

SASRETY) S»db FTR Wiy ¥ 3 fepeme
(A+B+C) + 7 ' Q¥H, A = db;
= (Br+B+R) + 9 B =38;
=338 + 9 C=y;
7)124(17
7
54
49
5
S ST @, e A warar
BHLSRERY) 355 SR R0 i fr 3 figm
(A+B+C) =7 e, A =5y
= (34+90+33)) + 9 B =19
= (308+33)) = 9 C=3)
=90 + 9
7)230(32
21
20

14

6
- ST v | B1%, AR =1

Stroo (UTF Strdd AT Crtd e FRay SmeT 3w0e 3=

A FiS:-
=5, TAE =3, oF =0, 4 = 8, 3 = ¢, T = &, TFRR = o
LSRR Stvo SR S TME R 77w feeetny
(A+B+C) + 7 9, A =wo
= (90+9+48) = 9q B=1q
=3 +19 C=a8
7)111(15

7

41

35

6

S ST & (TIRR) |

R (Sroo-dbdd) R (Sdoo-dadd) G e W TS STeuT T (Ro0o0-
055) T S TR TG, CHE IRCE ¢ 39 7N | 3500 SR T ST

oy




- l

waas 1Q SUMMIT
K 3 U #Z O (FF 70T TR | Svoo T T CPITRE HK 5 Ty,
ST (I TTETA |

(v 7% (Day) Fovws ww2 @2 faucs %41 717 | @2 w1z {Day and Date (<

[P oA /1) | 0N SRR, A% toplc @F P B 42 FTox w11 K |

01. o wewrE o 7 o wfam an ao, armtere o R o2 Tz aE po s

Unit: 22-23: Set-P)
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&% 71 X S00 T 77 AR, *Radf T A S0 X T FAMGr AT A Yo =
TP 2T AT |
03. Manna went to the movies nine days ago. He goes to the movies only

on Thursday. Which day is today? (w.fa: Unit-F; Set-D; 19-20)
A. Saturday Saturda B. Sunday C. uncertain D. not given

9ﬂﬂwmmmqﬁwwwﬁmmﬁw
m-ﬁmu

04. The day after the day after tomorrow is four days before Mondﬂ
What day Is today? (wf Unit-F; Set-G; 19-20)

A. Monday B. Tuesday C. Wednesday D. Friday

P [iena) or e zo o sfi wom A i fE
FEEAR | % A 1M T RAR T I e G |

05. If the first day of the year (other than the leap year) was Friday, thes

which was the last day of that year? (CoU: 2015-16)
A. Wednesday  B. Thursday C. Friday D. Sunday
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7% | A oI T + S AT | v Ry At I PRI T A G TER
% i ST | ORI O T 1 A & TR 9T | AfE At wret et rREA
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06. As tomorrow s to yesterday, so Tuesday is to- (CoU: 2015-16)
A. Thursday B. Wednesday  C. Sunday D. Saturday

4l C|ACE0| Tomorrow = Yesterday
wd, ouf4% 31 A R 3 4R At - Tomorrow, Today Yesterday
Tuesday -+ Monday — Sunday
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}{ A clock losses 10 minutes each day. How many days will take to reach

o8,

T = H{.I= 1,094 9. o <F

v &) E[mm 1%@%%@@@@%3 3
mmsmﬂﬁamsw 3% S R AT wfenw 27 |

a point where the clock will indicate the correct time?

(a3 ¥ ofef= yo S0 &z von | F2fi = o A= 3w o)
%. 36 ¥, 72 1, 120 9. None of these

RO = (33 %91 = 33 X so i) = s b w<w =]
= Yo RRAHD B T voo ax o = B w1 o |

. The hour hand of an analog clock move 1/60* of the degree every

minute. Then how many degrees the hour hand will move in one
hour? (%% q=wrt ¥fex T/ 301 o D sfoo et 0 wemw = | y o
o 31 7T ol wfeww Fr)

%. 1 degree : %. 2 degree . 3 degree

9. 4 degree . 5 degree

T = G v > 51 = w0 G - 0421 60 x - = 1° wfomw =

The circular clock above shows a time of exactly 3:30. What is the

value of x in degree? (9% J&R ¥ 5% o-00 A Fwx oo | 2x @
)

Z. 60° %, 75° . 859 ¥ 90°
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RO+ JIIEa) MT (Mirror time) = 11 : 60 — RT (Real Time)

=11:60 — 8:40 = 3:20

7&.

T bO! (0T A b0 11 AT NIST F101 O FOI S Mo+ wiewFT I
TN ¥, 30T K3 IR ¥, o W

RO+ R iai)] R 310, T S0 2l NOTH R ST F0S 33
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How many degrees does a minute hand move in 20 minutes?
<. 20° . 120° . 60° ¥, 100° . 90°

RO < [HEim) o ffRa <Pt o ¥ @ 3 360° T |
zoﬂﬂ&m%ﬁwm% x 360°=120°)

obtr,

EECRSIITS 1 min = 6% 20 min = 6x20 = 120°

It is 20 minutes 30 seconds after 7 pm in a wall hanged analog clock

What will be the time reflecting in the mirror counting second also?
¥.4:29:20 ¥.4:40:30 5.4:39:30 9.4:29:30

- (F[BEia] Mirror reflected time=11:59 : 60 —7 : 20 : 30 =4
i3

|: 39 : 30; 39 minutes 30 seconds past 4 pm.
It is 2 pm in an analog table clock. What is the angle between the hour

0d.
& minute hand of the clock?
<. 40° ¥, 60° *f. 68° €. 90° i
RCN < ) Angle (£) =h x 30°=2 X 30° = 60°.
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09. How many degree are between the hands of clock at 2:40? (Ju: 20134,
Unit: D, Set:1)
A. 140 B. 145° . C. 150° D. 160°
T 60H-11M|° 60 60x2-11x0|" _
RO EEE o8 @m, = [T = [eoxE i
|-160]° = 160°
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10. How many degrees does a minute hand move in 20 minutes?(JU: 2015-
16, Unit: E, Set:1)

A. 90 degree B. 105 degree  C. 110 degree D. 120 degree

0 _: 0
m — 6DH;11H| - |60x0 21‘l:|¢20| — |_110|u =
110° .
11. 5 9951 R0 fAfAG { TR TS W7 (3t 7o R: 205v-50, BBAT: D, &F: 3)
A. f;w:-r B. }w-e-r C. g wet D.ZAsk
ol CIIFEIRI] > ¥%7 0 RS =vo+0=vo AT G T =3%vo=D30
vo L 3
E = QW{'T

Number Series (32t ffd%) o drfat it

«¥ Topic-q T FouwE AFR @ Rom Famrpe Je 9ws | @
e SRt SRR oy A 3© 7@, ot GE Fe T |

aliferes s Fifee 2@ oI | - 3,9,2,9,53,39,39, 55,39, 35,95 99

G SR ST 1 et (Y, Rt wet, ©pt) 33 Lo Fare And |
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TR U I ey 0off FA0 M | GOu- 30, X0, ©°, 8°A Y, b, 9, U8 |
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309, 399, 393, 3b3, 3B), 339, 589, 3Bd, I3, RV, 339, A, V0, LV», I8,

33, 389, U9, LB, VW, 93, 99, Y, S, IO, V09, VI, VIV, V3], VO3,

009, 081, 8d, BED, ©Eb, VYT, VI, VM, VI, Vb, ©HA, Bod, 8o, 8,

B33, 813, 809, Bok, 889, 885, 8¢9, BYY, BYY, BUY, BId, Bb9, bd, 8D
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T 84x13=8,37x13 = 6217, 56x22 = ?
A 36 B. 39 C.7 D. 11
8+4)-(1+3)=8;3+7)—(1+3)=62nd (5+¢)
~-(2+2)=7 |
Find out the missing number in the following series. 65536, 256, 16,—7
A2 B.4 C.6 D.8
Ok 65536 _ o 256 _ 116 _
ol B G50 65536, 252 = 256,22 = 16,22 = 4 jj
Which number replace the question mark ?
4
6 2
9 3 1
19 @ 7 2
A 12 B.6 C.9 D.8
A BT == for e & T AT IW A eH WR
RS M T | 6-4=2;9-6=3;19-9=10
3-2=1;10-3=7;7-1=6

Look at the letter pattern and choose the correct option. JAK, KBL,
LCM, MDN, —
A.NEO B. MEN C.PFQ D. OEP
JAK JKLMN
KBL e, AB C DE
LCM KLMNO
MDN
NEO S AT TR
Which number replaces the question mark?
2,9,30,93,282,?
A. 439 B, 555 C. 849 D. 373
v [¢EFET) |
2 9 30 93 282 849 |
1x1+1 2x3+3 | 9x3+3 | 30x3+3 | 93x3+3 | 282x3+43

ot 121, 225,361, 7

=, 441 %. 484 7. 529 9. 729

.oy
W JAsa] The numbers are 112, 152, 192, ....i.e. 112, (11 +ﬂ

12, (11 + 4 % 2%, ... Missing number = (11 +4 x 3)* = (23)? =529
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A2 B 16 -3 D. 4
¢ ¢ E
5 7 5

D. 10

O7B)-(677)=48-42~6;(5%8)—(5%6)=40-30=10

2,5,9,19,37,1
A B.75 C.79 D. 8]
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WAA-Im (e X A-3=D)
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L) B LA T 1,0 Y, 34

Al D welifore st wut | e eoT 1Y G Ty
s el | crcay il sl aaralas soltfre oty ffte Oy S WY ) |

STV 33, 39, >4 wrepn(E e wewt |

W, In the serlos : 7,8,9,7,6,5,3,4,8,2,2,7,9,9, 4, 5297476

which figures have equal frequency?
AVYS B.2,4,5 C.8,6,5 D.2,5,23
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y8. What is the next number in the series: 1, 1, 2, 3, 5, 8, 13, 21, .....7
Z.34 %31 1. 41 . 50
Ehm1+1=2;1+2=3;3+5=8;8+5=13
13+8=21;13+21=34
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°8 se
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34+(3+4) = 41, 41 + (4+1)=46; 46+(4+6) = 56; 56 +(5+6) 67; IT=TF

PUTEE ¢ | AN HE Tww 67 |

e BIELT) 0, 2, , o, .........

ACEGI q% ffarer *238 3f @A (JU: D-Unit: 22-23: Set-M]
A.L B.J C.K DM

R C[IGE) <% Prftwfbre s Letter 7 fiw =@ Letter 3070
avi- A,BCDEFGHIJK. em Bz se K |

evra Pfive wepifye el @ 339 o, 33, 03, 89.....[CU: D-Usit: 22-23: Set-1]
A. B4 B. e« C. v D. a4

Y0, 33, )8 W w1y wde a1 & I W T | AHA Yo+v= 3, I +30=0),
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W, a=0; ;AR T, d=¢-o=3; TRTH=0>
HSAM a+Hn ->) d = )

= o+ (n-3)I=30d = (n-d) =¥

=S Nn-3=3b/3=>n =+d=>n = Yo

AN, 7 S == (a+(n—3) d) = S = Co(S+ddxY)

= S = ¢o(¥4ddb) = S = ¢o x 08 s, S =50, 00
14. 3, ¢, Yo, dv, q, ©q, ¢o mmmmwﬁm-w A-Unit: 22-23: Set-3]
A v B. 914 C. D. ¢o

A AT a+e+d0+3rirut04o. ... 9% ARTS T G 21 31 |

wWEA MW B, e-3=9; do-¢=¢; d3-do=9; W-39=»; V-L=DY;
¢o—0a=>0 W51 I *Rr=fr 4 o w0y =R ey EfR SR SRt 9%

A | ST A9 AT v G #fRE 3 q T 7 #e grer | o1k e Afice
st G fl v et |

15. 3¢, R0, 39, Ob GF YK Yo Wb FSY [RU: A-Unit: 22-23: Set-3)
A. d3 B. C. ) D. ee
Pl O[] e, e 1 = se; el 1 = 20; T8 o = 3%; 8€ oW
=ob | OQYITH, W-DIC=¢; W -0 =19; 99-31=0> | A0 "7 YN
3 ¥ G AT |1, SoTH oW TR = dex |

16. et forsy = Ry @
2,6,12, 20,307 [JU: B-Unit: 21-22)

A. 40 B.42 C.44 D. 45
>




iNe [Q SUMMIT
QUIR, YRR 4, 6, 8, 10, 12 TSI QT T |
| (1) BR= w7 R, 30+12 = 42,
17. X five W= Rey Rt Ty
6, 13, 25, 51, 101? pu: B-Unit: 21-22) '
.;LLEB. 203 C. 202 D. 204
ol DIEEILT] <o v ey wef® wwe o | et 2 R o 3w |
G I, AT MM M AT | IR, R e 2 Wt oot ¥ 1 R
IO, G YT WU TN | TSR, TSI TN | TN
6x2+1=13
13x2-1=25
25x2+1=51
5x2-1=101
101x2+1=203
T AR Bew ¥ 203.
18. e e O R el <y
125, 80, 45, 207 [JU: B-Unit: 21-22]
A S B. 8 C. 10 D. 12
Rl A |G <% Pifitem segteriee ¢ Ao ot 30 IR *¢, S, », 8
T e, 8, ©, } W square 1 | yrt S @F o > TI ) WK > @ f Y
TR T AW T W ¢ T | IR ¢ F ¢ WH Sh IR TS T D |
19. ©a 08 ©) W........... YA @I R FI? (JU: C-Unit: 21-22)
A. 8 B. ¢ C.se D. ¢

R B[R] o 2 e et | @i @ffefE St ot ST TR ST © |

(T~ ©9-08=0; ©B-9Y=V; VY-J=0; Wr-E=" | TEAR A% TEH ¢ |
20. €IS YA @ AUl TR? [JU: D-Unit: 21-22]

8 b R
3 ) ?
» e 3
A. © B. 89 C.eo D. vo

B JCED| «vt sv e afdfire 8 camt 31 TR | (- 8 7 Y 8
R T G v | IR, b G AR 8 GO FAOT T 3R | (BHAASITE, 7 AT 33 G
X 33 COT A TATE ©3 AR 03 7 AT WA 33 (AT F40T TF 80 | LA T
T B.

21. faosw a9 o U ¥ (JU: D-Unit: 21-22)
5 % o
W B8Y =8
20 ? v
A. S B. 3 C. D. &




%\

w

24,

25.

27.

ghtsis 1Q SUMMIT

R AR e BRem toenw sx e on B3 amreR e TR
T | OE: ST AT, d+6=3Y | AR, A MRS, 3-+18=8¢ | ST, Fo™
@R A BT Y A T RETE T, So+v= v | TR AT T A.

- 3,9, 4, S0, 3¢, X3 YRIOH TIT * FS? [CU: D-Unit: 21-22: Set-1]

A.8e¢ B. ¢e C. % D. v

dmmﬂm%o.s.ma, q, &, », Y0 JIT I ATH

e | S, SoX Wit TR 8¢ + So = ee |

.5, %, @, 58, 8)Y, ... % Fifives =T if® ¥ (CU: D-Unit: 21-22: Set-1]
A B. ¢8 C. D. qe

R A G50 e, 9o st e Sy e AT TR 3, 9, 3, 39....
7 Arenfa ufS e R ofSreun © wRt o 0T R W | A= S
(T G AT T 35 W dx0 = 0; Tt RIS YT RGP ATATE TS I

e ¢ | SRTT 83 7 *RIE AR AT LA = 29x0="b> TR BI+3=3 |

3,9, 9, —— ), v, 89 YRIHT TgTE YT FS? (JU: D Unit: Set-M; 20-21]

A. > B. »8 C. N D. e

R AHELL i 2 7@ @oR | 37 9F QF 3 WF 9 IE U
G AT IFARI AR = 8; GIEHT MIFINT8 + =0

I NMYUFT TG + I =b; 8T b + = do, Yo+ = 3!

(@ R 3,9, 9, e 33,95, BOWHR Y +3=9,9+8=9, 9+ b=
39, 30 4 b =33, 3V + S0 =19, V) + S =89 |

W 35%5) = b, W*IB = So G 8Ly = WY T, T Lo*3¢ = FS? (JU: D
Unit: Set-C; 20-21]

A. 89 B. ov Cey* - D.a

w” ] E QRTT S AT 321 AT | Hd-33=br, Iy-3d = do, 8br-d=

oy, vo-3¢= b | BI% TET b |
26.

M » x 9 =0e8¢, 8 X © = 3¢0 T, BE Y X b =7 [JU: C Unit: Set-C: 20-21]
A.vo80 B. ¢o80 C. 8oto D. 8090

Sl DRI e, efSf s e ¢ et 331 T R S SR e
@ 0T T 0T ST (o1l QUATR, AT (1Y TR ST YT MY ¢ I 01T |
(OUF: » X 9 = 0¢8¢ TR (dxe) = 8¢, (Axe) =o¢
S % A 8¢, 9 G W ©¢, (IEY ATAA0! WO T CIIRY ¢ Wt T, 7 8¢
PAA| .. BX 9= 9¢8¢ | GA, 8x© = d&0 8 YITSE T | (8x¢) = R, (©
X@) = 3¢ .". 8x9=3¢0 | TSMSIF (Yx¢) = Vo, (rxe) = 8o .. YXbk = 8owo |
i ¢ x 4 =¢9¢, b X d = 808¢ TH, BT ¢ X I =7 [JU: C Unit: Set-E: 20-21]
A. a0 B. Y080 C. do3¢ D. @R T
ml &S T AN ¢ 6et T T |

(ex@) = ¢, (Ax¢) = 9¢ .\, ¢xXI=¢¢

ud




RifiE® IQ SUMMIT
- @€, (bxe) = 8o, (3xe) =8¢ .". bxd= 8o8¢
IS, (¢x¢) = 3¢, (Ix¢) =30 .. ex I = 3¢do (Ans.)

28. What comes next number: 10....22.....46....94...? [JU: C Unit: Set-E: 20-2))

A. 180 B. 190 C. 200 D. 120
Cil| <R Mot 3 WAt o 3 3 At F0T RIS IRUT Ty

(1032) 20+2=2z | TO(R, (22x2)= 44+2= 46, (46x2)= 92+2=94 |
. (94x2) = 188+2 =190 (Ans.)

AW IX O =1, 8 X ¢ =3¢ T, TR Y X b =P [JU: C Unit: Set-F: 20-21]

A. 38 B. 28 C. 83 D. 38V

RN AIEn)] =R weas e © of 3@ o1 T T (3%0)= &,

(Ox0)=¥; .. X0 =bd, (Bx0)=3R, (ex9) = d¢
S BXE= 3D, (Ux0)=3b, (rx0) = 38 ., Uxb = S8 (Ans.)

ARy x9=¥dy, 8 xa-w{ow VR Y X § =7 [JU: C Unit: Set-J: 20-21]

A. -{BQ& B. w38 C. »383 D. 8o

> ][ KL < s i 4 ot 31 T |

(ixa) =V, (OX8) = 3Y; " WO= IR

(8x8)=)Y, (¢x8)=x0; .". 8XC = Y0
(bx8) =38, (9x8) = ; .. b X 1 = 8 (Ans.)

Yy X @ =890, 8 X 0 = B T, B b X ¥ =1 UU: C Unit: Set-K: 20-21)

A.vBvy8 B. 8v8v C.u8 D. ¥»68
. 1 N
RN I < s e » o 1t T |

(brx¥) = BY, (€X¥) = 00; .. ' X ¢ = Bb00
(BxY) = 8, (OxY) = db; .. B X0 = B
(rxd) = 8br, (bx¥) = Bb; ., bXb = 8v¥8b(Ans.)

W » X 4 = 9300, 8 X © = V8 T, WX ¢ X b =1 [JU: C Unit: Set-L: 20-21]

A. 9880 = B. 8048 C. vo88 D. 8o
[ [B ][RR «fof s wrive v vt @ T

(x¥) = A3, (Ix¥) = ¢; .. DX = 92y

(BxY) = 0y, (OXV) = 38; .. 8 X = 08

(exv) = Bo, (¥x¥) = 48, .\, ¢xb = Bob8 (Ans.)
. WA e wey 172, 84, 40, 18, ... [JU: € Unit: Set-L: 20-21]
A. B.6 C.7 D. 8

OG0 <o e 2 ey Wit 30w i 4e® 3 WRAPT ¥ew oFaw

M 172+ 2 =86 -2 = 84
84 +2=42-2=40;40+2=20-2=18

18+42=9-2=7(Ans.)

w



34,

35.

36.

37.

39. e sl @ 73 e, v, do, 20, 2, 8o, ... | [CU:D:20-21, Set-1, Day-1]

RfHlids 1Q SUMMIT

What is the missing number? [JU: G Unit: 20-21: Set-A)

1 3 1
3 4 S
B. 4 C.7

A. > D.9

Ol CHEIRT)] 9, Bum fire wer 307 Wit (e« arers fBum
G- (5+5) & @M 3G 8 Bz R0 (-1-3) T & et e Rt ek
fuam o Aw st «ent ww | cm: 3% oy 545 = 10 9% (T NEAR TI
(-1-3) = 13 =fe 104 = 6 T | B ceafemm, oy Bum TF-3IW @t T W

4+9 =13 a3 ToR-fA5 REmT F07 7 -1-5= -6 G 13-6=7. JoAR A% T&w C.

Which number should come next in this series? - 25, 24, 22, 19, 15 pu:
G Unit: 20-21: Set-A]

A. 14 B.S5 - C.9 D. 10

Rl D | axie, warife sndar oo | s Pl w6

Tt 1, 2, 3,4, 5107 R 15 - 5 = 10 T 7319f 3% et |

0, 3], Y, }Y, Vo, 8o, .......... YR RS M F T2 (JU: D Unle: Set-F; 20-21)
A, ¢ B. 8 C.ax D. 8e

ol CJLEIRT) 57 o U T 2, @ I RGO TR 2 I

AGEII+A=8,8+3 =Y, 9+3=b,b +3=010, 30+ =25

YD TSI QAUFTE- 30 + 3 = 33, 33 + 8 = dY, D + & =Y, } + I = %0, Yo
+0=80,80+ 3y =a3|

e s @@ 3 ¢, v, b9, 0, I, 80, == | [CU: D: 20-21, Day-1, Shift-1]
A. 89 B. 84 C. 8» D. ¢

ST R T W F R A 0, G 9% @ G Fe Wt

ammmo\»a=emqumwmowmmwmnmae+§=q
T O YT AN 8 IR T | 9 + 3= » 0% € MY AN &7 MU
TIH | D + 3= D) T ¢N YR HH U6 YR YT | .-, v SRY[ At 9%
IO TIT QA 3D + 3= >0 | Y8 T 8o | ST 97 I A Bo+30=4 |

WIEFSIA (NTAT T ¢ ey ugte- e+o=v, v+e=3o, So+94=Y0,
RO+d=¥, Id+ID=80, Bo+d9 = ¢ |

. W et w3 Yo, 23, 03,89,

........ | |[CU:D:20-21, Day-2, Shift-1]
A. 89 B. eq C. v D. 94

ol B JARULITS] ft frfrer a1 wiata sreet vt | s oS cotrs a Ba

v, 3 B i ou B3 a0 So, o7 B i 8¢ B3 Ty 33 g 8€ B e o

O3 ™ wea 38 | O RO 80 @ MM 38 Mt Ty 3% Bew o ¢q |

A. 89 B. 849 C. 8» D. a9

Lo




ghitis IQ SUMMIT

ol D G v, «Rf ww cire wafby ey TeaRT X T cg
QR @b = 9; br-30 = @} Y9-30 = q; 30-I» = »; I-80 = 5D |
| MW T Bo-2e = S0 Wafe 2o |
40. ©: 90 : =8 : 888 1 ¢ :7 [CU:D:20-21, Set-1, Day-2]

A. aa B. eecee C.ee D. ecee

RS D J[HEE) e, eferenn wrafice s acw ot g% CTOTE | OR:- o
| THTE 00; 8 ALK 888; I ¢ (LA ecee | Joun 7w Sew D.

41. 5191 & @19 P [CUD:20-21, Set-1, Day-2]

A.Y B. o C.» D. 1

IS D )[R @i, <t fifbrersr st Rt | - 3, 3, © | WA 9, ¢, 41

IRy 10 Q¢ n o @A Bev

42, 3%, vy, BY, Y, 4y, »mm%mﬁww [CU:D:20-21, Set-1,
Day-2]
A oy B. s C. 8% D. »

R OGN st afd s cwrer s wizerefb sty e 30 2o |
Y 84 YT (4T AT YT *NFT TIT o | B QOTH 8¢ e &5

43, W it T I ©, 38, 33, By, I8, By~ | [CU:D:20-21, Set-1. Day-1]
A B. 2 C. 8¢ D. 8v

w E]]E QUIR, oS Fifirer T fwrm | el SR W R Y
AT ot TV (U TN T & MU IETY | (TR & @F e TR O, 33 ¥ feee
T 28 8 38 ¥ fed T 8y | WK, v wl wawd 38 o fed 5y, Sy &
fRod »y | Yoar Afdw Bew W >¥ YRR RO v |

44. Find out the missing chnracler (WM Unit-F, Set-A; 19-30)

D T 3 | 2 | o

7 3 "4 | 4 | ]

6 4 4 s | 22 |

9 o 5 s | ¥ |
A 34 B 42 C. 56 D. 58

RO R @, (4x2) — (5+3) = 0;(7x4) — (3+4)

= 21;(6x5) — (4+4) = 22 So(9x5) - (6+5) = 34 WX
45. Find out the missing character. ce® Usit F, SeiD, 19.38)

6 ' 3____1:__ 7]
36 64 . 9 |
24 48 T s |
12 24 } ? ]
A, 17 B.17.5 C.18 D. 1X.5

QUI 6, 8, 3, 7 & WU ow¥ MR 0T W W gy 242
=12,48+-2=24,35+2=17.5¥X

o8




46.

47.

48.

49.

S1.

Wt 1Q SUMMIT

Find out the missing charactér. o Unit-F; Set-G; 19-20)

10 11 15
12 12 8
4 12 10
10 5 13
18 20 ?
A. 20 B. 21 C.22 D. 23

- = 54
s 1[ 10 + 124+ 10+ 18 }+6

11+ 124124 5+20=60
= 15+8+10+13+x = 66 = x = 66- 46 .. x = 20

19,33,51,73 % *Radf Seam? (M Unit-D; Set-3; 19-20)
A.BS B. 121 C.99 D. 98

RN C)[AE]| i arw st e 14 vt O AR M (14-+4) oF
MU AW (14+48) 8¢ 1 Ao (14+12) M 3T ¢¥ Myt T 73+14+12 = 99
111, 223, 335, 447 < *RTE HAM? (5 Unit-D; Set-3; 19-20)

A. 557 B. 559 C. 558 D. 556

RO B[AEinin] @vre (11x1), 1 = 111 (11x4), 7 = 447; (11X2), 3 =
223; (11x 3), 5 = 335 @A (11x 5) =559 ¢ |

Which one is the wrong number of the series 2, 9, 28, 65, 126, 216,
3447 xR et Unit-F; 19-20)

A 216 B. 28 C. 65 D.2
R AERD) evw, 1P +1=2;2341=9:33+1=28, 4+
1=65:53+1=126;63+1=217; 7 +1 = 344,

e QUITH ofRTT T W T ) (O I AT | WG, B et 216.

. If the numbers from 6 to 84 which are divisible by 4 are arranged

from the largest to smallest, what would be the 8 number? @ « < Univ¥; 19-20)

A. 12 B. 60 C.32 D. 56

Ol D[R 6 cocw 87 «réw 4w Reter e sweonwo: 8, 12,16, 20,
24, 28, 32, 36, 40, 44, 48,52, 56, 60, 64, 68, 72,76, 80, 84. . T& (4= g
P wrece, 84, 80,76,72, 68, 64, 60, 56, 52, 48, 44, 40, 36, 32, 28, 24,
20, 16, 12, 8 .. vN SIQH WY, S6.

ll5+3=28,9-rl=HIU.2+1==13then5+4=—?m.¢u....m_m
A IR B 19 C.20 D. 21

el B 0L wwvare oo 51w we e o g o st

AWV (e | S 3 =2 qnS+3 =B Wegy, S4 =] qnS5+4 =9yl 19,

. " Ut 3y 121, 144, 169, - (wit 303457, WEE: )

A 196 B. 225 C. 256 D. 179

A O 112 = 121; 122 = 144,132 = 169;142 = 196.

auH &fefl e af = v




53.

5S.

57.

58.

giss [Q SUMMIT
ST ® T 2:4, 8:6, 16:7, 26:7.5,— cofts s0r00v, WAE: )

A368 B 38775 C.40:8.25 D. 42: 8.5
! —
|
+6 +8 +10 +12 .:
|
® + +0.5 +0.25 WJ

QUL ST &Y AR S QRTT ©,b, 50,5 AT FAT TLATE | G W
FR TURRT ,3,0.¢,0.3¢ (UM AT TATK | J

3:RE, bo, B, 07 (57 305w-33, TRT: D, Gt © Ram)
Ae B.v C.yo D. 3
ol )G S =S
125 80 < 0 s
p
45 o

QUTH, 3T o = 3¢; W AT = d3¢-8¢ = bro; OF A7 o = bro - V¢ = 9¢; 8¢
=B2-W=W; T H=0-¢=¢

84, 40, 18 7 (5R: 305v-3», TBRE: D, &F: &; 73M)
A.16 B.12 C:17 D.9

W E | 22
v (8] [T ) P
\_‘“’/ -11
U, 3T 7 = br8; T W = b'8 - 88 = Bo; ¥ W 7 = 80 - 33 = Sb; 84 M=

Ww-3=19

What is the next number in the series 1, 3, 5, 10, 15,..(ef:3v-» C, & C)
A. 17 B. 19 C. 20. D.21

w0 () A N m
1 N—
ol - s
4T, &% &l gR MY 2, 3, 4, 5, 6 I AT FAN TR |

oW V3 =3 qn V7 = 7@%&/6)2 -w (g R f: 20535, TFE: F, o %)
A 36 B. 12. D. 144

v DI T o e

January, March February, April, March, May ? oR: 253, X570 D, o)
A. February B. March C. April D. May

v* (O[Tt
>¥ w/a1 —January — February — March — April
3% 4’1 — March — April ->May J

-]



QiR 1Q SUMMIT

59. January, February, April, July, November, April,? (R 203v-30, W58, D, o o ween)
A. September B. October C. November D, December

m @] L | nm e w:
Janu bruar N April
k:"e oy Do o

60. 1, 2,3, 5; 8, l3s 215 34, — 'ﬂiﬂh WWW (3o 30 NP, B; oF A; Pretig)
A.ll B. 68 C. 40 D. 89

" JEIRI| o7 " =1+2=3; 8€ *t7=2+3=5 ; € "= 3+5=8; uv¥ "=
5+8=13; ¥ *W =8+13=21; v *M=13+21=34; »¥ #% =21+34=55
61. Which number replaces the questmn mark? (u: zms-n Unit: F)

AAA

_ (9-4)+7 12; (4 - 1)+1—4 - 2)+6 9

62. Which number replaces the question mark? (Ju: 2016-17, Unit: F)

B
)
A5 B.7 C.2 D.4

R AR 5+2=7;4+2=6:3+2=5

63. ﬂwmﬂﬁ P AT TEA? (wfa: obr-3», W8fAL: C, o: B)
8 | %
v [8 | v
Y |a|?
A. W B. %9 C. %0 D. )

V“g.m]é (-8) X TI=Y (+-8) Db x§=b3; y-@e)

= 3 WX =R N ST RYT RS 37 AN Rt + ©iee S et w1 @ |

64. wffRe 3% $rof &= ¥ : C,H,M ? W.,B. [Find the missing lettar: C, H,
M, 72, W, B- @f:3033-3¢]

A.S B. P C.Q D.R
ol D)JSEI)] € a7 o 4 s Gap fier H
. H ”m »n 4 " " " M
Mﬁ' M ” » 4 ” ” » R
R ” n 4 ”» ' n ” W
W ” ”4 1) » ” B
S G H M, R W, B,
vq



Q=% [Q SUMMIT
6. 7 wwmﬂrm-,& 1Y
A 25 B.27 C.28 D. 30

el CHELL == o vz wRE o= 7 8w o o

mwt=&!!!!f. |
-'l e’ g Q L] Ll g
66. Which one of the four choices makes the best comparison? LIVED is
to DEVIL as 6323 is to-? % ac3=-32]
A 2336 B. 6232 C. 3236 D. 3326

LIVED = DEVIL, wéx wszwn =1 &% o)
*LIVED’ = 8%6= czz »mm DEVIL @ 1 (23 6 3 2 3 = T0%1% o

32369
67. What is the missing letter? e azwn: 1238-2¢]
A_B B.C C.E D.G

G5l Vowel & (A, E, 1, 0, U) 2zt = I, O, A, U a7

m-gm E’.
68. Which letter comes next in the series of A,C, E, G, I — e azwr & 103241

AL B.F C.K D.N
Aﬂ*ﬁ;mm)(;apfmrc
C ” ’1} ” (D) »” ” E
E " n; ” (F') »” ” G
G » u) »” (H’ " " I
1 2] " >n (I) » b ) K
- A,CEG,LK
69. WA @ 0% A A Z C X E V—— (wesft: 20%-39)
A UB BGT C.DW D.EV
B CL 2 e s e ATR IR Z, 57 oF T T C
Ty o (T BTRTENA G (R (4% oA X , GRLENA -9 (4% ¢ E, T (F
- e wr WG, rA@E T T: AZCXEVGT

70. TrEe ML CTRICFETA SvET TR AW AT TR AT (FTAG? (# ww B
w50, TSR D o8 3)
A L B H cM D.N

fﬂi iR ]| o4 order Wi wde 2azfe 3famm viaRfZs o sy
| wx wwz o ' R’ | G4 R & qAfaE HUE TwE

ABCDEHGu 1[I[KILMINTOTP] O TR
1121 3] 4 5!"[7] 8|9 1213 14| 15 | 16 17 18
T 1 T _i*r'[wt » w!’w o | v | o | o | ax | ade
1 . L A J W B
71 ’\/ (:l \‘1\ 'IB (v m;van!ﬂna&'om
A KF B. RX C. TS D.SH

o




v

72.

T3

74.

Biid 1Q SUMMIT

R Ao R RTRETE A W 53 v, o
BovTe (0% 3T Z; ZRf nelRe wmriEer G (),
TRt 4z T (9%), 3 1efe sprisse M (yo2a)
BruTe (4% N (y92X), (3 Teifae vrrifezen S (33%7)
Broe 4wz H (33%9), (23 o3 WRiFen Y (53%9)

Soee &% B (:3¢%9) | - AZ, GT, MN, SH ,YB

57 e T IR R CT W, (RO a3 oW w e (1w BiT) |
o5 g e 7% Tl 1w #2: (4 72-73) [CU: B Unit: 17-18]
AZ CX, FU

A. IR B.IV C.MN D. JQ
w m]E Alphabets in order :
ABICIDJEJF[c[A]I [J KL [M
1 2 |3 4 5 6 |7 |8 |9 10 | 11 |12 | 13
N O|P |[OI/R|S |T|U|VI|IWIX|Y |Z
14 |15 |16 |17 |18 [ 19 |20 |21 |22 |23 |24 |25 |26
Alphabets in reverse order:
A|B|C|D |E |F|G|H|I |[JIKI|L |M
26 |25 |24 |23 |22 {21 |20 |19 |18 |17 ({16 |15 | 14
N P I1O|R|S [T |U |V IWIX |Y |Z |
13 (12 |11 |10 |9 8 |7 |6 |5 4 {3 |2 1
AXT B.RL C.JF D.PL
v DRSS = T, L.V, W] x
3 Letters
RL = LaMzNzoszS!R
. 5 Letters
JF = K @ J
3 Letters
PL ' = L, M,N, QP
. 3 Letters
RL A1 Fferme = Letter WWLeﬁerﬂGap ‘’RERL ‘S
& Gt Tfewy qar avR #fe Ter )|
Find the next number in the series: 3,6,4,9,5,12,6..(JU: 14-15, E, Set: 3)
A.7 B.9 ) C.12 D. 15
v* 1) (ST [ 4 p
C S "ﬁd\-._./'s’ 5\/‘2/_\6 N P
+3 +5 +7 i
QUIT, T T =0 ; WA = ST+ =& ; ST A=W -3 =8; s W=
T+ e=3;¢TM=84"M-8=¢; W M=cTA+A=33; WM =u¥
M-L=0;bvT9F =90 A7 +d = 3¢ |

Y




75.

BN 1Q SUMMIT

41, 45, 49, 55,—,69 FYH N YT PA? GU: 13-14, Unit: C, Set: 4)
A.59 B. 61 C. 63 D. 65

- +6
/'_-\ /_\‘
41 45 4
fp .- bss 6\. 2
~ +6 +8
QLT AT T = 83 ; M = 8348 = 8¢ ; OF W = I 7 + 8 = 8d; 8L o =

8240 = ¢ ; €T M =8¢ " + b = b) ; U T = CT Mt = LD | TOUT, S|
& TA |

76.

70, 71,76, —, 81, 86, 70, 91. VLT I YT FAA? (JU: 13-14, Unit:C6, Set: 1)
A 70 B. 71 C. 80 D. 96

“6". ] -E- +1 +4
70 71 = o o "\_}6/—‘\ n
il = =

AU, &¥T = Q0; T = ST AT+ 5 = 93; O #W = F "W + ¢ = Y; 8€ o7,
= ST T+ 8 = bo; ET AT+ > =bd; UF oW = @ M + ¢ = by; 9N 7 = u¥ o7,
+8=230; bT AT = T A7+ 5 = ») | WO, VY bro PF |

6,7,9,13, , ,69. (IU: 2012-13, Unit: E)
A 28, 35 B. 42,47 C.21,37 D. 37, 48
v (8 E[Tr0) 2 +8 2
J /t_\"‘s o 31;]\
6 u? ~__»13 b 69
+4 +6

+1
A, T T =& W =AM+ > = [OAM=F T+ I=23; 8¢ =% =

oF W + 8 = 0; €F 7 = 8€ o7 + b = 33; UF 4T = &F *W + db = 09; 9 *H|
= &F 7 + O = bb | WO, ST W, 9 FH |

2,3,5,6, 1w =TS AUl 7 (RU: 2013-14, Unit: D, (Non-commerce), set: 3)
A 22 B. 18 C.16 D. 12

- DI PR,
S 6 1 12
2 M W
S 5 S

GO, ST = 3 A =3+ 3 =9 W = T+ 3=¢; 8=
T+ 5=t ¢F W = 8€ AT+ ¢ = 53 UF W = &T 7 + > = > | WO,

YA X AN

79.

1, 8,27, ,125,216. (Ju:11-12, Unit: F)
A. 36 B. 45 C. 64 D. 99

el OHERD) s m=1*=1; =23 = 8; o 7 =33 = 27; 8¢
o =43 — 64; ¢% W =53 = 125 &¥ M =6> = 216; A, &S YT

W T QUK | ATGE, YA 08 FA |

90



Rt 1Q SUMMIT
80, ©, 8, 9, 33, 5b, B ..creneeee *RAET YT FEY (ot wewr R: 34-3v)
A 8o B. 84 C.eae D. %o
R BI[HEIED| <, 57 7 = o & o7 =o+8=a: oF o =8+9=33; 8¢
AF=9+3D=3b; EF MH= d+Db=3»; ¥ *F=0b+3d=81 |
81. 78 UM 37 81, 27,........,3,1. @R 203639, W G)

A.6 B.9 C. 12 D. 18
Wer=3*=81; WwM=3*=27;, A M=32=9;
g€ =31 = 3; ex =30 = 1| W=, 78 Yl 9. '

82. 30, 5, Y, R, Yo Y *RAIE! MY TS AP (wifk: 2036-39)

A. 9 B. ve C. 8o D. 8¢
 (EETND » Y
12 1 22 3 40
10‘\4’;} &*—6} 0\.'..10}

QYT 2T 1 = do; WA = 30 + 3 = 33; ST MT = 33 + 8 = dy; 8& * =30

+ & = 33; G 79 = 33 + b = Wo; UB AW = Vo + Y0 = 8o | WSUT, YR *RAS(
et 8o TH |

83. ©3, X¢, 55, 5O HAH I UMD TS TA? (wft: 203059)

A.>8 B. 1q C.>» D.®
[+ DR s Y
31\—/5/—-\1K_} 1 7
p $
G, TSI 7 (4T & FT JTATE |

84. @ UMD SFUET 70 77 3, 9, ¢, 9, 33, DO, R ’: so-34 TWEL: )
A B.o . C.¢e D. 1

» ]E ORI ©, ¢, 9, 33, >0 Ao Tyt FE » Al et =7
85. v8, 8o, St G *RAS! MY TS7 (3 7wem f: 203634 TWEG: )

A. Y B.a G0 D.»
w* B E(r) 2
i
84 40 K_,."
S~
+44 -11

QU &9 9 = b8; YW = b8 - 88 = Bo; T *H = 8o —Q&:l Sr; 8€ A =
3 - 3 = 9 | (O, *RRSf AT 9 A |

86. Fee e = et wor wiew | ot T

PRI AUACE: BU N/ Y I—— (FR o f: 20d0-39 XBFD: v)

A. ¢ B.y C.» D. @afe su

a3



87.

88.

89.

90.

91.

Rt IQ SUMMIT »
T e —
—3,%,9,8,¢4
—8,¢,9, 9,5 GV, » LT b T | B PTG,
¥, 30, 38, 3, 1, 98, Go, Wb, TN foreR Y FATH I WM TRy

-3, WER C, o%: A) -

w (g

A.R8 B. x» C. 20 D. Qv
v (1)) E (R0 O
i +8 +16
pe - +8 +16
WG, AN ofEe ey v F |

If 5X10 =25,7X8=28,9%6 =27, 12X 10 = 60, then 26 X4 =? (wfi: 10,
», T5: C, % B)
A. 104 B. 26 C25 D.52

Rl D [TEIRT| e e wift afow octwers S WAt St 3o T8 B oy
qR126X4=104+2 =52 :
If you think one number is wrong in the following series, what shoulg

that number be?
SOUQBVE8EEqV........ (wRR: odv-3d, ¥R C, @ib: €)

Al B.5

C.6 D. No number is wrong

R CIIERD| v, 7 et wiee 1 at e

—3,3,9,8,¢\
— v, 8,¢ ¢ 993, We FTEASTI |

I *1omR, SOYITT T Il A7 Wu:19-20:Unit:Cl

=, Iows, Xfre, 39, IRF ¥ WITHE, (e, WIows, WE_T
o, wﬁmw_t_ﬂmuﬁ g, Boire, s, T, TarT

§3% TTe | SISYIT e I () |

1, 4, 13, 40, 121? What number will be in the place of the question

i

mark in this series? (wf: 205533, BFHE: C, o: F)
A. 364 B. 360 C. 200 D. 148
w* I E +3° +3¢
. 1 4 m‘bdu/\ﬁzlu%*i
gt +33 +3°

+31
QU R AT = 3; AWM =D+ 0 =8; W4T = 8 + 93 =>0; 8 47 =0+
©° = 80; ¢F * = 80 + ©F = 53; UB 7 = 3D + 9 = VL8

W
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 hkis [Q SUMMIT
92. ©, S0, B, b, 39, Y, b3, 8, 89 .....? ST Y BHD TTCA? (ot mwwmr W 205050 '
T D, ol Q)
AR B. 8 C.e D. o
v Y] E (1) R 4 5 P
3 0 9 8 27 6 81 4 243

QI e T 1 ST © o<t 331 TEATR G oG Y 17 e { Rat 3=,
TR | WSUT, AN Y I |

e, i @ bRy R ()

Distance, Speed and Direction Related
Problems (@9, % ¢ iz Rewe o) a2 @
FAILTACS TS @ A& I IR T WEFE 79
3 AfER o @ fer et wear e fae g

_ ift
~ b
Toa-4f
North-West North-East
AfST-West “I‘f-Eas t
WAoo wiwe-o
South-West South-East
wifwer
South
[

Upward = %; Downward =S4z

a. wmﬁmmmmmmmwmmnwwmqﬂ
% e o=

S @ SR AW B WA R AT AN A S WA WS AT
T T WISITS Z(F |

WWWWWWWWW|
AT SEITA T WISICE FT WI#14 A AT |

e @1 57 Ao W 4T | SR @ @ 83 31 A1 ' s W |
feaTtae Saagl 2o WIS T S19ER S 4R |

=]

™o 0

R\

)



Y

_ Riia IQ SUMMIT
g P sy T HTeneT Wt SRR I QT |
b, >R QR REW @1 gRe 1 o IS SR arented WAl St S A IRy

T HR
L TR @ SR 33 UR e e wem S Rfaeie vty o @ W G wa

TR I

Jo OXCF ST T (A (T R T SR IR I GHOT GF SR S € GIRR
T R AT RIET T | R AW R 9 Ol ga e a3t R | cenfey
FXH MGF IR T € IMT FOT s *ReT 0 71 1 k. o 73 I ey R IR Iy
RO IR O TR TS 7 #fFeeq g7
SREOT I, © I O — { IWINW = 3 IR EH |
=R 5T fite e | o7 o 0 TeTR T © IW O € R IR AR
W | TR W A ey Be ¢ BT e
o) © 3% S € I @A WM S [ O FE A | 937 A5 SA T

ml EE'
(55
oy A o
wiwe

e (@ |WRE (T ANETS ARMOTETE 74

ST T2e 31 | om G =R

PRITTRTER 902, Sfoge = a9 + g
firsz frgaf® =% 2R, 71X © (767 WY, Wfegs ¢

ﬁﬁﬁmmﬁw:(@*:@:i:sn

©

I P
o

=27, YR » (T T, R, »° = 3 = — = 60,0

wbr, o7 50, ufemE 83 | TRV, AN I FF 3 W O T2 AT AR TR
¥ W TR O «F " 7 uege |

W3- 21 RE = 7=Y X e

Rk, 57 ¢ fe 3. #fere A varw B #da (e (315 3 WO R A A T

B & &7 @27 w0 ffm

o] =7 = 7% x ez

M=IAEC

@ s vy 2w o AQETe T WY |
48




Rfii|s 1Q SUMMIT
Direction & Distance Sense Test D

There are four cardinal (NP f4%) directions:

01. North-East (N-E)- $&3-+% | 03. South-East (S-E)- #fwd-+£ |

02. North-West (N-W)-8&-%f%57 | | 04. South-West (S-W)- w57 |

01

02.

03.

04.

0.

- At the time of sunrise if a man stands facing the cast, his shadow will be

towards west, TR 1w o wew S R 2o wiew, o@ vt fow firz
oL |

At the time of sunset the shadow of an object is always in the east. iz
RS R E AR E R Cillc R e i

If a man stands facing the North, at the time of sunrise his shadow will be
towards his left and at the time of sunset it will be towards his right. =
TR W GFE AT SHATIA T WS ST TR YA S AR SR G
ST TR O TGS 1SR |

At 12:00 noon, the rays of the sun are vertically downward hence there
will be no shadow. 7% > B s sjfafey wrgren= favsz firz < o2 @ s=w
WA Q0= AT ,

I T 33 R T T | o 53 e T o | o cdrw o R
I | TR S @ YT CIErE 3y F57

=z, bﬁs.ﬁ. e A +. » fef v ¢ f&fy
il < JIE0ET| AOB =¥ firws, 0AZ = OB? + AB® [AwmTTeH
T AR #APHT-3
C D
At (b) Tez (3)
A B

o i T v 3
M, OA? = 6 + 122 a1, OA? =36 + 144 31, OAZ = 180
31, OA =+/180 31, OA =13.42

o}, GFEH (MF 9FL [WE ¥ A ™= T = = 12 Ronfitw s Sex faez oy

TR O 4= 5 Frefaow 5% o@fies ot i T o ot A e e i wee
F 3R A e Rrfr 1 v B W, v RrRite
» According to figure above, 12 .
AC=122+52 AC A

=+/144 + 25=+/169=13 5
5,12 =331 13

C

co. G0 TN TS cﬂﬁmawﬁmmmmmmqmmﬁwmm

mmmwﬁwwmmﬁmmmwmﬁmmmﬁmn
THITE 208 T CIere @y 397

qe




o8,

Ry

gt [Q SUMMIT :
¥ ¥olOR N o0 FOR T, 530 O Y. »o OR
I ) o 3% = o0 + ¢o = vo fi¥m e 5
wo fibR . l
20 bR —]«ﬁm ffox | "
cofbm W it

R b ROTROR o e TR & e WO | §1 (M0 Y@ GF 1o [Rtifon
R TR TF farr worr | o1 7 1@ 61 3% Rt o TS v i
IETH WYH Ty 91

FefmBR  «ofmm@r v RemitE <. Yo fFoniEy
3 =[{C5m) AB=8,BC=3,DC=12,EC=8 7|
- DE = 4 f&ifbn wri, cwg BC =3 R,

CTxF AE =3 farwfadm)

oW direction, AD = VDEZ + AEZ

s AD= {_"'—-41+ 32 A Vﬁ.ﬁ. B

=16 + 9 = V25

- AD = 5 fsmfae | . oRR
o s LA c

S FARETE A IS I RS ¥¢7 WAooy 7wy 31 T v gfrfe
w3 wfer e wre e @ | :

. TR R SR R (3 WA | (W4 ST AT 8 WV ATRCA 16 | e

w1 w3 TEE GoR, TR 7w wR vEfite o | v W]

@ ey
=z o . oy v. 86z v, Afw

v 3 L[ wmq‘ﬁatﬁﬁmmmwmmﬁ;
€ v fare fen | wiaw 2o v e e o WA w1 face e | oAt

arar o fre¥ ey |
Two men starting at the same point, walk in opposite directions for!
meters, turn left and walk another 3 meters. What is the distas

between them?
s 9 < 10 "6 . None .-

g <GS Length=3£3=6m
wigar wifa, (Hypotenuse)* = (Length)” + (Breadth)®

vq. qaf &7 YO b0 A8 (ROTBM | Yoo FROR (BT QA6 ¥ I3y wMIAT

9%




- 7

otr.

So.

.

33

Rz IQ SUMMIT

Pl i) > % = soo fi. 3 W01 = wboo G, 0,000 . T = ovoo

3600 3600x100
. = Q= —=Y .
[ IR o 1 mnoﬁ. yoo fir, @

e e CIITST ST QU T S (3.0, 6 & R, | e 8L f3.fr sy
IW Y I WS I Ay A .
¥, Yo Y1 €, & 90T s, @ 90T q, » 901

@mw.w+mmm=w+»a=qaﬁ.ﬁ.
~ 8y R, mww=:_:w=;\m

TR e, I - TR (0 = 3y — b = R

- 8 R SPCS 7 P = = Wl = 8 W

. G5 W AP = 8 + 3 =& ¥

. Idrove North-cast for 5 miles and then I turned South-east and drove

another 5 miles, the again I turned South-west. In which direction
was I walking then?

A. Westwards B. South west ~ C. Eastwards D. Northwards

v ()] (ST -
5 mile '
West East 5 mile
TR

South

ST (4TF 3 YT TP WU, SIS W &fefv Feqs oy 1A 1
T. ¢ gl %, 8 YO LR 9. Y0

amﬂmﬂﬁcwwqﬂqmwmmqﬁﬁvw«

4TF TE T T | AN WA &fEfdv 3 3b i ot A |

oz G care (of iz o) ftfmoy men w=r 761 71| Bpwd 7 w3l
GRME CACE WP | Q¥ O ©IF Qred fde I o e witg g3 b et |
e fare woen werere™, e e fefasmen e ey

%, Bea o, wiwst o, offox v, 7§

v K3 (@) e i
g (o) ‘{ —» TETE (4fT)
e (Be)

TS (M@ HF YW (40F SO T4 U 5 29 4 N O [NEA | S¢ (A0 A
@& Tt qao qax o faf s «w o W 2w e o | W vo A o o
B v e | 0¥ O IY o W

s # | 4, fon ", B4 . e

11




gfatstsh IQ SUMMIT

o JE R e @ S o fare B ) mmﬁ;
F 5 A 8 A | @R o7 e RO e A, e
Wi vy gbee wpoen | =

e

do. ST it fire T8 3t Wvw Wit | o7 Wiwe i (T AT T et | orm
CT CTRET 0T R IR GBI WO | ¥ 7 1 e I 303 wiogy
T, B ¥, wfar of, 5y v, oF

ol )] wfe e 31w s oot a1 wwwr 7w o | @ v
3 B001 e T o AW | Wi i e ST YR T B |

38. TN AN NI O MG (NCF IF TH L (12, W% PICT Iee © 1, oroo
G e R For fRf o 3w w@ o RRL oo | Tl o 3

CFINT S FIET
¥, M ez o f fi, ord . I vz R o f, wiwes
. A e i, od . fRe oifere®

o EJE fef ety 3 R 6 © REfR. forwr ¢ R, ot | R R
TR RHR 1R F q | yean o e e wawre ww et |

RS vt SRS
01. = 3 fbr Bew fire 0w o I o & b oo | e B wew o iR
ROT #7 {TR SIA R © FOI &5 0T | T SR Y (M IR IEHT S

FE WAL [JU: B-Unit: 22-23: Set-D|
A. 3N B. s C. 8 D. v

«__E

& . .
+ : :
5w ‘ﬁcﬁﬂ

Wit

12

A

oA for et TR, A ™NTF E 97 @Y = 12+6 = 18 fibwr ]

02. ifiw awy Bew fire b .M, R o e 02 B . e ciew Bwmr i v R R
ofet | RT SR eNY SRYH (W@ O WA oTer ¥ R i oy gu: B
Unit: 22-23: Set-G]
A s faft B. ) f&fi. C. o f&fi. D. 8 & f3,

v




03.

04.

06.

Rtz 1Q SUMMIT

v (@] B 12m

D
"ﬁ“: n ”_I ? 'wlil ! 8km 8km
B C
AD? = AE? + DE? San 12lam
=162+122
=256+144 =400
AD =20 A

¢ TS0 o « e o wrfare y@ © .M. o | o IefAe o Wit )
.. Jor | si€erm 1w fae oo | o Tt wiE g@iEd @M (Ju: D-

Unit: 21-22]
A. W B. %&x C. & D. #fox

v
ﬁﬁm4—-I—~'ﬁ
e

AT I W' W, AT 7 Wit fre okt | Qo tF Clue 139 3991 793 @
2T BT F1F e qiat oo SRR | ST W A0S T O, it 9 Y
TFIR ST G G AT AT IR & e 20 grant v e | e e gran
wF e wiw i |

F, 4 G AT G ¥, of 97 Tera SRS | ¥, F 97 AT SRS 7o o (A ¥«
SR @ ftE? (JU: D-Unie: 21-22)

A. Tam B. vt C. #fst D. 7t

ot C K| % v et Sow 2w v s v B <ot coraia
0 PSS % SR FEA! 39 | WA @1, T T B ‘o e g, o
T T AR @ *%° T ST | Sreeer, B aoont STk 450 | gtz

mm|mwmmﬁmnmw(ﬁﬁﬁm;(ﬂmw
G AT SRy e |

.wm@mﬁwsomvamwm@rwmoommuw L ol

TFHITE RO O FTH 8¢ o TR I WL TNGHR BRI, | ¥, F G0 SO 17 71977
T2 (CU: D-Unit: 21-22: Set-2)

A. 8.5¢ W91 B. ©.q9¢ 991 C. 3.ve T D. v.35¢ 751
v (B3] £ (om)

8o R Y SO TS F 07 T O = 17 whT = 33,3¢ WY

SRR, @R VY ST S ¥ T O = 2 b = S W

TN, o, T G (32-35.3¢) = 9.9¢ T ﬂaﬂwx;c"ﬂmn

1 fabrr I 9= 519 vo AR T FERE TG AETT IR (CU:D-Unie: 21.22: Se02)
A. 9o o B. 880 it C. 20 b D. ye8o fabm

W@




w® [Q SUMMIT

Rl B IEN wrt wift, geree ot sat o g o ST I am
RAPR| YEM, Jo W @ PP WX IW = ([arxde) W =
(RX2.3836X 1% 30) TR = Bod.83 RO (21X) = 880 AW

07. TR Wt B wo fOR &D ST YR WG 8o 0w To0AT | IMam o Y 0z

OF ¥ VT SAYF I [CU: D-Unit: 21-22: Set-2]
A %o fBr B. 80 f®R” C. soo iR D. ¢o fioR

v ) E(Imn) =

‘ Tex
| = i
T, (WITW)* = 0ot + 8o} e v AT Vil
T, (ST = doo + Yoo 8o I
N v

T, (ST = (co) .. ulgm =¢o

08. Two stations P and Q are 110 km apart on a straight track. One train
starts from P at 7 AM and travels towards Q and 20 kmph. Another
train starts from Q and 8 AM and travels towards P at a speed of 25
kmph. At what time they meet? [JU: G Unit: 20-21: Set-G]

m—

A 11AM B.10.30AM _ C.10 AM D.9.30 AM

3 - 110-20 = £=360+90_
m - Wﬁﬁwww“ﬂ 8+ 20+25 8+ 45 45
=" =10%%

09. Two people were walking in opposite directions. Both of them walked
6 miles forward then turned right and walked 8 miles. What is the
distance between them now? [JU: F Unit: 20-21: Set-F] ‘

A. 14 miles B. 18 miles . C. 20 miles D. 25 miles

T OEEE0| <=2 v o en 1 coamr =t e 3o v Rl o
6 miles 0T | T T, (TR HE IF I I R RS e &6 6 miles
ST OTT | SRR TS OIS (XS % 8 miles FoTe | Q¥ 2 JLAT CSTHITAR &0
TR T TR Wy 0ol T &t e fRenR S TR 1o I | SR, SRU)
CTTR 6 miles AT T + (177 ITK 6 miles RIS FOT + ST TH 8 miles
T = 20 miles TP R T CTH T TH |
10. =% %2 502 Yoo RO GO ©F (3 @ ¢o I YOO g G317 I A
2 W31 ¢o FOR o | woeR I e T ¢o FROR OO I NI I
T3 T3 Yoo fOR OO | T W YH (N Wl (N e S_ygw W
{CU:D:20-21, Day-2, Shift-1]

A = B. =i C. ¥ D. «ifex

O B ) s s v I 3 | RO RO e (R R0
TR | W FE, 2% B BF Yoo . o WK, ©F ey W ofF e
et THT | SRR T fare ¥@ T $FR e o R o | R I fArE WA
sz fore W7 ¢o 3. T S IW T W T 00 . orw | e, = I
eur fBre W7 4% (TINR TIYH W ArE | TSR WA Wi fare sy |

vo




etttz 1Q SUMMIT

11. Wif¥sT Beg fite Qo0 B &W ©IF e Y& oo Ao Towwt | 9FR AN e
¢o R B WRE I e Y WA Soo RO Tt | WP Tt o Y 0 F
TS T TIYH FACR | [CU:D:20-21: Set-2 Day-2, Shift-1]

A. voo fiom B. x¢o fitm C. 8¢o fiBE D. 800 it

T s e frece w5 36T | SRR Ty TR (F ¥
CHTS AR | W I, B B e ofer Qo0 bR | WK, ©1F fATE YO WA
Bes e ofoT Yoo b | WRH, AW fice Y A Wit fitE ¢o fIBR OTTT TR
ST SR 3 T & I #(5% e So0 R ot | e et Tt ek
T R Y (U IS VTP WITE (7 QAT AT | 0y <+ e et doo fibRr @ 5w
TR T Yoo RBH AT AR | G, K Cres AT qaat 3T i (e [ Teuma
w0 I e 3% R (NS TR AH | ©iX b @Y T [o0-+¢o = ¢o R |
12. Some students are sitting in a row. In the row the position of Mohon
is 9t from one side and 14" from the other side. How many students
are there in the row? (xR e «f: Unit-F; 19-20) '
A.23 B. 21 C.24 D. 22

R D[R] sfice fredis sweai= (9+14)-1 = 22

13. A is West of B and B is North of C. D is South of A. Which direction
is D to C? (JU: 2013-14, Unit:E)

A. East B. North C. South D. West

c S34 (North)

| afba (West) *& (East)
A ¥ (South)

14, ¥ < @ A qx ‘¢ o @7 Terr 1T | W T qF Wi R T T (I ¥
G YR @F M (o e &: 03e-3s, 2RD: )

A. S B. afFet C. sfstg 55 2 ':['C#
v (@) E[Tr) e M_B N
o -
33 o7 K

15. FEF (1 TRMT do T2 QYE, G377 THME TET GR ¢ T2 YO, N

foff TRfvte Yo a3 52 T o | R @HFE O of: wose-ss, WER: Ry
oy, o)

A. & B. #ifex C. &1 D. wf#

B < T 1 | WA AT S W |
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A. 8 miles B. 5 miles C. 4 miles D. 6 miles

» B 1 " ;
AOAC T, OC =V0A? + AC? 4 i :
=V3T+4%2=425=5 Je |

% AOBD & OD = VOB? + BD?

=42 +32=v25=5 .. Tt 5 O TS ATSTEH HY S miles.

X 16 %A (U R R e Il o I 8 o e ST
mﬂamqmeﬁquﬁmwawwww e RaR

3, BFE: F, 6T %)
A. afoR B. )8 fibr@ C. so fiom= D. s fiow

N O[Tk AAOC %, OC =V04% + ACE = VaZ + 32
=v25+9=v25=5 O/L’,
4 ABOD T, OD = VOB? + BD? A 4 "
=VaT$37=125=5 CV .

-, S TRy CD = 0C+OC+OD
=5+5 =10 om0
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A. 10 B. 20 'C.30 D. 10v/2
« DiEN A =

AADE T, 5 - '
L] ‘F ﬁ |
AD =VAE? + DE? 5 E ‘
10
B

=V102+102=V100x2 c'5;
=10V2 &R

A car travels from Al’s house 10 miles south to Bari’s house mﬁ

6miles east. What is the distance from Al’s house to Brad’s hou!
(JU: 201617, Unit: E) . :

A.2V34 B. 2v17 C.4 D.8
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v Y| E(o) Baris’ House ¢ —%_ 3
ﬂlo . «—’—m
A T

Al’s House
AABC 75, AC=VABZ? + BC?=102? + 62=J136 = V4 X 34= 234

21. A person travels 12 km due north, then 15 km due east, after that 15
km due west and then 15 km due south. How far is she from the
starting point? (Cou: 2016-17)

A. 6 km B. 10 km C.3 km D: 60 km

v (9] E[rm) 3 fi¥
T
12
15 ew

22. City B is 5 miles east of City A. City C is ten miles southea:. of city B.

Which of the following is the closest distance from City A to City C?
(JU: 2014-15, Unit: E, Set: 1)

A. 15 miles B. 12 miles C. 13 miles D. 14 miles
Cy KR
10 2 + —|—-ﬂm
B 3 % v
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Analytical Puzzle 31 Logic Puzzle <% &6 77 G3F & (17 @6 Situation
@ describe #@ Wy faty | WR @ Situation 9F I Ff¥FE fFg wad task
fffeg =€ T 47 TS T | (ANA- IS AT, (1 G0 o2t ez Player IR
F41% ¥), EWIEE I (AT serial maintain I (F T I I group meeting
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Analytical ability-1 %4 f&fa s wwia vav o2 @re 1@ | oo fare a2 moe
A A Al O ¢, e it ee® o task orem @ 01 TR basic types-
01. Sequencing or scheduling puzzles;
02. Group or distribution puzzles;
03. Linking or networking puzzles;
04. Map puzzles.

feru far@iga, wnvenora «ffasf Understanding % o=y @& o127 44074 logic

puzzles a7 el wiears fics crem zet |

01. Sequencing or scheduling puzzles

QAT et frmdiar cr qacTa At YA o Ol g~ qaF 0T AT,

1 TA tour 41 trip @ ofter ffes emrti/place @ @HbTS SO QT ZCA WA
@1Abte “ta curs o |

7t G Viva Board-# So-¢ @ candidate @7 schedule 5% @t Zenfa
RN 9% M0 v St e €A column ww fre #ifa ae are srgre
Sl aa condition YT SUNGTAT YATE ARCAT a3 AP TGa (49 AR O EAE
condition/=& 44r@ &4 A |

02, Group or distribution puzzles

«Br WG 3 YA | Q9T - — aa@E Members @1 Items ete-3 747 (4t fafqe
AR Members 41 Items cate fiar @af group %9+ @a0s 2 |

— I Members a1 Items @@ 4ft At f&H group-« S 40s 23 |
#&$en- group Al Distribution puzzles- orws sommE g Implied
wefife® meaning I | 1 TS A ATer Asw Taa oieur 7§ 1 |

03, Linking or networking puzzles

Link 3l network @2 *#et#Ts TCT @3 3 T @, 9% 4909 puzzle-97 oF TS
@fo smri [fSH point s 0wy @A fFg < w94t 930 communication
system-3 O QiAo g S af[ 31 @ QUFE Wi oo @R
link #TAtR @7 A1t A4 (4t chronology 3t Y191 maintain 3@ Hféw
e (@9 91 74 | F49W ¢ Sequencing puzzle-Z system & follow 2% |

04. Map puzzles

‘Map’ *%fl 39 A% TS ST T T AT THoT = 7w el
THBE AT Ao | WA AR may be T @ ffedi wfba finy s Frera
analytical ability test o3 23 | ferw Rt asat, map puzzle ##re wwar =
SRR AN a¥=0 F6 WS 1A | @ A puzzle-7 problem @ TgaT Ture!
@30 round table 4T rectangular table- @3 SR (& @1 GUER INEQ O (@4
TACS TS AT | @2 @ puzzle-99 problem ot FETER Qwf @
descriptive 1 IARFET Z0 A & WH RAfE JHT0 9IRS T ST map
puzzle-93 e TEwEw & @ F practice 41 Bf6© |

b9
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0. 1 SITATGA, 03, *1é 7t fFRrstafdy, oo, &t | idfre, oy wrzerse «ﬂﬂlf-’rmh\
3 eeria Suy TS 4T | % W eneter SIETETF T i)y
Passage WcsmmimmmWWQmﬁfwmﬂq
et e T | W oF wrdty e ma&fﬂmmﬁ;mqq
THGY 91T | WA GOt HSFSITT FATE AT $&7 Cant 4% >1zer &y |
Which one of the following must be true? ;
Which one of the following could be true?

el must be AR BGmOTTR W G0 WPUE JAE W1 Could be Wil
QI | SRR WA

All of the following statements could be true EXCEPT

All of the following statements could not be true EXCEPT

&t Could be true EXCEPT ¥agre <<67#1 331T® 213 Option ety T g
e S s ol f oy 1 17 2 firt 31 AOR T W Could not bey
EXCEPT dre7#1 $3t6 03 «3fb 3787 & i1 Fwrer! Rt wive | o drow
QA Ban |

9% WO A motto AT SrRE Tomg G vl
A syl oot wehy Frrare ot 5% 74
TaeTe SIS JATTATY e Bww five o
fevreafe ¢ v wfEwet wer wfior g S m
i

Wy exatel @ieem English-9 o0 9@ g
wMA mother language Xt =1, wif s
conditions 1 clues g wé e GTOE ¥ T @ fFOR logic PNR M
¥ GIOTR eet it | IR, fg expressions TS ceut gt - (1) Precedny
/ before : Wo/sed;  (II)In succession : %4 ;

(IIT) Empty positions ~—-- between ; (IV) Next to : #I1e<t (e 70) ;

(V) Sometime before : wIot @ w5y ; (VI) The 27/3™ after ;

(VII) Immediately preceding/Immediately before: fé@ wor etc.

¥ Read the following paragraph to answer question from (o3- oY)
Five cities all got more rain than usual this year. The 5 cities are : i
L, city M, city N, city O and city P. The cities are located in fir
different areas of the country: the mountains, the forest, the coat
the desert and in a valley . The rainfall amounts were : 12 inches,
inches, 32 inches, 44 inches and 65 inches. The city in desert gottht
least rain; the city in the forest got the most rain. City L got mor
rain than city O. City M got more rain than city P, but less rain ths
city N. city O got 44 inches of rain. The city in the mountain got ¥
lm:hes of rain; the city on the coast got 27 inches of rain.

b
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Which city is in desert? -
A. City L B. City M C. City N D. City O

'l D)|4EIEi City L = Mountain; City M = Forest; City N =

Coast; City O = Desert; City P = Valley; serial-srguilll saf{® |

Where is city O Located? _
A. the mountains B. the coast - C.in arelley D. none of these

'I City ‘O’ desert q e g aft SeriA (X

Question: (ov-o¢)

The director of IBA is planning to appoint research committees, each
consisting of exactly three members. Eligible for appointment are
three teachers from Finance- F, G, and H, and three teachers from
Operations- K, L, and M. Any given committee is subject to the
following restrictions on appointments:

At least one member must be from Finance, and at least one member must
be from Opcration.

If F is appointed, G cannot be appointed.

Neither H nor L can be appointed unless the other is appointed also.

If K is appointed, M must also be appointed.

If appointees from Operations are in the majority on a committee,
that committee must include?

A.F B.G C.K D.L E.M

JE0ki| et stk operations i Roamteo et 2 shRbs

@ T, R Answer- @3 @ S AN Q@ Operations @ 33t
WE ©f Oe G AT T (R O ST T | passage I ANEWT T
Fhfbera 2wz 3 SWeTa |

Finance- @ Wtw2 F, G, H @3x Operations- @ Wi s K, L, M

ST &3 TEY W At FACITF > OF FW member T |

WHE 3 F 43 G Q@ 71 | wéie FG 4% IRMTe <R—ee A =)

of M€ ¢ H Rt L& fre 7«3 Lt e H-ws fre gra weie, H 2 L; 8¢
& s K R M-t iR fRee o, wdie K - M

3 Solve T 11 3 3 operations ¢ QM %1 fte far KIL o o]
L~ TR0t H WP 3R K-G0 IR0 M SR | ¥ 3 5e0w IR0 Qg =)

&% LMH 3t KMF 3t KMG & 01 o0t T 7 | SR Y M-t fRre? 2o |

If the restrictions on appointments apply also to four-member
committee appointed from the same group of executives, which of the
following will be true?

A. If F is appointed, M must also be appointed

B. If G is appointed, K must also be appointed

C. If L is appointed, G must also be appointed

D. If H is appointed, F must also be appointed

|2,
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E_If M is appointed, K must also be appointed
o v T T S i IV 3 7 ey gy
TN Answer- &% a0 72) @A Finance 7% FH 71 GH @77 Operatigp,
% LM BrE @x (Answer (A) Fre @A

- If F is appointed to the same committee as M, which of the fw

will be true of that committee?

A. Appointees from Finance are in the inajority

B. Appointees from Operations are in the majority
C. G 1s 2 commmittee member

D. L is 2 commitice member

E. K 15 not 2 committee member

BIALL| F = M <22 =z way o oom azﬁﬁawm;
@A FM ———, Ton wzres 777 Tz L 21 H2Z G TE 1 | 93k K 1z
A% T | 457 Answer T8 4% ¢

(A) 21 (B) 12, Operarions T90% 9™z 75 @0 4% 75400 #0= | - t%
(B) | FG %% #5frz @rarz w2z 31 a7 (C) 391 | Af@arme 37 247

Question: (ot-o3) o
Six business negotiators- M, O, P, R, S, and T are to be scated at:
round table to discuss a business deal. There are exactly-six chain
around the table. Each negotiator sits facing the center of the table
and is directly opposite to a negotiator across the table. The seating

arrangement is subject to the following restrictions:
T cannot sit next to P. 5 cannot sit next to M. R must sit next (o M.

o

. If R sits next to 5 on 5’5 right side, who must sit next to R on R’s right side?

A.M B.O c.rP D.S E.T

m 4 R 471 S @7 “m4 iz, e R-a7 *me fw
% w7 A 7 L e R € S-az 1 151 7% | I:

3% 7€ 1 S TR A M-z "= ade, [MS 21 SM.

% 7€ t R 90 M-63 "1 T2 94 MR 71 RM |

Gem, R e Oa o1 M 4703 | |
If T sits next to M and S sits next to R, which of the other negotiaton

must sit next to 87 _
A M B.O C.P D. R E.T

Wl O] 7% T e M @ § « R i 201 g fosw corafs S
e g T wEA 1 T, M, R, S 37 € ot =€ farz Toreg T2 7A1G0 o

a7z T-47 o =€ ae fe o o s 157 =€ 1 T e P et 2ocq = aér,
T, P - ewm T, M, R, S, P G873 9*1%T T T | 9T & 59 e #=
o G P system~4 (#14 Y wE & @) el Oy 49T passage T

% |

0
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MOPRST = 4% & v+ 797 @@ o™ GR0R v s B o0E T3 &%
ez U= Bv3E e | &% areE o 8 T
(9] b |
P R
S
ohRr, P oa% S-47 0t A |
. If T sits directly across the table from O, who must sit on either side
of P?
A Mand O B.Mand S C.0and R
D.Oand S E.RandT

g' ELLill| 3% T € O =z Rz =1 3, T P2 &3 "1 (%

& TR T qh, A EE SRR vEe o ¢ T P- R 1 O
€ S WTT TF | T

S M
- P R

0

Which of the following is an acceptable sequence of megotiators
around the table?
A.-M,S,R,T,P,O B.M,S,T,P,R, O

C.T,0,P,S,M,R D.T,R,M,P,S,0
E.T,S,R,M,0O,P

v E]E Answer- @G (GRoR R T®) <=
ZZIET sequence (TFT)7 (A) T RM e 77 a1 «ft 291 882 | 951k (B)-
€ A | 37 *ETEE () a9 T e P onene GRe qeums «merf™ 501 w9 |

Questions: (Yo-39)

Eight people M, N, O, P, Q, R, S and T from two teams. White Team and
Green Team, for a bridge tournament. Each team has four players. Teams
will be formed according to following conditions:

a. R can’t play on the same team as either S or M

b. O can’t play on the same team as N

¢. Q can’t play on White team

If O plays on the Green Team, which of the following must be true?
A. N plays on the White Team B. P plays on the White Team

C. R plays on the Green Team D. S plays on the White Team
E. T plays on the Green Team

O A)ldEILI] Conditions : 03, S & M «7 3¢ R € 1 |

o, O g3t N 30a 41974 1 | o9, Q green team 9@ OOIY |

(A) Green White
0,Q N

O Green- a ot N white @ GIte 714

)
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IfR l.'.. not on the same as O, which of the following must be true?
A M_ls on the same as P B.Misonthesamecas T
C.Owisonthesameas T D. S is on the same as O
E. T i1s on the same as N
ol D IEIRT| (A) Green White
Q

Q¥ R, O <F Y ¢ 1 I WRAR, ¥ 1 @ R S @@ M % NS Q=373 =7
W, O, S, M G3 SR @ R SR AT L WRARG N 9@ R G A | @1,
N, O <% ¥ ST 1| Ans: (D) W O, S G300 =TI I WX |

If T and P play on the Green Team, then which of the following
statements must be true?

i. R plays on the Green Team ii. O plays on the White Team

iii. M plays on the White Team

A.lonly B. [T only C. I and III only
D. Il and IIT only E. I, IT and III
ol D)[4EIKT) Green White

QNP o

@%+, R T white Team Q I A, S WMWGreen Q U ST | A
(et ¥ 1 S S, M White team 9 @R R Green Team- @ |

Green White
QN PR O,S,M, T

Ans: (E), I, IT, ITI 3¥ statement true.
Which one of the following options is an acceptable arrangement?

Options White Green

A. M,R,0,P  N,P,S,T

B. M,Q,N,P  R,T,S,0

& N,R,0,Q  M,S,T,P

D. N,M,S, T  RO,QP

E. R,Q,0,P S,M,N, T

B (A) T R, M & ST¥ SIg | SR T 1 1(B) T I R,

S ﬂmml‘\“- 1 Support XA I(C) T I N, O ¢ X wR | (D)
&bt Ok. 3 ¥ fill up =7 | (E) «<bre & 5 1€ Fill up 3%, &% Q White
team <Q WiTg 71 #¥- 3 fill up IF AT

Which of the following group of people could play on the White

Team?
A.MN, QO B.M,0,Q,P C.N,R,Q,M

D.OQPTR E. none of these

N FJiELa A, B, C, D 5= White Team- @ Q WITR R QoTet
RO B AT ‘

3R
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Question: (3¢-5») _

Suppose this is 2030, In Dhaka city the public transportation system
consists of one metro rail line and one bus line.

The metro goes from station T to R to S to G to H to I, stopping at cach
station, and then returns making the same stops in the reverse order. '
The bus goes from station R to W to L to G to F, stopping at each station,
and then returns, making the same stops in the reverse order. _
On cach line, there are frequent buses or trains that stop at each station
along the route.

During rush hour, there is an express bus on the bus line that stops only
atR, L and F and returns making the same thrce stops in the reverse ord‘cr.
A passenger can transfer from the metro line or bus line to the other line
wherever the bus and metro both stop at a station with the same name.

It is not possible to transfer front an express bus to a non-express bus.
There is no other means of transportation available on the public

a2 et At A PP (26-23)

e At sty FRARE Bty Sttt A =

il

11l

1v.

.

@30 Metro rail line @ 93 Bus line ATy *[€IHita @S QAMITAN =0 I G
Sl A figure- st gre:

B2 |10
mWE==T

l \

lg_g!u"uclt_—,—,g":-z ‘.—.-"‘.-O’=5H==l

\

Emre o tm wdtA) Al h

= T T FAT O ST S{CHTH (1l I

Metro @& &R T, R, S, G, H ¢ [ 4% GH*eTETS W G} W ST
TS WG | SAT-WHTR 79 ST BT A |

Bus @M@ R, W, L, G € F GO I ¥ T T (@F% WIKT 9 qheyl-
SR Y &S0 GO QM |

Rush hour 31 wf¥s @@ 7% Bus line- 9 @3f6 express bus 57 @01 W R,
L s F-@ Q0 3R (F¢e SR e O S e o

Q&N A Metro 1 Bus line T WAT TR U7 FACS AR (I SXRZ T
Bus s Metro €% station —9 It¥ |

Express Bus T4 non-express I A6 74 7 |

To make a trip on public transportation from S to I, a passenger must
pass through which of the following additional stops?

A. G and H only B. F, G and H only

C.H, L and W only D.F, H, L and W only
E. G, H, L and R only

|
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B A NIERTT] e S v 1t ars fse @ i SR Rl g figg e

mmwmmwm w7 @ A qrelt &F G 8 H- g3
e W% e T |

>¢, Using buses only, a passenger cannot go on public transportation

from:
A.FtoW B.GtoR C.LtoH
D.LtoR E.WtoL

m RN ¥4 Bus fwr ottr fiess @R 6517 e S ufbee Theat g
A7 L ™4tF H-« 3eyt Ieq 9t | 3 H- 9 @re 7 G W@ Train-9 560 37|

4. To make a trip on public transportation from I to W during rush
hour, a passenger must do which of the following?

A. Transfer to a bus at G B. Ride the metro rail only
C. Board on a non-express bus D. Ride a bus past L
E. Go through S on the metro line

Al Rush hour- @ I wis W-te care fatsa i wi% wate
TR for (vt 9 1 72t G #1468 Train-g ey G-1o 5% Bus-9 85ts 7 |
>t. To go on public transportation from F to T, a passenger must:

A. transfer at G B. take a vehicle to or through R |

C. transfer at R D. take a vehicle to or through S |
E. take a vehicle to or through W

g ClELE| F o T-rv e s @l sw08 w20 2@ qoem |
" |figure ™4 % T, F & Bus-9 it GI® Train — @ $5te T | WA F| |
T™T& A6 Bus line-9 1973w R-q Train ¢ 5o 3@ | @ ST A6q @S R| |
97 T M Qe T3 3t R 9 iy s@0% Train-9 transfer T 31 | |
3». If a fire temporarily closes the metro line at R to metro trains but the

metro still runs from I to S and the bus still stops at R, it will be |

IMPOSSIBLE for any passenger to use public transportation to go
fo:

A.F B. I C.L D.R BT

R D[HEL] stovw srwt afi R-a Metro line Sglens 3% A &g
metro B¥GT I, S 468 5t @3k Bus R-9 ey 41te <, O It «ive fwsg @i
station-Bre s AR IR I e W 74 | Figure WEF @Y ¥, R-43 79 |
ey Txo hent AR |
20. Arrange the following in a meaningful sequence:

1. Consultation 2. Illness 3. Doctor 4. Treatment 5. Recovery
A.2,3,4,1,5 B.4,3,1,2,5
C.5 L4322 D.2,3,1,4,5

9 lllness Doctor o0 Consultation - Treatment =5 Recovery|
@E- 3 5 \

mmwn vrrfmmmw Wﬂmﬁwﬁﬁwﬁm%mmml \
»8




IS 1Q SUMMIT

\gmwxm&eqmm

A G E

G Ik ?

Ms O Que
*Q‘\_’..:q___ B- k‘f C, !'_5 D K-!

ey TITE I ST TN T A SRHBITFECM'CEIDITET

=6 I = I W R SRITEE KT WRIRK

Ar

y

B DI ™ NS & T ow D e Y v 5T

E SR TE ST T O O T TR N S ) -

A blacksmith has five iron articles A, B, C, D and E, each having a
different weight.

(D A weights twice as much as B.

(i) B weights four and 1 haif times as much as C.

(1) C weights half as much as D.

(iv) D weights half as much as E.

(v) E weights less than A but more than C.

Which of the following is the lightest in weight?

A A B.B C.C D D E.E
f C IER0A1J *%, C'sweightis x. Then D's weightis 2x. E's weight
i is 4x. B's weight is 4.5x and A's weight is 9x. So, the order of weights
“::mb.e A>B>E>D>C.Cis Lhehahtestm“u_ht.

. What letter in the word *SUPERFLUOQUS’ is the same number in the
word as it is in the alphabet?

AR B.L C.F D.U

#""d ]w’*sF?‘*bwmmmmmaF
SRS A TS POk e 8

A IETM ___B.OVLE C. APPRE D. LYEBL
[ D EEE) oo s e,

AL TIME B.LOVE C.PAPER D.BELLY
o= 0 BELLY T Human body (TFR0R) & SR Soii¥s |

Read the following information carefully and answer (Question: 01-05)
One of the seven regional films-Punjabi, Marathi, Tamil, Telugu,
Kannada, Bengali and Bhojpuri-is shown on each day of a film Festn al,
starting from \ionda\ and endng on Sunday.

Bengali film is shown on Thursda\ Kannada film is shown on the day
lmmedlately after the day on which Marathi film is shown. Kannada film
is shown neither on Tuesday nor on Saturday. Only one film is shown

¢
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between chguli and anﬁl _Film. Two films are shown between Punjab,
and Marathi film. Bhojpuri film is shown ncither on Sunday nor oy
Monday. :
01. Which of the following regional movics is shown just before the
Bcngnl! film? (.M Unit-F; Set-A; 19-20)
A. Bhojpuri____B. Punjabi C. Tamil D. Marathi
P B[] ey sorer-ai e wfRer e, T 0 | 90 R A1 |
& 0T A1R-
Friday Saturday | Sunday Monday | Tuesday | Wednesday | Thursday |
VoJpurl | Marathi | Kannada | Telegu Tamil Punjab Bengall
et I ek Punjabi 1 3 | B
02. Which of the following regional g ?
L T g regional movies is shown on Saturday? mf
A. Bhojpun B. Marathi C. Tamil D. Bengali
EGikiD) *(Fm Marathi 7w | ]
03. Orllq\;';;ich of the following days is Bhojpuri film shown? ¢etfa: Unit-F; Set.
A 19- :
A. Tucsday B. Wednesday  C. Thursday D. Friday

04.

05.

06.

D] e s 3

How many films are shown between Tami film and Marathi film?

(wr.f& Unlt-F; Set-A; 19-20)
A. One B. Two C. Three D. Four
RSl B[R] wifter o iy e o o 3 2w

Telugu film is shown on which of the following days? (erf: Unit-F: Set-A;

19-20)
A. Monday B. Tuesday C. Wednesday D. Thursday

ml Telegu TI Monday (% |

Statement: People residing in some tribal areas are far from
education. courses of action: («.f: Unit-F; Set-D; 19-20)

i. Government should render all help to the NGOs to open schools there.

ii. A mass awareness programme must be initiated in these areas. iii.
Social workers should be entrusted with the job of educating them.
A.iandii B. ii and iii "C.iandiii D. None of the above

w B E S frer ey o} REF Non Government

organization T3 W ¥R & Help 31 SR FTe( 8 ST T SreTe!
41 4 statement 3% wE |

SRR R TR SR @I W, & S & IS
RS ARPIR 97 O ST S ISR SIS -

srzasia SPECIAL GK
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0.

ox,

0w,

o8,

og¢,

QST I ter 1 Pl Sy et A =) o3l w1 o
AR S ST FA0T AR a7 o 40
S | S QR AR 9 @ Sy wemd A3
¥ YA TS AR AN tfw ww @y | @
A AT Bow wWew mw wrfiE A
Denotative meaning foy *ihewt anmt @ ovoa
Connotative 31 SRIEW oy s T o=
FACS YA |

Five children were administered psychological tests to know their
intellectual levels. In the report, psychologists pointed out that the
child A is less intelligent than the child B, The Child C is less
intelligent than the child D. The child B is less intclligent than the

child C and child A is more intelligent than the child E. Which child
is the most intelligent?

A A B.B tC.D D.E

CJPIRIRII We have sequence : A<B,C<D,B<C and E < A.
So, the sequence becomes : E < A <B < C <D, Clearly, child D is the

monst intelligent.

“Boat is to sea”, therefore "Plane is to —"'.
A. Fly __B.Air C. Sky D. Float

S Eﬁ;ﬁiﬂmwwmwm|

a. Rekha scores more than Shaon; b. Shaon scores less than Puspo

Therefore, c. Rekha scores less than Puspo; Choice c-?
A. cistrue B. cis false

C. ¢ may be true or false D. No omference (S9517) can be made

Ll <RI "7 = o Gt oeeR o o I vaTe ) ww @
option-forsy bt 791 Wity |

‘Stammering’ % FY Speech % W IFW T, ‘Deafness’ 7 MY OR
T @R

¥, Ear 4. Hearing . Sound ¥, Speal

sl ¢ )Gk ‘Stammering’ e “gewr T W I AU AR W

‘Deafness’ T AR Tt 31 Fww i siiee: srovies, T NS I FR
AR W, 19 o i i 3 |

"TOTSRT Zfe DT AMGH I TS Q0T 16 XeT (PO STd ST FeT
T, IfToIR ¥, TR 1, STgrSIRIe V. f&ferax

o G T R i e s
FfTOITR Wy oot ey 16 2 (Search Engine) 3207 331 30 |
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ot. Jonny’s mother had 3 children. The first child was called January,

The second child was called March. What was the third child’s name?
A. May B. June C. Jonny D. Rifat

Rl Ol X S1owm =1 (Rewt SITe | S TRy 3T T wiva A ¢
SN IO | TR AN WA R o)
o4. Before Mount Everest was discovered what was the highest mountain

in the world?
A. Denali B. K2 C. Mont Blanc D. Mt. Everest

RO D i) (R sesta By frew < 7w WS ISIET | W Bt @,
T @ W WREH ¥R o @b &1 Denali Wi W@ highest
mountain peak T1b, Svo BRI 20,030 5 EF | K2- B AR 367 @ w=fge
I A *EE Y RIATT | THST 1,5 > WO A, ¢ F6 | Mont Blanc Iy
Z0R “White Mountain” I WT§eT € BRI Ao Ef 4% | Twet 8,bov fy
31 5¢,998 TS | Mt. Everest 8%9t vr8y . | S{E G ' St g =eet |
or. What word in the English language is always spelt incorrectly?
A.incorrectly  B. general C. Foreign D. None

R ) o v FeeT ol T T R ¥ R D R sy
%597 incorrectly IT I TH, ORET & O I | T incorrectly
FEFOTR 9 |
o». Obama was born on “August” yet his birthday always falls in the

summer. How is this possible?
A. He lives in the southern Hemisphere.
B. He lives in the Northern Hemisphere.

C. He lives in the tropic of cancer. _ D. None

) vt e Srerr <, S @ TR o | S tropic

of cancer ¥IT% 0% FFo&I1S G |
So. TONRE Ta AT SR *4reT G 7o g Fare e e @FbE G T
=, WA AT ¥, 1T s, wEeH *48e g, (9T e

e R e @R T Testfe T T S, WM,
TR AT TR SeE T SRR e T |
3. R G & F —- T IA |

z o ¥, A= ST, WG w. afs
Pl i) ST R e Greee I TS A, &
et oz AT )

v3. Pt fRaTEE O — IR Q&M
=z fofseriz % FERNAE o, AT g, 4-Imd

ﬁﬂﬁmmmwwaﬁwﬁmeW|
mem-mmmmmwm@ﬁwﬁvwml

abr




iz [Q SUMMIT

yo. RALPH likes 25 but not 24; he likes 400 but not 300, he likes 144 but
not 145. Which does he like:
A. 10 B. 50 C. 200 D. 1600

R D G RALPH- 5w #f 3 et #e 36 | (O 3¢ = @, 800
= (R0)}, 388 = (33)}, dboo = (80)}

38. Which of the following supplies the best answer?
White clothes in summer are warm, because: _ .
A. These are cheaper - B. These are readily available
C. These look respectable D. These permit heat to go out

Sl D )| BRI e ft st 2oty SRt SR 39 S Crrae 30 |

>¢. Mila and Nila agreed to embroider a shirt. Mila alone compl-eted one
third of the job and then-asked Nila to complete the next. h-hla asked
Riva and the two of them equally to share the job. Which of the
following statements are true?
A. Nila did more than Mila
B. Nila did as much as Mila and Riva did individually
C. Nila did more than Riva _
D. Nila did as much Mila and Riva did together

m leWx mﬁi‘nmg;‘ﬂﬁfmx-§=%’fl\ﬁlaa

Riva ﬁmwm:%’-‘x%=; W, TSI T I ITTE |

S, “Rge SR (B0 e AT | Wi o re 7l et b iR 1”-BfS
HAf$% 7 qBt o7 7T -

¥, {52t e 4R it for o

3. oy fFeT rEmear 2re i A A |
1. ferzbrm Tte it e It eamss |
v, 3 fGreorar gre b fFor ang

T.

gl < IR @ Rt carmatgat 3 Rt zite b Ry o | 92
TS 3w zro erez TR wie genrwa |

39. A, FRT (ATT SR | AL, TN R S | TS FaW 40 SO | G0
TP (& ST SIeA?

3. @A 3, Ae . T v, ffo = s s

TRk 7o > ¥fm > Twam; Mo > X

TRY ST S A € ASTR T (@ SRsy it |

CTRY |ft ey 221 5w 7w 1 @ @6 ot st |

S». Mr. Baker, Mr. Butcher and Mr. Builder are a baker. a butcher and

a builder but not in that order. No man has the same profession as

his name. Mr. Builder is not a butcher. Which of the following is true
for sure

A. Mr. Butcher is a baker B. Mr. Builder is a baker

28
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C. Mr. Builder is a builder D. Mr. Baker is a baker

w” m] [E@ T (O AW O O ol 7Y | yeare Mr. Builder a%%# builder
%% | &q¥re, Mr. Builder «®9% butcher *# | 7%at Mr. Builder «%9# baker.

. RATGF @N-
¥, onfafew T o, 4t vawergra wradl el
. 1A A ACAE FIOR AT ¥, G vr4fre sramiorE A

ol < TG ot o o aaft wffas ofers | Rtz af® @ Golden
Mean. afdb%a 4fb g Xl wayre 73S W% (Golden Mean) 0106 |
e RTE 1% e e wfire y2Y werw | ¥ Wy wrAmfE © o qad moE
30. Jamal, Hasan and Nasrin are interested to take admission in
Economics. Nasrin also likes political science. Jenith’s preference is
social welfare. Palash has a dream for Development studies. Jamal
also has a preference towards public Administration. Palash also has
a soft corner towards journalism. Who has the fewest choice?

A. Jamal B. Hasan C. Nasrin D. None

> m][@ Hasan is interested to take admission in only
|Economics. Except Hasan, all of other are interested in two subjects.
y, M AT0e! (A (4T VIV T | e i A b T A A J0T A e

T | T TR O (% ATy Ay
o, (g o, nfa , fa

7, FIce!
O« T Eiii) et > ot ; wnfr > oo ; = > e |
w7 > A10E! > G e AR > APE | AN TG SR AT |

23, oY A <ffedia At srfae T, wra ol fare e
o 4 of, 1l v, 4

_' [ v o e i Bz ) ffedh aom et aiz
o, "I UM WO YU O, BTA (Y SN & e

o, 318 ", el Y. (9
'ﬂtm‘iwwmmmmﬁmmmqm o |
Rt ATt SR

01. wmmmmfhﬁuﬁm,ﬁ;mw:fqmﬁmmmﬂmmm
faof 4%y (JU: B Unit: 20-21: Set-A|
A €] o e apreong See e o @ afgrn s

B. sncarm #f@ yoda e ¢ 0 Al
C. veag e Wfsrn weaa carra fuce efeana vig e ot OTas vta Y FHA

D). T #4148 Wit W44 6 QP i @ oL fam
O TG ) ot avre o fi fF e e & FF s e =
awAfey foauts | Wi e SOOI N0 91¥1H C ot faodean |

Yoo
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IR G0 O+ € TYILT AT BT 4170 WPIYT- (JU: B Unit: 20-21: Set-A)
A. 7€ e - B. 7%z 07 9%y 4@
C. 77 1A D. wIAME 7

I O[] v ot wrper & g7 eI Ire € WLt
A | 1, WTEHRTS T T7A (F, (T WA W0, TR Taviaar for e
Fret Gap fill up T Tz | g P ot 7w | @, a@ bt R T o frar
TR PR WP FAT %07, FHY @ e wee e 2o o
oA A WP % T A b s wvte |

T e b spaes SR ey d Q- (JU: B Unit: 20-21: Set-D)
A. sy Swoms e Foumm

B. efezm aifeifire wide fommcm faus adu=

C. 7a1ta “fascy e 5 Crgeaz faw aaés

D. gefur “Afery samifa cend widn afeffy Frfos

C AR i wfvam afebr Ger et 00 T30 700 wry |

PI&Ta Q! 1107 450 CFon 14T ST AT I e Sred % s e
1|

"Civilisation can never sustain itself upon cannibalism of any form.
For that by which alone man is true can only be nourished by love
and justice." How does civilization sustain? (ju: c Unit: Set-E: 20.21)
A. Cannibalism B. Injustice

C. Oppression D. Love and justice

AR o e 2 wraam fary w1 A Ser a wre T |

"The highest education is that which does not marely give us
information but makes our life in harmony with all existence." What
does education mean? (JU: C Unit: Set-E: 20-21)

A.To geta job B. To get a position

C. Information D. Makes a harmonious life.

»w m] ARIIRIL| @v= statement 4 12 wiE B frwt TR oy TYr%
o0 =1, It makes our life in harmony with all existence. 951 I, 2o
‘Makes a harmonious life’ (@ ctrun Seizait &) |

Tl EHUAIET W QU “ G AP 7 T S T | [RE TETT G
mmwﬁmﬁwmm%mmmmmmmm
QA | S S WA SI0E, o, W e 1fies o7 o et Rl enfa zee

"1y one o s Mt Prilt Zoe | - Tl qrwm T8 g (yu:
C Unit: Set-F: 20-21]

A. Pt sfta 1of gen g e B, favglt et e e e s @
C. au, «, “31 a6 a1 @ famn =11 #0

D. feftrer widfra =1 siore fage-afuw @)= o ovrz 1

R O [IRCE] e s e tore b S v vt a1

S0
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K]
A. Sweet B. Tasteless C. Bad D. Insipid

R AR vt =0 e wr )

T X X0, TR Y 8 X0 | & WEZWA: [CU: D: 20-21; Day-1; Shift-1]
A x TR TR Ay B. y Y0 31 T x

C. x aR y 930 W ©0r =

D. x @R y TN 9= W= i T @ T

R B[] < X <5 o Y W5 | e, Y o 1 7 X W6TS TR |

‘A’ P 3 ORI Y0 SRR e R TRteeR @R S ‘B’ W
0 ORI e ¢ *RRRE Gies; w9 C W 30 ST IS T et e
Rt T i =1 30w ‘D’ W I A3 Wi 30 i v =t 30,
GTEA CIFIST MY WS *IIGUR WIS (319 AYMCA? [CU: D: 20-21; Day-2; Set-1]

A A B.B ol & D.D

Nl C)|3EIRIL) 7T “C? (& e STRIres 7Y 7S MU R K | (71,
ﬁwﬁmmwmmﬂﬁzﬁﬂe AR TS T T B

S &S] CofE TR |

JEMACR TG Grere 7o foff ot wrie, | 391 Tk, g ErE TRt R wmr
TR, G, T S SAEeT & ¢ 23T WeT (OrF WK | 9 &K
YRV AZAEIB? [CU: D: 20-21, Day-2, Shift-1)

A. I1Y € WY TR AR A1 FIE A6 74 TR

B. /0% R0 A E0OI0S R/ LT WFAR

C. 1057 S5 2wse o1 weire ey e W

D. é, Bs C_
mmmmmmmwﬂme

Wt

= TR Pen, Pencil, Statmnary WA NEAE AE A I (mf:
Unit-B; Set-G;19-20) ;
D

B. GO C. Oc°

pen pencil

&

Stationary
Stationary T, ¥t Stationary <% Y0 pen '€ pencil TSI e T | WP
A <z ST Best W43%H 3@ 1 pen, pencil stationary <% ¥ Fwww

ST ST W |

T#/= s Examination, Question, practice Si® W¢ag 71 &zt
FLAY (wf: Unit-B; Set-H; 19-20)

A CGID B. c. QO D 9

o
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14.

15.

16.

17.

18.

19.
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m ; Eﬁml . Examination

Question

Practice

AT &3 M SR TSl &3 MW ____ | (wR: Unit-B; Set-G; 19-20)
Amﬁw B. wsaet, 70d C. 591, 394 D. FET, WA

_m{mwmm W S @@t oM peT |

David prefers Economics to Maths, English to Social science, and
Political Science to History. If she prefers Maths to History and Social

science to Maths, which is David’s least preferred subject? (wf: Unit-F;
Set-A; 19-20)

A. History B. Maths C. Social science D. Economics

R A)[FER0D) «¥r orereiz, caren am siest e ¥ History.

Form Xz SRR~ | SR R 9 37w 10ov-30, W55 B, 0F: A, Fradi )
A. Ut B. 71% C.®m D. ffserz

I B[ Ai) oo form 2o rcamaprs andi it e e e < T

AT | SRt ey o e "o g oiee Ber | W7 i = s
= A | '

IS G AT I3 | WIGHRTE SN2 (o 2033w, W55 9

A S I efe B ammeew o= C. e D. 7% &fersTz e

el B |G| sremriem @ v w1 T oo i Sen oo et
AT I T ACRE | SOE WIGHRE T S AR IRy

&1 | 9% it ey wemrsies &feq =9 #5fre wie |

Which one of the following is always associated with ‘Tree’? (wfa: 205v-
», 558: B, o8: A, F%: @)

A. F_lgwer B. Fruit C. Leaves D. Root

@'mww‘ﬁee’mwmmmw
HIATY AT MY ACSSIR AGF 49R32 | M Flower ¥ 9% Fruit 3t 1
TR, #TST AFTSE T 16 43S AF | ¥ 275 31 Root ol Moex =g = %=1

FHAHAT

= W T o w € N (wi 1ov-n, B B, 0F: G, B <)
A.forvster B, RGOSR C. 3 oy D. ¥ oo

gl C)| G| = 727 = 41 @31 o1 <% O % @ew 9 o |

GZ%F *9 T G I07 *1¥wR 31 phrase REME 216 30 oF w1 737 =€
G | AT | =i ST ST ST I0T 93 W 73 | Ry e e ot 3

‘oz == camt =27 ‘oz w231 Too o % i WIS 0 O |

Which one is true for milk? (wfz: 30sw-53, 3388 B, 0F: G, fre¥-¢)
A. cream B. curd C. water D. whiteness

Y09
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1)

A W I (imm (' o . oy

SO THECIREL e (v, o st | wevm i, ofivme mm‘q

el & el (gl st

WY AT el e (S| @ Cieey
CAY] Wela] WS CUOW CNH Y MIYCT W1 (g
DALS AR} TY | OX NACHT SCHR TINICRR gy
fRail®, cteen A%, weaer A, affdgn 1R
@ My e Runetnt arvawia sy Ry
SITANSITT NN ANOS TR | (R e g
WHRW @ = ISR @+ Qleed @
AR @Y = 1R @Y - Iee @Y
A oY wEpem (v 4 0@ vl afRgpome o

and Streams |

IR @AY =

TS (@ = -
o). fw fRte w3t ey vt whiw 4 B &L | G AT Cieed W o ¥,
R oW TE © OO WY TR | FRICE SRR ST ST I 3 wivitay
¥, )8 ¥ LA 40 7. Yo WU! Y, » Y91

S ) coes s A e = - AR/ = 33 Rl
- CIRST @Y = )) - 1 = 8 RN
- TSR SR @ = 4 - § = o R/

33
e QR FRRE WS T T = W1 = 33 W
o}, CRET SIS (T (¥ ST WO, WY (06 O WOd o o | Wrernee 1)
32 W] Y WY SRE CIRET W (W AW w1
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04. A student was told to multiply a number with 2 and then add 3 with
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ol C)JEIRR]) «, e = x
TS, (x +3)X2=20=>x+3=10=>x="7

R wfeert s @ wier, @ o7 oy
FICS QIR ARTT G2 G S0 '8 Jowrd waie -

Tziaasr SPECIAL 6K

pPY )

C.2 D.-2




- D

Witds 1Q SUMMIT

¥ 3 T3P A (Find Out Position/Space)

o3. Point A is south of point B, and point B is west point of C. To whj,
direction is point A with respect to point C?
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Tt w1 ye T, T A (i@ E O3 @Y F97 [JU: B-Unit: 22-23: Set-F)

A. 10 =R B. 24 fa fi. C.20 & . D. 30 f&f.

AT e,

wRPe= A gfir | 12

o, Al , AE?= EF2+AF?

=1824242=324+576 = 900 -, AE =+ 30| 4 1 _Ip

6

iyt wify @, 6
fargrerr SESreR I T4 WgF A A 8 B 16
o AE (wfdge) =30 5 f.

02. T, IR AT @6 W A7 (T T@ | A, T 6T IS | A, A o 7§ W
I o &G | @ FEAE? [JU: B-Unit: 22-23: Set-G]

F

,(A) (B) 717 (C) 3= (D) a1
Rl DEHEE] 2w, s > f9 > 7@ > 71 > 4 wdfe S/ 39 1
IR STATELH (|G 74T |

03. 930 BEH 1w TF a6 oI Sy | FEHE oRi auT o | ey ot Wit 2Rew
®; RS o Wit 3% Wi e BHER S Witg o WRoeR 32| OF

WD TR ST SR TR e QIR M 3R, 1 52 ¥R I8 @I i Wity
[CU: D: 20-21; Day-2; Set-1] !

A. vgd B. *ieey C. ¥ D. siex

R B[] v oy sreret wivat @ 23S +1fR- Gt et Wi af
q:-

SO Sfoew R

WO LR (SERCY

ol BIF -

s o Te SFBT 92

T ST o 'S QIR AT 9%

A x

P EF x

FAr e Ten B.

0D
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04. ;‘lr;-“&dek entered his office keeping his personal car north facing
_ : gf:ing to the office, the car turncd right twice and left once, A(
which direction the car was at the time of leaving his house? ("Ruay

Usit-F; 19-20)
A East B. West C. North D. South
? o 4'— "5y
tw e

05. A is west of B and B is north of C. D is south of A. Which directiﬁl_:—i:

D of C? (xR e afR: Unit-F; 19-20)
_A. East B. West C. North D. South

v BTl

vt w
1‘4[-%&1
B A Tew .

St @l A5k (Language & Verbal Reasoning)

i TP et RArsew e e Sy 3t sngy
Check Your 1Q: g o i eramte cltfes o ey
Verbal and . 3@ o7er| Prediw e (Decision) xR
e IR © SR ARA &AM A6 =I5 BAH

Reasoning: Rt et AT 9 SR T S |

0y, STARATT SHRaTH FfeTr S 1 15T T2 |
SOTHMATS
T (TS § GHSTALA] . SRSTEAsAT Y, WS

e [ ED) ot fRmter vyt (o) option-¥ S T |
“Wkiiz e

T, TS ¥, yRfoq

e mwmmmﬁww&ww|

oo, TTEDSUT (O 40T Af6F I 137

#. Leftenant Genarel ¥, Liefienant Generel

7. Lieutenant General ¥, Lieutenent General

O [AE0) e SR T % 3% I e e |
frr oft w1 ﬁ:?f\':Lﬂ:utenant

vy

- | Lie u ten ant

of, oA 9, qu1fod

R
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of. Which is the correct spelling?

¥ Pncumoma ¥. Neumonya 7. Pncumania ¥. Pneymunca
0l Preumonia = R¥ife G

o¢. Find out the sentence that has spelling errors—

¥ Accommodation 1s very scarce here
¥ Your action has pricidence S\. Everybody will be benefitted by this
¥ You cannot remain unconcem in this matter

S < IEIR] S option-s &ni¥ (%) @F pricidence IRH ¥, S
TN X Precedence- SYWSt |

BLEAK is to BLACK as LEAK is to?
A. LAKE B. LACK C. LANE D. None

A R <o s o ey oy et Ry 3 ey See G |
3 YRF )

o9,

It is impossible to write a drama without
A. Pen B. Pencil C. Director D. Plot

Sl D IR < wbes fee s Plot Qi Ingerprs | SR IR option

o ST ET |

oY

. WK AR T, Q¥ N T O Y

¥, (R %N ¥, AR O S, Ry = N, QINCT T
Rl = ) [TE) o i = B i, R S = GO R T e R

. WS YIS JISTS F0T I SWRFEE — |

G, SNt IS = oot ey, &0 g = oIl R W)

T, IR NT ¥ o N, N IR ¥, S W

RO H ) ST YT SRR AR RS TS | S

me mﬁmamwmm

Yo, W @ THiEy TRT FHIIO! ORI
¥, SR 3.y o, =R §, af¥fdw
Sl =SR] Fret roid Tor o WRTSTY s et Tt WA
RS |
3. TR S SRR e R — O
3.%&@3@«_ ¥ IAERIREE T QTR IR N et TR
¥ et TAOHERE T ORI S S SR u S =
mmumﬁmwwm&wmwl
TT NS S T T, TS T N WA — NG |

l‘: }t

R2Rais 01 ¥, fSene . QoW N, SR
R [HERi)] < cor st TeTR T 3 e, Wi ww b ww
‘T |

PR




% [Q SUMMIT
e, ieznen and volcanoes both emit hot liquids from the earth’s —_
chemucals B. surface C. layer D. compound

& BRRT Geyser SpeRY WK volcanoe Wﬂﬂm
TR &R e e Sxfife T | Wi e IR T surface.
=T

38. When you believe that natural events are due to supernatural fom‘|

are called ——,
A. unnatural B. artificial C. superstitions __D. coward

[ B oo —
v [@QE s @R T @ R ey
WA IR T TV O IR R T superstitions T TTCEH | |

se. FoT R0 wwoR o s )
. <. ICI5IN . TS ¥, Sffge
g,
il " IS CIRT| 3R e @ 3o e T AT | R 0, wwam,
ST T O SGT T ST |
o~

. ADMINISTRATION =% &1 Fow (31 i 155 321 I AN
F.STATION < TRADITION o MINISTER  ¥. RATION

R i) Option wore wer wwr o7 7, MINISTER w¥1 4

e Word- T "% 37 Letter- ¥ ADMINISTRATION o foew ¥fge, |

Yo TR G AN AR JKE — G AT " F0e M | '
- TR

T GURTEA ST U . A
o IR AT . e wrt

o W#wmmmwmwaﬁ@
TR G TN R Y }WTe CITRE WHIE | ]

. SR T ORI I
T 0w of. @& v =f

WFWWWFW-W;WIN
=)

3. “Obiter Dictum’ means
A_ a thing to be correctted
C. 2 thing said by the way
P Ot <57 <35 Latin Phrase. T2 07 91 2700 <01 91 799 ‘

3c. Choose the correct spelling —
A. milennium B. millennium _ C. mellineum

» E]EE ’ﬂ;mqudﬁﬂgmmﬂknniumﬂw|

3. “Wirtschaftswunder’ means—
A. economic miracle B. political miracle
C. first class result D. None .

P i) <ee sone o e <0 W1 37 v o AR

e w%¥% rapid reconstruction and development T& 331¥ |

8

e

B. a thing to be decided
D. a thing to be obeyed

- D. milennium




Ritas IQ SUMMIT
T AT WoH 0T W, IR
FE oS B <, T fAE w1y @
. TG R et @fi W, Y AR =y W

< | A B e e Rty wet cme NaCl (0.¢%) FAge S 3

e 1 Wy N
\& Man did not know how to make a fire until it was—.
A. invented B. discovered  C. taught D. mecemitated

sl A |3 Discover (sfwr) = a3ae an i sy 7 Jow fhewr
CWTE | (Y- VT IR SR 3= | qrwnn wieRan sy o, fier R et

[t T 1| R “Invent’ T (WiRwi) g Ry Sarae w3t ot sy ot fer =1
8. AT S WF T SR wefey '

¥ 5 S ¥, 7@ o, JFI-VEHN €. GRS
R ER) 2et- 2ttt yor s zre et Srw v | Xe-28Ei
ST 7R ST ies fR- @wy ¢ =o)
3¢. REASONABLE =63 3f 3357 3@ sz GIH (0 157 321 IR N
A.BONES  B.BRAIN C. ARSON D. NOBLE
i BJ|3EIE| REASONABLE *wfox 3f 39g/@ 308 ¥ *reawm ot

TR, R¥ BRAIN T91=1 T1ts 5T | &t BRAIN fete ‘I’ word f© aates afe
‘REASONABLE’ #%fore <% |

. BHIFHD ey

=RER < RS o, e ¥, IfSq=
IS HEED] « o8 o ammer o)
Rl I @

01. SEAMF & W0 T &4T? [CU: D-Unit: 22-23: Set-1]
A. Centenarian

B. Contenary
C. Centennial D. Center
il A )| BRI e o war g et e e 3o far | speam e
WA Centenarian |
02. CREATURE %o I T3 307 IR " 76 331 T/ (CU: D-Unit: 22-
23: Set-1]

A. CREAME B. REAL C.MATURE D.TRUE

R D)[HERi] CREATURE 5% 33t 992 ¥@ TRUE 1@ 5
j T CREAME T@ 5 3°F M W& REAL 3@ 1 3R/ L %,

MATURE I3 1 FRA M R | 9391 TRUE 93 5wt 35 Beifye =wiee |
03, &7& o e fiee anew =+ @2 33: “A Family of young animals’ [cu:
D-Unit: 22-23: Set-1]

A. Nest B. Brood C. Offspring D. Clutch

@




S [Q SUMMIT

- Bice
“A Family of young animals’ 7 Brood WK:Q
= *RY T, offspring € %5 (Baby Child) , Clutch +iR¥ I°w m
mmlﬁwBrdeAanjb'ofwungmimﬂs@w
RO =T o =N =
M ST NW S RSN R YU CUsie 212
A HRGST B. RILS A C.DFKOC D.WQRGS
Al BISE0R0 RIL S A = RAILS =% 38 @ TR w¢- e w et
05, 3 IR wew e ety W 3 U D-Unic 21-12)

01. Child 02. Cry 03. Milk

04. Mother 05. Smile
A L2345 B4312S8§ C1.2435 D.1.5.432

mewm:%m SIS TR W O TS W R
TRIET B S, SF T OTRR =T WPRS; O IORE Y WSRO ISTw
T T R | R SERRRSR T 1, 2, 4,3, 5. '|
06. BoF =S Fons = o WO T3 U D-Unit: 21-22] o
01. Doctor 02. Treatment 03. Illness

04. Consultation 05. Recovery
A.1.42.35 B.31425 C1,3425 D.21,435S

B EEin) o= e crews et S TR e Ren- 3, 1, 4, 2,8
ek 2T &5 W9 T3 (llness); SRVE 7 S (Doctor) MY %7
wwers=r (Consultation) 3@ <3 ST&F Treatment T | TR QN

ST 35w0e 1% (Recovery) TF |

07. Temperature ™% 6T I IF X X0 7167 F31 T G0 IR F-[CT:
D-Unit: 21-22: Set-1]

A. Premature B. Culture C. Tum D. Matunty

o ] E Temperature 0¥ TTRA JIX RF Premature )

T3 TR |
vy 5057 gegE o RereR T Rt Wi G 3% (2 08-11): [CU: D-Unit: 21-

22: Set-2]
A. Mercy B. Intelligence  C. Talent D. Wit

> m Intelligence, Talent, Wit Q&= 5N¥s =¥ | Qe WY
3% | B Mercy € &7 |
A.C B. Insane C. Mad D. Deft

08.

09.

4

- EJ]E Crazy, Insane, Mad et S =% 3 W =y | ]

Deft W€ w¥ |

10. A. Friend: Buddy B. Enemy: Confederate
C. Clear: Vague D. Free: Captive

bR

tk

1L

H



s 1) SUMMIT

) Friend (o%y Ruddy (om1), ks, FLacwmy (")
Contederate (€). Pfrobs | Clear (%) Vague (7). @2ots
Free (782 Captive (o). tardrovts |
11. A wex B 2w . rhgm D. 5w
;ﬁﬂ:f"'f"’", X, o, i aePis Sy v | oy vhyy Sewly v
12. Comgratulations =%z vy oy w7 7 28 77 %5 w7 o SVE %41
JOU: 1-Antt: 21-22; far 1)

A Cream B Graduste  C. Navare D. Natural
" ﬁj:ﬁfr‘,‘-'rjﬂ_, Congratulations =% <« %74 Natural =% o2 =
% |
13. COVID-19 efemvrs e 5% wrgmd - (1. 5 Lsit: 2521 bt Al

A. B zem B, e 577 zors 7x1

C. »were D). 1672z #2973 von

el OGN COVID-19 71 %0z w7 202023 70 7 e s

<50 xerafz © ACRZ AW Y Az v A fave | w7 COVID-19
(EXmIR TR ey S won werreae |

14. Arrange the words given below in a meaningful sequence. (JU: B Unie:
28-2): Set-D))

01. Poverty 02. Population 03. Death
04. Unemployment 05. Disease

A:-2,3.4,51 B.3,4251 C.241,53 D.1,2,34,5
v (8] (A e a s——
02. Population (e=m1oam) > 04, Unemployment (@#77) > 01. Poverty
(1124) > 05. Disease (@11 > 03. Death (F2) 1
15, B%T Tqua A3 #7- (JU: B Unit: 20.21 Set-F|
A. AR @A e arfez B
B. #oma Afama ffdvrz amres w2 22272
C. V4% 74 faffzra aoarem b D. T7% ¢ ===y genfez avg AT

m Sustainable Development 21 G2 ST w=rey faray|

16. wnzaPg vy oy o, fay e < %y w4 omn wne | Bow et
RAL (JU: B Unit: 2021: Ser-

A. T %2V 01 3419 ¢ 416 4w faae drgw

B. Bw @vranan ¢ Fyefa wawfa o cave vrz a9

C. T %1% 1% W4 (1% cAfamy vigen « @ 30 G 75 e
D.mc*g_ﬂ_mfbfmwmmcwmmﬁnwﬁmm

v CINACIE| otz order T 1 X0 w7 AT wre @ | o= C.
o FRoA1 G o 11 o e g e e |

1




17.

18.

19.

20.

21.

R 4

RiEa [Q SUMMIT

Arrange the word i i v
Suides. ok s given below in a meaningful sequence. [JU: B Uny
01. Police 02. Punishment 03. Crime

04. Judge 05. Judgement

A.3,1,2,4,5 B.1,2,4,3,5 C.54,3,2,1 D.3,1,4,52

ol D [T ercetres =rsvecener wcaness et 2
03. Crime (W&M) > 01. Police (4frf) > 04. Judge (RERZ) > 05
Judgement (Rswtax 1) > 02. Punishment (*1f¥) | &C% MO G

SRR R AR TSI 1 e o R Ity 3ffe e |

AP (HTSTF g e g ARHITeT @ FAg ~TATa C7sll SICE | AOo7 GoF
ARYTST? [JU: B Unit: 20-21: Set-G] '

A. SR 2 T S0 9@ G T TR

B. WG WRRI Aifewr viera fies &fe @rimr ¢ oras o %

C. T a1 0 (WA, 1 31 6 At (AT 7S AP

D. T 397 7 W3 (U@ @0 wae ¢ st o 0 9% 1

RN C i) et e i, 1 W S @ @ R
AESTS! 0ofR TR W | O R st C. =t 3 fE SRS 37 3t

FHOSH I (S |

Arrange the words given below in a meaningful sequence. [JU: B Unit:
20-21: Set-G|
01. Never 02. Sometimes 03. Generally

04. Seldom 05. Always
A521.34 B52431 €53,21,4 D:§53,2,41

RS D[ s D % Bew | @ et Syt Zm,
05. Always (/@7¥) > 03. Generally (T{R%) > 02. Sometimes (F64157)
> 04. Seldom (3I¢) > 01. Never (F¥TH%a1) | Sfe @<ty (I YT WA

eFPLEF YRRIRFSE Al e o e JITR |

Arrange the words given below in a meaningful sequence. [JU: B Unit

20-21: Set-A]
01. Probation  02. Interview 03. Selection
06. Application

04. Appointment 05. Advertisement
A.5,6,2,3,41 B.563241C. 56,4,2,3,1 D.5,6,4,2,3,1

R A A ™ »rereTs S o 2
05. Advertisement (R&m) > 06. Application (S3=) > 02: Interview

Crera) > 03. Selection ae®) > 04. Appointment (Ramt) > 01
Probation (FrFmfPY) | SuR GeITT YRRIZFSIT b ST yrreTa ci

TR |

To SN PO ATSa TG (I WEIIUF? [JU: B Unit: 20-21: Set-D]
A. - s T 0@ B. #ffAte carat g
C. taypfes 2y Tx@ T4 T D. Taf* eurt T4t R

Ry




Ritis [Q SUMMIT

A ) v =1 =ty sz =i farw we wafa focr o 2 =
T | R w e wnfie g ficr yoor ot <8 T T | Ok, o woT w0
SR PO S A foret <t angenprss |

22. If it is true that 'religious fundamentalism is dangerous to the

_society’, which one of the following statements is also true? [Ju: F Unit:
20-21: Set-A)| .

A. Religion without reason is dangerous to the society

B. Belief in religion is dangerous to the society

C. Religious pluralism is dangerous to the society

D. Disrespect for other religions is dangerous to the society.

Ll AT o2 e wiat s et e o8 v v | et v o e

mmww|mtﬁmmﬁwmwm«mﬁw
WHSI 4T T >riveny o=y fAvtvess |

23. "Man is the measure of all things" _SfSfa SRAE ZWM: 170:  vate: serxc: 28217

A. STH T oy B. T Tafegrs «ffawrt F@
C. T3 o1 Yf* ot =3t *im D. Tary, Tml ¢ WiTgrans TEs o
v [0)] [ (ROTRT) SRR T ot s ——————
24. FRoo% @AM afiF Tt e Wil =@ (cu: - 20-21; Day-1; Set-1]
A. 35 g etz B. ¢IGrErers st o S
C. T = D. fgrers ey Sesms

.,. (8] (T R e e e S - s ———
RRIEEER | ’Iﬁ'@tﬂ'ﬂ"{ﬂﬂﬁl‘

25. WA et SRy oy Wi sy [CU: D: 20-21; Set-2; Shift-3)
A. ST &S fepeen B. ¥ ¥ Ry wfors gers
C. vy st ardfer wepgeret D. firm

ﬁmmwrcmﬁs:sm;wiﬂmmmwn.
e

26. ¥ Ifem AT wdeyef = 2ofer =t Ty (ot R: Unit-D; Set-M; 19-20)
A. nalfessiopro _ B. fessionalpre C. prenulfessio D. nulfessiopro

Sl B)IIEE0| B = option fimr Professional *% st5< 331 71w

27. 1 Ifome o wdepf =i 2ot =t anny (o.R: Unit-D; Set-P; 19-20)
A. omytranas B. omyastran C. traonmyas D. omytronas

il DG Astronomy- cenfefm o (d)

28. Arrange the following in a meanin

gful sequence. (wf: Unit-F; Set-A; 19-20)

01. Letter 02. Sentence 03. Word 04. Phrase
.A'l=2!4*3 B. 2 1.3.4 C.2,4, 1,3 D.1,3,4,2

Tl D) mfﬁmw | 1% fit Phrase Wi# Phrase fiey am ot 1, 3, 4,

2A |

Ry




S U= |Q SUMMIT
= ir:mﬁtﬁzﬁmmﬁﬁﬂmm..m,mﬂ
B tam C. aease D. c=a==

Qm#ﬁu'm’#@ﬂﬂ;:
icredestial oe ‘m’ 0 2, = cream "~ 2= 'm” "R | Destal Trp,
L’ﬂ'—“'ﬂ‘ww&uﬁwm:

. Fo7 == vhem Ty ot e 723 3 TAY mw Cain T S G 15-2)
AMTIIT Beoswr.2CLie =39 DIATx;

f_'__'
i o TS | &3 o T TR | T
31. ACCEIILRT et =a% g o e 7= 3507 053 (s 707 g

Cais-2. Sex - 15-20)
A Cuczlate B. Czcomcise C. Cocular D. Croulagion

=== e ACCEIILRT 5o =7 &1 65 s m,

—

—

31 == TS Ot eumr s T TE) (e ser W B, OO A6
saAAN2A
A3ITzTTy BIEITeF C37%577 D.377%5%
;yﬂ—rﬁrgzdmﬂmmrxﬂw‘;
oz, ez o e A TR P R E 13T RE

13, Gz o= v Gz e e (23 T TR et i VR B, PO e,

A mliziclalazitn B bilgzozlaitno
Cbislzoalaiton D.silzlacizaiton
[ (B B =47 === w= | Globalization (%97 |

14, Gz = m T ok % (2 T T (wfiea B, OB G- )
Arlaimaret B.mzlamiret
Crimaplatne Dpimpalnate

P ViGna) =6 7<% @ Parliament (777 |
,______— - p—— — —— e
35.Wmmmmm#mﬁem|mm

wraz com 745 %) desirable of courtesy a character is trait. (o wwa

VB B 0B A ¢)
AT Be €. 4 D.y

O »re ©%7: Courtesy is a trait of desirable charuui

36, Select the meaningful sequence: (wh. isiw-sa, 758 B, 781 A. B ¢
A. Population — Discase — Poverty — Unemployment — Death
B Poverty — Death — Population — Discase — Unemployment
C Death — Disease — Unemployment — Poverty — Population
D. Population — Unemployment — Poverty — Discase — Death

|WWWWWMWWHW

p—— s ok il il VRl B

J%0



Techmigue: Y TS X oI T oo MR s MMM HE o = =z

TR SN Ty mE oY T = s TE

2 ST R TR G R T SR TTR TR R I G e R T
T T S, & S0 T Y

mmmmew.

/a‘°\

- 'H"

mmwmmwm: Bz 27 55 e w e =
;mm:%mmmmmm:
"mmzmﬁz' 18C,=45

- mﬂmmmﬁmm#ﬂmww

G TETAR =AW W5y

= 3 %, 32 . oo 9.3

.: ol = AL & o= 27745 93 GifS (a48+0+343 =3¢ 717 |
ﬁvwmam

#1. ﬁm#:ﬁzﬁ?;trmwwﬂwunrerwmmﬁ6mm
‘zammmaamw%m'-ﬁ«nm
A 3 B. .4 C.5 D.6

:s-nz-n-lz =>nz-n—12—0:-n2—4n+3n—12—0
>nn—-4)+3(n-4)=0 > Mn—-4)(n +3)=0
=n=4[-n+ -3]

pL-))




Blas [Q SUMMIT

02. @ WA A0OTLH ereIH Ad FAAAA A | AP s 10 FAHAA TOT OTIA o
TR CUT TA - WA | (W 203¢-5, WAT-1)y)
r}-\' ¥ B.» C. 33 D. se
el C )| TCT] oo e = n =66 = "2 = 66
=n*-n=132=5n?-n-132=0
=>nn-12)+11(n-12) =0
= n-12)(n+11) =0
= (n=12) [~ n # -11]

. (O FRATT =33 W |
03. Atthe end of a banquet 10 people shake hands with each other. Ho-.

mapy handshakes will there be in total? (wft: sv-3», ¥8R0: G (IBA), 0f: 4
. 100 B.90 C. 50. D. 45

v*"‘ [ )G e et =n =10, = =~ = 45 |

04. At a conference, 12 members shook hands wuh cach other before &
after the meeting. How many total number of handshakes occurred’
(wift: 203v-33, W40 G (IBA), & C)

A. 100, B. 132 C. 66 D. 144
v"’[B]E b« e FHEE AT = g, =12¢, = o = 66
. G FARAC AT =66+66=132

= @ it (Pipe & Cistern)

o). mﬂwnmmmw;oe s¢ GO o T | =1 92T o et I
A1t Feweet «f war o f T
®, 3 o, ¢ i, 8

MO TR s o Wit <1 7 So WOrm; 30 o W 4 T Se W
. 15 10 x15
. oy oD T A AN YA o 7 = T W = = b WOR

0. mmwmqﬁWWWmioﬁﬁbmooﬁﬁ&ﬁmmlmqﬁ
@ o e eI @ s «ff 7
9, (@HHE T

@, 5 9, 5T, 39
. mn _ 30x20 _ _:]
»* u]E m+n __ 30420 i

20

v




whRs® [Q SUMMIT

i 2w s (44 24/ 2N
(Dissimilarities/ ODD MAN KICK

o). RE &1 15t =0 *<rer it 57 3 W@
A. Cinnamon B. Chalk C. Cardamom D. Tea

Rl B JAE0LT) o= ot aferat < =y |

o TR (g 1% S=pert 4% f&m

A. Eye : Blind B. Ear : Deaf

C.Leg: Lame D. Tongue : Taste

[l D[] = oot areee, 3w for wpfifers < B ¥ | =R <X oo
(D ¢®) >7 o Tfgfers w6 wib |

co. I Sy

A. 1F B. csgt C. Tz D. g

Pl CICET) =, =91, 72, woer « Tt o speetfore e | e gt zoom,
R ety 2 © g2+ A2 | Aferen 8 «f AR |

o8, Wﬁﬁ‘%ﬂ'r

A.Bangladesh  B. India C. Japan D. Nepal
m Japan If$® Afeewat 5 557 | Japan afaE ort Tome
AT AT AT | |

o¢. Write the number of the pair which is odd from the other pairs in the

following:
~ A. Long and short B. Pleased and Happy
C. Carved and Straight D. Wrong and right

o (3] E (1) LSl : B R R R St N —————
Refrends |

ob. Retard is to Impel as obfuscate is to -—-
A. Dampen B. Confuse C. Hallucinate  D. Irradiate
o E]] E Retard =3targ w2t Impel =3ng31; Obfuscate = Ryfis:

Confuse = fR4if¥®; Irradiate = We1a11% %21 | Dampen = fiwone w1 |
04, NBH @ *f> S+ ¥ ofey =t Ry

A. Theology B. Biology C. Zoology D. Chemistry

»w ]E Theology is the study of religion. ¥ et R
et |
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Riftds 1Q SUMMIT
o¥. Which number is the odd one in oval A and B respectively?
™A ii ii wn( %1
18 52
A.42,18 B.42,52 C. 36,6 D. 36, 6
v B3] E ) Aqmmumumﬁmﬁwwnuzmﬁw.nh
W oT 6 Wt fArcetor Rerey g9 vy 52 IR |
od. T gy =
M ¥, IR of. Gl . FITAE
ol < )| ) et o iy e A | —

R Iz A

01. Wﬁm [JU: D-Unit: 22-23: Set-P)
le B. Mango C. Orange D. Pear

.l B)I3EILI) Apple, Orange, Pear (FPif%) e e At /T T
“ir; % =18 1 =t | ¥ Mango mmmﬁmﬁmﬂ

02. WA TIW GHO? [JU: D-Unit: 22-23: Set-1]
A. Hospital & patient B. Teacher & students
C. Nest & bird D. Prison & culprit

Tl B -J et (Hospital) G (Patient) ¥1t%; Nest ¢ @
bird ; & SRR (culprit) ¥ & (Prison) | ¥ Teacher student e
iR I PG A QA |

03. TG @MY [JU: D-Unit: 22-23: Set-M)]
A. lntcrnct ternet explorer B. Chrome C. Google D. Firefox

JE- Google Zr <R3 FRBH w2 Search Engine &

Internet Explorer, Chrome, Firefox ¥ web browser |
v T @R (04-07) e ReserR 2 At 1 (& ¥ (CU: D-Unit: 2213

Set-1]
04. A. Hdrd-drive B. Pen-drive C. CD-ROM D. Keyboard

ml Keyboard f&=pt; #= Hard-drive, Pen-drive, CD-

ROM ot Random Access Memory (RAM) @& T00 Q¥ | e

Keyboard «f 3R X7 e 1
05. A. Conflict B. Cognition C. Violence D. Turmoil

» Eﬂ E Conflict, Violence, Turmoil HeTE W ¥, SEre

ll’l..l

Cognition ¢ 1 | 7o Fpt Cognition.
06. A. Aberration B. Deviation
D. Conformity

C. Variation

08



07.

09.

10.

11.

12.

13.

14.

T S
» [B][ Aberration, Deviation, Variation 4% "% 0 o -

gsists [Q SUMMIT

e s, "RIET qen; R Conformity = =€ APy TN
Conformity *fo Rape )

A. Flourish B. Expire C. Transient D. Jeopardy

——

< ]E Expire 5w W oy o T¥ w1 Transient €

w31 g | Jeopardy *ewx W v a1 3% «@3r Flourish e w€ ¥
1S | W€ 9«1 Expire, Transient @3¢ Jeopardy negative W€ &&=t 370%
a3 Flourish positive <€ e@rt 23w | o3k Rt Flourish.

. A. Demise B. Dwelling C. Birth D. Surmise

fAwsw e (08-11) @we RIpemgz T Rt 14 @& 3 | (cu: p-vsie 21-22: Set-1)

Ll ['J] E Demise-T3; Dwelling-2"R51 241; Birth-e1 | Surmise-
SN 1 | 3T R e S i faw A s o

A. Terminal  B. Station C. Conclusive  D. Incipient

-——

Terminal,Station,Conclusive 9ot W=t W&H g o™
R | Incipient W< arfe® gt 57 f fRvide |

A. Hamper B. caution C. Conclusive  D. feed
Conclusive ¢ 5o 31 g3 Adjective. ¥ woMiew
Zfteet Noun.

A. Overt B. Reversed C. Blatant D. Hidden

ralll BJJEIKT| Overt, Blatant ¢ errir | Hidden &€ oy | @% of8

ST &R-OIMREST 1¥® | Ry Reversed ¢ Reire 31 50 fp

Which set is different? [Ju: B Unit: 20-21: Set-A]
A. England-Scotland B. India-Maldives
C. North Korea-South Korea D. US-Mexico

R AJEER) < B, C ' D T it el b =18 orcem =1 S

>3 =R | WWA.wmmqﬁwwmwwnwzqﬁwm
T A ATt o4tF By | B@r United Kingdom 31 75310 euTs, 0TS,
ST 8 O WRIRFDTS Ry +ifds ) '

Which set is different? (JU: B Unit: 20-21: Set-D)
A.USA-Canada B. India-Pakistan
C. North Korea -South Korea D. England-Iceland

R 0[] s gig-wten, wrwe-erfat, S oot cotfemy
siras afera™ et |mmmmwmmm
T APUICSH X FRS R | G}, e ot D. zoem o 31 i B |

TR =} &S FFE TH? (JU: B Unit: 20-21: Set-D]
A. 1T CeRy B. TP ¢o1oireey
C. *UTTSTRT ¢ D. “mfHfezs ooty

20¢

L‘v il i ez



P T ) 4

TUNS 1Q SUMMIT
R D IRE G gl = oL, TMPT OTRT, UIRCERT O XS

N ——

@Wmmwmmﬁwm«mmw
TR TR I TS W T b | Ry o CMRT QUTTR IR (v
3w $s wres D. '

15. Which set is different? (JU: B Unit: 20-21: Set-E)
A USA-Canada B. India-Bhutan
C. Myanmar-Sri Lanka D. Iran-Afghanistan

R Ot =" USA-Canada, India-Bhutan, Iy
Afghanistan T 9% wiEw oM ot | 3% Myanmar-Sri Lanka v
ST TR 07 TS T3 TR R = | |
16. ==% & JU: B Unit: 20-21: Set-E] o
A werER B. Remfiem ¢ C. e D. 53 e

R )il e 1 X o R 1 TRl M€ Xy
[ty TR AT | R YR € et wyfo Fiw s AR | Ry yeme
Ry 57 | e R C xom SR T 1.

17. Which set is different? [JU: B Unit: 20-21: Set-G|

A. Myanmar-Thailand B. Thailand-Vietnam

C. Laos-Cambodia D. China-Mongolia

» ] LN Myanmar-Thailand, Thailand-Vietnam, China.
Mongolia 3t #mift o7t | ¥ Laos-Cambodia ¥ < oy xme
R 71T | @, G% 5RO RN 4iReTs SRS | -

18. In which of the following pairs, the two substances forthing the pair

are chemically most dissimilar? [JU: F Unit: 20-21: Set-E]
A. Sugar and paper B. Butter and paraffin wax
C. Chalk and marble D. Charcoal and diamond

) J[{iRi| Charcoal (atswwm @ diamond (@31 chemically
e p— e 1R LSl B A LR
v ﬁmm(anmzz)mmmﬁmmmw: [CU: D unlt: 20-

21: Day-1: Shift-1]
19. A. Book B. Novel C. Thefts D. Newspaper

ROl A [dEii] Book (), Novel (847, Newspaper (+ifaret) Qe

m&mﬁrx'mm'mmwm,mcmmu

20. A. Air pollution B. Afforestation
C. Deforestation D. Carton emotion

RO D[R] Air Pollution (I w);  Afforestation  (FAW);
Deforestation (FfA¥); @erat qa% ww| @@ Cartoon emotion
wopraa o Y0 e vy | e D ow B

21. A Nationalism  B. Sovercignty  C. Monologue  D. Socialism

bl )



24.

25.

26.

27.

28.

N-ﬂon-hsm- widiw,  Sovere l l

—_—

S-ocillism- FATESY; W Monologue W€ e B wér @ 368w 35w
TR OO T 0T | SR, C 3% B

A. Conflict B. Cognition C. Violence D. Turmoil

ol [3] [ Conflict, Violence, Turmoil 9% of % smde 7w =f|

T WE->TTS | Cognition W€ @Ry =i | ©1% B Q¥R 0ot (It ST QERRT

<% #f3= Ve

RO PR (2 23-25) ovw Rew zre R =6 &F 3 (CU: D unit: 20-21:
Day-2: Shift-1]

. A. Sanitizer B. RAM C. Hard dnive D. Motherboard

m Igm] Hard drive, Ram, Motherboard QT To IS0

e 2R A Sanitizer & W QRITAME REMT I IR | o, Afew Tex
A. ' |

A. Guarantor B. Disciple C. Pupil D. Student

R A)[dE550] Disciple, Pupil, Student gott ze fredf 3t e et
% | Guarantor *1c53 W Tt “wifi=wEe |

A. Debate B. Deflation C. Discussion D. Consultation

B)[4EiRil| Debate w€ A%, Discussion W€ e, Consultation
wamﬁnﬁwnemnonwwﬁmﬁtmwnmaﬁamw

GO WRreT (AT T |

A0 ST (AT AW (wif2: o3v-3>, WERAL: B, o: A, Freb: ¢)
A. crsifve B. 3t C. wramiife D. =T

RO [Jein] w1t T=reE @B opt s | SereE aneRE 0

TR (ISR IS FW) e T TReAer o | v i st
TIAT e eyt 330 | a3 @6 o st (D) a3 R | Joar 9= (D)
U et (T WM | [ edw offareny «ufe fAre wipwd swr ey

T @i 3R e GK)

i AT (iR 203033, XEFO: B, o0: A, Fred: )
A. WHO B. OIC C. 11O D. IMF
R B)14EiEi| WHO World Health Organization, ILO

(International Labour Organization), IMF (International Monetary
Fund) Tt eifesgas Reifie siggt | OIC (Organization of Islamic

Cooperation) T T CPHETRA Sewo |

QA PAFTT (wift: 203v-3», WA B, o1 G, Frads o)

A. SURANS B. FEeiaes C. e D. ¥aare

R D )[R0 s 15 Saw R, SRemets «© 2t (GHEes) AT
TSt ot g 8T o | SRR Tt Tl ot T

209



Wixs 1Q SUMMIT

20. COA® EET (w corr su veem B, . G, vt ¢)

Al B Hyena C. Lion D. I‘.Iqﬂwn

Leopard (feram), Hyena, Lion (Pra) mmq

4% Elephant (0f¥) o yererd enth |
v R0 ey ey ey

i i WWMMW(GHJO-SZ)IM wu‘
30. A '9wcatcr B. Muffler C. Socks D. Shnwi

tlmc'n-nvuSoch#tmmw;

__ﬁl

31. A Rﬁmbus B. Diagonal C. Pentagon D. Circle
v ) E Rhombus (%), Diagonal (#9), Pentagon («mﬁ

e 1¥e | ¥ Circle (78); 3t e =¥ 77 |
32. A. French B. Russian C. Arabic D. Spanish

.l C)|1C0] French, Russian, Spanish %o ESraie

(TP ST | ST Arabic @t affut seyoqees fay cnwes e |
v Fsr ampre faw e fome szl @z 77 (a7 33-38): (ftsv-s», 284 b, op,

©; PT)
33. A.4:16 B. 6:36 C.7:98 D. 3:9.
CJIHEIET| @ 42 = 165 6% = 36; 3% = 9 faw w1 C &7
34. A. Dollar B. Euro C. Pound D. Ounce

.l CI4EIE| Dollar, Euro, Pound Zwt 3417 ¥ @4t Ounce T2 o

AT GFF |

35. A Potassium __ B. lodinc C. Iron D. Sodium

ol B AL oo, e, oy sfamr oty | seoface st
36. A. Ally B. Antagonist

C. Opponent D. Adversary

e A |[4EIRT) Antagonist, Opponent, Adversary wff arfre/afeudt|

ey Ally wd 2%, U1 wrovn e féq |
37. A. Carrot B. Potato C. Radish D. Brinjal

o DA Carrot (1em), Potato (P, Radish (), 3t it fo
Sestfae v | w04t Brinjal (t3e7), O fivey Soimr @ |

38. A Tortoise B. Duck C. Snake D. Whale
) [IEE) Tortoise (@), Snanke (i) @t Pt @ ; ST
Whale (Fofi) @ g et aae A1face apr o |

39. il By (wft 20345y, WD ¥)
A. Jaw1g B. wf C. wgfa D. aaf

20



8. AR TEE? (W 20340v, BB

whts [Q SUMMIT

196wy RORT | SR, TS oreu T G RO 3w 11 RO 08t W W
fach o

A EFGH B. QRST C. UKL D. UVWX

[EI1]] Vowel ¢f® Consonant 23| &z Option (B) W eRfrsy
Consonant € Vowel — ¥ *Peifat Jraga =31 Truy | Y2 (B) WAl 7w

4]1. TN I (v 103450, W )

A_ BCDE B. UKL C. OPQR D. UVWX

P BHED] = (A) Wt afer a v Tr e et e |

¥ (A) Tl o Toure oy st o | R Afeed R o @

Al B C D E F G H I
1| 2 3 4 5 6 7 8 9
J| K L M N o P Q R
10| 11 12 13 14 | 15 | 16 | 17 18
S| T U V W X Y Z
19 20 21 22 | 23 | 24 | 25 | 26

42. =L TEF (wft: 30395y, WFO)

v

43. A. Crusade

44.

45.

A. ABCD. B. VWXY C. PQRS D. JKLM

Rl Al4E0LT) Vowel @ consonant ot vt 4T o eraa TE ot

[ME HURW 0 | 1 (A) & ‘A’ =0 Vowel ¥ <7 W v azfbe
vowel ¥ | AR (A) T HDE oz |

e RFwer e el =% wrenet $ver 37 370 (43-49): (6R: 3054-5v, TTAT: M)
_____B. Expedition  C. Cruise D. Campaign

» ] E =5 ¥ vocabulary-skill 9T 5631 UK | cruise W 3y

=7 WA campaign ¢ - wfEu=/q%; Expedition — 3§3@1/ WY crusade
- e/ CwEA | FEAR 1T WMo (C) WS Wt A Weiew Synonymous I
T€F | [Vocabulary — S+ w6 #3f% fre crEmmin e ob 3% gume
student TSIFRA SR 37 |]

A. Vapour B. Mist C. Hailstone D. Fog
R C)JAERi| Vapour — 30, Mist — Fum; Fog — 33, @ Hail

stone — f#/aw@l/ o1 | [Vocabulary weeet s ewfeq oy wpmet zan
yume Student Vocabulary.]

A. Debit B. Deposit C. Deduction D. Withdrawal
R B)IAELTI] Debit %5 : Deduction — Ramt; withdrawal — St |

Q% 7T ornE FAEE =% | f¥g Deposit- ot ; 1o 8% | [Vocabulary
weee opfor a7 ey WP S e Student Vocabulary.]

46. A. Horse B. Tiger C. Ostrich D. Bear

SO



gaiia: 1Q SUMMIT

™ ][ Horse (T91%1) ; Tiger (3®); Bear (SIEF) TR
mammal It Gl 2% s Ostrich (S5+11fR) Tt qangzemr iR

47. A. Beautiful; Ugly B. Praise: Blame '
C. Nice: Good D.Beginning: Conclusion

ol CJlSET] e <® Analogy, Beautiful (75), Praise (e,
Ugly (<), Blame (1Y cveilt); Beginning (%%F): conclusion (21); |
SR rtiteT vt w0 | R e (c) @7 Nice (773), good (SToom) T g
T FW | o 7F @ C. [Analogy R SUT ey English Topi
RS @ TREe e ofuf fre wame English 3% follow 3%t 1)

48. A. Fish and Aquarium B. Bird and Nest
C. Student and Teacher D. Criminal and Prison

Ll ClFERE] (A) e wweer @R 3t @ (B) 1Re wrm e
B (D) WHIETe IR & SR (prison) RE w7 C - & Studenm’
P (teacher) Ry <= | JoAR (C) S0 S (4T ST |

49. A.Night: Day  B. White: Black C. Moon: Mars D. Light: Dark__

Lol Ol (A) 71 = teifrer a0 (B) w1t: <teett = v
RIE; (C) B : T4 &4 (mars) = TRE Tt 707 00 3T Tzyemwes as
S BT T S S 6T (4T T | (D) AT HPT = LT | 7
[*R% = (C) .

50. 5% @I w0 Besf¥eer R WMl eat: w0se-39)
A. s ___B.mw C. =g D. sire@

R BHER| st sobr @ *fewt orere ifie. GreT T XA G
(onion); STt (Tomato); WY (Po‘fato); 8 fTew (carrot) GTHIGAR
T | A0 391 Qo Beefeyw RO @1 <0 ST | L wT TR AW
coYTer, Wi, streRr err 17 fRTse o SRt STehT & Nifow o 31 s
51. T R SRSt (T WM (eR: 203¢-36, BB ¥, o 3)

B. 21 C. 1ot D. it
o ooy 6 Fiforws T 1% OGN WITE | T, <
P AT IR, T P 3T A A6 1% WU BIBY et FAI5 #iw |

52. fAT5T RIS WU (T WIHI? (wk: 205¢-38, WFB: ¥, o1 3)
A. TEw 389 B. T8 THH WITaH

C. wwef oW D. T¥HA 51
R B TG v 70w X5, St g © Srorcos fomreet et

*THTE WIS FTF 000 333 8 IBXO F | T TP *MWTS e 1, WHey &7
wRfere @R o ¢ 7 513 ARy IR o | Rew wewe g wiee iR
(BRAC) —zfrer | ffF @11 irae s «i=17 |
53. 5w @RI SoTET (41T WAMIY (@i 103e-3¢, WES: <, o 3)
A. wWem B. @ C. sf=ar D. @&
380

—




Bidfsa 1Q SUMMIT

ELhl] Feom-sier AT @F W@ MR o - SR Sem
wwmwm wﬁmwmwﬁmlwﬁwmvmwﬁ
53N T IIIY AT AW |

54, AT I UG (ATF WIAMI? (wifR: 103¢-36, RERL: €, OF: 3)

B. W CIrRt D. w9

RN CI[IERm] awy, 7 (TR TI); 1 T 71, LR [0 ST |
S I3 - WWMWWWW|

#1350 (Mathematical Problems)

a’:mwﬁﬁwﬁﬁamwmwn @ e R, Ae-wfS

Interchanges, I/ AT, CNFAF T, 'To"ﬂ-ﬂ.

NI, I, VIS, Sre, et Regif |

7 (Simplification) 3 9= ST @ I A&

ST WA T T -

BCDMAS=B = Bracket (3@%) (), { },[],

O = Of @35 D = Division (+); M =
Mulnpllcahon (X); A = Addition (+) S = Subtraction (=)
939 Ttad BODMAS 1= fREAeSia I 9 @, 31 60 9Ty 31 I531 180
399, AT A (ST WL N TFA TS HAGTA @I o BT €677 | e,
YT AT THA, G FAPR, ST, J, OF ITHNT PI6 399 QR W3 N IS
R G AT AYTT O & FACS YA | SR FRH (<), (X), (), (=) 97
I A TE IR (@) WAIFA> ()= [ ) 2 [1>@@> > X >+>—

o). Given interchanges : Signs + and X and numbers 4 and 5.
A.5%X4+20=40 B.5X4+20=85
C.5x4+20=104 D.5%X4+20=95

o = EIE“ On interchanging + and X and 4 and 5 in (c), we get

the equation as 4 + 5 X 20 =104 or 104 = 104, which is true.
o}, Insert the arithmetical signs in the following numerical figure.9 6 3 = 27
A .+, X% B.-,+ CL+ D, 4./

| }E- Always apply the rules of BODMAS in such types of

problem. In this problem multiplication will be done first then comes
the operation of addition and finally subtraction. i.e: 9+ 6 x 3 =27

0o. M n 8 p T&Y AT W, @ RET @ w0 Rrars ey 2
A, “+2E B.np + 1 C.a+p' D.2n+p
R B[ Ak oz B2 oIS R | ¥ R = 2, p = 4 T, S K
L (A)n+2p=2+2%xXx4=2+8=10;(B)np+1=2Xx4+1=8+1
=9;(C)n+p=2+4=6;D)2n+p=2Xx2+4=4+4=8
S B oA, vy Reels st @, e ey 7 |
383 .




352 [Q SUMMIT

T WCT R, If x is any integer- (TERUT); 2x is always Even Numg,
(0W§ ®); 2x + 1 is always odd Number- (Reers ) |

- 0 T A xR TR v, R E5T waem sso G e

T 9.3, % L AL TR SN .33, be, § W. 33, 9, %¢
v B3 E ST TR W, F, € (W] A Sxonee neTi TR,

ye |3, 38¢

q, 3 = g1 & T q, ve, 33
oe. fﬁﬁmﬂnﬁ&mmmm
GG '
F.2 e 9.8 . ¢

—

~ R e R T w3 (0 x o =19)

. PR e ST IR IRE D I R W R ST e TR

T.cc% T )% 7. 0% % ¢c%

: e =" x 100% ="~ x 100%

=§ x 100% = ¢o%

oL 5% 3% Iz R o | REE T 8¢ O G TF o% W e 16

b

L

- .

T Y
Z 3¢ T ¥ oo 7T 7. o¢o BIET Y. 800 O
= X300 EEX3co 4500 T
| R A ST = ST Rl TR s
. €% G AR 7 0.0v0s e O 93 [FifaoE AaE S
T eacaifm % 2o,00%0% 3% ¥, o»od0 I . e»94 3%
vl " L s AR = o.0v0q T
3 Bfa=(0.090% X 300 X y0°) ¥ = croq0 e
. S TE W IR
T 093 F® ¥ o230 T o 8o (@G 9. 80.08 (3G

I8 = lcai) s 77 = 0.0 feomm
5T = 8o CF (0.5 X 80) T = o4.3 FErmaT |

. I @R T @ T
% 330° . ot 7. 3e%° %, o3°

- BGni) 2% v = svor T e AR (1 2 |

. TEE (Y = Yot — 0 = 40|

A 24, T W7 5o U A0 | 4eE U6 arEIE WEE o e o
3% o v

z 20 %, 22 . 8¢ N8
. 3 g pr—— .fl_lj = lof.lo-]j — 10 =9 = 22 — :
v & L) > 2 2 2 45 o B |
2 e | .
JB3



s 1Q SUMMIT

S B N0 G SR oIS PO ST B s SR 1% TR BT

>8.

4.

z ee <. 8¢ . o¢ §. 88

e— n(n-1 11(11-1) _ 11x10 _ 110 _
Rl G|~ = = = 5= 5 =55 [
Gai el

. "R ¢ 3 TR @IS o T €T AXl 397

.33 ¥, 3% ST, 333 € (TR %

o

>>o+>>)+>5q+>>va+>is

I 3 e 8 o
RZ ¢ ¥ Sum e oret iy | 1% ¢ TR St 2R 1Sl TR I YT
5 YR TR W T © UM ST, CIRZ 333 TR oF YT | TR F

[TROT TF 3335 ST AT TSR %0 |

o TR TUE 00 W97 555 T I 0TS 07
.54 ¥. 55 ", 57 q. 56

»” ] E (0T e l;-l =ee.¢| 1‘: ;ig

ee at.e (rg"]

=R 2 6 R e 3 80 T, ek 9% AT 397
%. 47 <. 40 5. 43 9. ML

vl HER ) = =Rk, o s x,

ST, AXOe- x, x+1, x+2, x+3, x+4, x+5, x+6;

X+X+1+X+24+x4+3+x+44x+5+x4+6 259
£HITe, ~ = 40; 1, 7x +21 = 280; 1, x ==~

7
~X=37 ~ TG AOM x + 6 =37 + 6 = 43 030 2 21 o ©» 80 8) 83 89
o7 T TR 4 T OT 15 80, TR, 1% T90E TYIIHE [ | T2 7aE &
T TR TR - & 4 T v vt e 7@ | A R o 8o O Bey
fATZ T AU W @R WD WRE 80 TAME X | IAMLF 5 I TR OGN

OV 5 FTH ISR | BT AETH e 8¢ sz I

G20 FT [ITR 19 AES0 [oEE idT © o | JIET 0] s 39 0T
AGE LFE0F G (&I6 PR G o6 TG TA7
.8 o ¥, ¢ e 1. q o € S ot

= )| JCTT| %, cwt b o6 % 6 .. 79 beram G o7 95
ST At G =% + 3 =83 30

adre. gt TR 6w Age 9ol 8 vt [/ TR | .8 e T IB A |

AT TR ¢3% AR LCAETT G 83% “RIHG e oo | I Bew
fraw ya% o T 9w, et TEes Aimd Ty e oA e
=, 3¢ 4. 38 1. 29 Y. 3%

)89




e o S ) 4

uhitis: |Q SUMMIT

vl " NG e et oo fan wire wreramn ot dw0E T | )
FEA W] 09 (A FATE A | = wnett wn Swn/ e Ay nﬁhm.J
faw +m orem «ew Ciem M @ s wATE T | W CPT OTaTT AT 2TeT o)
< TN FAT WA | BARTE ar Ty frvm (g $9% O BETE TG
fvw P @ wmE wae e | oy Tafare % ar Tien! EIe Tean

O RO O T T 2w G Cox # A | @3% AT S 4% TATIM A0 v
RO P 7 T | eI 8% (40w 9% TATUPt @A oy Wi 4T ore oy
mlmmmummmwmwwmmmmlw
S00% C4UF TRIG o a1 farer »m1 cag 2 |
@TA- (300 - 49) = 0%

RAS Igrt PRA

01. = 925 17 1% TeU7 O SME € FAEEREE 4fe MEe veo BET Om
W1 =2 T g WA ofe wfeRs qo Tl G 41 1 T | GRERET AR
T8 ez e o4 de oo B1F BT v 771 27, T fefbre (it wwers i fen
(JU: B-Unit: 22-23: Set-F)

A. Yo od B. 35 oA C. » &

4 m:wmmWanﬁmmmm
@ Td #fE O a0 BTE | TIE, BE € FAREIZenEZ Mgz G AT0T w42 O
=(3800 — &20) BT = 4490 BIT |

q0 BT O™ 7T = 5 W+
>?m6nm=;—o-=n

. qan B BW OTT = 2 B = 33 O |

FTAN, TS ¢ TAREIEZA MGTS G Tl = 3453 ¥ | = 0 B |
02. mmwﬂnsﬁmwﬁmmeﬁm-ﬂMW,amnt

AT (¥F GIE FE7 (JU: B-Unit: 22-23: Set-F]
A 22¢ B.t:8 C.ote D.gz¢

',[Mwmmﬁmwﬁmrqmmﬂ:aﬁ

W =F: 30=3:C
03 fofaz @ 0% WEE 5 o 15 @z "z ez 777 9172 TWoR X o9 TR

a&ay ez T FE) [JU: B-Unit: 22-23: Set-F)
A 30 B S C.25 D. 15

v [@[@9) w7 22, 77 o = % T, o frfEm = 5% T4
em,54+15=2r¢+15m,5-+15=zx+30m,53-23=>a

- w=g owm BT =58 =5x5=25T |
388
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Bhta#s 1Q SUMMIT
04. T3 I A B v 86 ceTr Wit @ aa oY (e e T, & T
T ¢ (A CPTHE FJNT F&7 (JU: B-Unit: 22-23: Set-D)
A Blb B.az:e C.aote D.vwz28

P ClAEn et com 6+ 4 =101

. WO TeT S G5 (T GINMT L S0 =9 : € |

05. 3 I WRTT T afe MGIT oo B1ET O Wi R 2o« T afZ
=TT Yoo UM ¥If 721 20 | aNeIAEY @ WA M e 1 oo BIET
S of =21 7¥ TrE Mere it zwe w9 fé#1? (JU: B-Unit: 22-23: Set-D)

A 0% B. ¥ @+ C. a8+ D.w &+
v E]E 5% A7 FA4R G, (oc-roo) = 3000 BT |
. 300 BIFT O™ AT S B

3000 " " "0 _ so vy . TAD T GO (304)) = 33 O

1 e 299

06. TZ=Z LA Z14TRZT AUAT © o | AT 20 TGH 7 FRE TP A% FUCE 9T
% | TEINA AELEZ LA 27 (JU: B-Unit: 22-23: Set-D)
A. v B. e C. <o D. 38

W B [ACL 0| < %7, #firaz 7w = 77 aa 270 0 &% T | a1 T,
B +20=3(F4W), N, 6T +0=3F+ 803, F - F=80-07, 87 =
o . T=¢ .. MR TA=C¢3) .

07. 5% A o527 FUTAZ 8 oA | | 33 F%F AE A TUA G AT 2 o 1A |
ZEIVA 252 TUA FE7 [JU: B-Unit: 22-23: Set-G)

A Sw B. 28 C. % D. «

W B AL =7 77w 7 = % e am 3w 397 = 4% 7w | e,
42+12 =2 (F+12) =,43+12 =2%+24 9, 4%-23=24-12 %1, 2%=12
=6 T ITA=4x6=24 7% |
03. = &35 s v ofF cemm it @ g vl coonn e e, @ vionr vzrer
€ X5 O GIMZ FE? (JU: B-Unit: 22-23: Set-G|
Akl B.vsé C.eos19 D.8g:4g

uﬂ:mm:;aﬂ:

;. WO YT € GRS O ST = bz 38 = 8: q

1. T G WATE TS € TIROLERL o MEE veeo B1E OW wif =7 az
o Tl of 92T se0 V% OW f wH TN | GREREE @ TP Mo we
T ecco B W ¥ ¥ T 2% MGRTE (% T Wgx fen HU:B-Unit:22-23:S 0G|

A o8 B.ys&= C o8+ D.se &

ol DACITH] 7 < rrrsene gz Ov a7 are= (sooo-sean)

5 = Yozo D31 | TR, URTT, S¢o B O 67T = 3w

116
< o 5 OW 7T = 15050 =11%ex

- TE € IMTCROTAL (X0 T = 3435= Yo &H |
s8¢




10.

11.

12,

13,

14,

15.

16.

whfd IQ SUMMIT

How many numbers between 200 and 400 b
<o 11-!;3 e etween an cgin or end with 3? |,
A. 110 B. 130 C. 120 D. 100

il A IR 203, 213, 223, 233, 243, 253, 263, 273, 283, 283 =
o 3 we 200 w300 97 OO | AR, 300 *TF 400 G WO |

MU &b awral 3 Wi | . T et = 104100 = 110

POreT TP ofoz o o 0t | S0 T&7 17 FISTR T3T (U THEH ot T | ey
TN FSY [CU: D-Unit; 22-23; Set-1]
A BoTw B. ©o 57 C.ve I D. ¢ 3=

el B |G R, oo e e x T 1 . e I et ox @ |
30 T&F 3 ¥R 07 = (ox+10) & 1., o TF *I Tl T = x+d0 I

TS, Ox+d0 =  (X+50) T, Ox+30 = x+d0 I, VX-X =0 — 0 ., x=),

- ForeR I8 T = ox= oxd0=0oITF |

IR '@ SRR P woo ffl: | 1T T Gt G 70T a B oy ey fRame
O S%uT oofieg | Gdw TRt €9 IS @ [CU: D-Unit: 22-23: Set-1)

A. 38.¢ f&fT; B. vq.¢ f&f:

C. aq ¢ f&f; D. 8e¢.¢ f&:f:

B B T it v oo s s Feor B ¢ | e, e e
wwm QS b &7 | {9457 (T b 1E T HH]
- QTR T TRt = e R _ 3““&& —va.c R,

TS e T
89 (RTF bo mwrﬁrﬁvmﬂl'ﬂﬁr [CU: D-Unit: 22-23: Set-1]
A. ol B. oft C. aft D. 8f6

SN B 4 s00 <@ 700 G YT S R, 9, €, 9, 33, 39, 3,

33, QV, I, V), V9, 8), 89, ¢V, &b, LY, b, 93, 99, A3, bV, > 8 59 | GER

TOT 89 (N0 bo mmmﬂ?mmsq @o, abtﬂ‘meﬁl

¢o W PIFIIT T0g o & NG, {¢ O A0 8 JCR(E G ATSIFR G ¥
S NI I ST N 9T A | FOEA FrEAT JATAH P IATS ATRA? [CL:

D-Unit: 22-23: Set-1]
A. o B. s¢ C. 8o D. vo

RN CI[AER D) ¢o & Freetdis T RERfoTe 37 0T 0¢ W | WO Sy e
T IO Go—od= 5S¢ W | 3¢ O WA I, xrafer TS SIET I IACS A |
STLT AT T IS T A Fredie YT 3¢ + 3¢ = 80 & |

Prary ¢S o 3 ST 8 1O Rary I S TF F'©7 [RU: A-Unit: 22-23: Set-1]
A. %% B. 327 C ed'% D. 0%

o B TR o, S x 100% =7 X 100% = 25%

farsg @M N ST [RU: C-Unit: 22-23: Non-Science]
A. 47 B. 87 C.91 D. 81

8L



Rfiftds 1Q SUMMIT
,__—
R A H BN T SeUTee S Gty s1eet WAt it 363 9 =, i GhorE eyt
x0T | aqmmkusv=°3—7= 29; 91 =§= 13;s1="7f= 9] |
ST, AT 8 4 WO WU 31 et TAF et = |

17. % <3 I > T OMF 33 B 30T A1, WRRE © W onE FT Il FT
AT ¢ AT [CU: D-Unit: 21-22: Set-1]

A. a i B. » At C. o A7 D. s i
RN B[R] 2w, Gt ot = a+o = 33w
» W (1% TS A > iy
" " " " " i woow ” " w A -
LA (33" R = = 33 fae

18. 93T 7 oc O FrwIdt I | ST OO St & oI (40T '8 38 T faRFT 4w |
¢ W f¥RR VT A | FTE FH 6 RS TSUR, (W (CU: D-Unit: 21-22: Set-1)

A. o B.e C 9 D.»

il C) R trent wite, @it Frsidt = vo e |

TH IR, 9o o o == ue ) SIRL, Y FoI (VT = (Sb- F) & |

IR Y fFFT T = (38-F) & | . CITEAT (IS (YTT T = ¢ & |

LTS, (Or-F) + (38-F) + ¢ =00 [, S + 38 —F 4+ ¢=wo .. T=9 ’

S0 iR (T = T WA = q o |

19. ©, » @ 8 GT 5FE SAIIRF T©? [CU: D-Unit: 21-22: Set-1]

A.8 B. 8 C. - D.%

"l DRI v 3%, vod smpifRe =x - 3:9 4 x
WA,r=2Ax=20nx=12

20. TR RFw UK G At G AT 3T A 38, 8), ae % GO A Speye ¢
{CU: D-Unit: 21-22: Set-1]

A. 38, @, By B.y, 3, ¢ . C. 19, 9%, d» D. 1¢, @3, bb

w* ST 0 IR ANTRT = oW YT | We, 38+ 83= ¢ | SIEW,

STTOTR W0 13 T 9+ 93 = 5 | T HRGH! S @, GO0 ST

T QAT eI oufe =i T | - Y= o Tx; RE W B 1o ot Sieg

e, Tt 5= oot |

21, ¥ @ MRENTS SfF Cotor WITR | @ B o1 - SIS REITE 4% WITE Cree Afofe
bommﬂmlaﬁawwmvcﬁwﬂmwmm
FS ST IR FAAMSAWITTRA? [CU: D-Unit: 21-22: Set-2)

A.83% B. 80% C. 9% D. ov%

mlgﬁ_imlm 3t Cher-q THIGREIR $% SITE = (1Xd0) B = svoft
T CreraTaTTe I8 =g = {(b — &) X vo} o = (8Xbo) B =wo b
o T T MIEATS I3 WITE = (dto+93c) ¥ = ¢oo f&

TE, ¥ 9 MR ACTS STeReIeR 72 W = (gx >oa)%=%%
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Bifids 1Q SUMMIT

22. wo «F o SPWiORr 9F W R WOEE F€? (CU: D-Unit: 21-22: Set-2|

24,

25.

26.

27.

.A' B. oo C. o8 D. 8o
ol B[] v a ] wet = weo . )
R, b0 ¥  WOT = $b TERR, &b T TEF =T =on

. AR TDTGR R T R WY 9 WIS O | R WS ar0 @ RIS 3

W TS F 7RI Y TS TA? [CU: D-Unit: 21-22: Set-2]
A v R B. 93 ffor C. 8¢ oo D. ao ffom

AT wemphEewrme=ar=> |
. Fafret g ot = (tm-x E) R = cva PR
. Tt qﬁ:mr:(qqax g) R = Yo PO

T =R, Rt x o Ty cpte AR S iTe = Q-0

HETTS, ¢uq: (SU3+X)= 9:0= 4 (BUHX)= 2 X GYI = DU+X= 8O X = ¢

Y Lx =) POR

C = +, D W x, B 97+, A W - T - 330B6A32C45D12=2 it
B Unit: 20-21: Sxt-A]
A. 525 B. 543 » C. 558 D. 563

9? Mmc=+sD=I,B=+t£ﬁ{A=-

e, 330B6A32C45D12=330+6-32+45x 12 R A
=5§5_ 32+ 540 =23 + 540 =563 .. FF T D.

P A +, Q WA x, R ¥ <, S WA - T - 18Q12P4R5S6=2 (U}
Unit: 20-2i: Set-D]
A.2138  B.2438 C.210.8 D. 216.8

» mmp=+,Q=x,R=+mS=-
oree, 18Q12P4R5S6 = 14 x 12 + (¢+5) — 6

=216+0.8 —6=210+ 0.8=210.8 .- 7% T==F C.

When asked in an one hour exam how much time is left, the teacher
answered that the amount of time left is -;— of the time alread)

completed. How much time is left? [JU: F Unit: 20-21: Set-A]
A. 10 minutes B. 20 minutes C. 12 minutes D. 15 munutes

v QEENT soﬁﬁméwmmlzﬁﬁ%.qﬁi 12 RS 5w

e |

23 x 1005 + 24 x 100° + 26 x 100° + 27 x 100° = TS7 (JU: D Unit: Set-B; 20-21]

A. 100° B. 100° C. 100° D. 1007
ol C)

U

E] 23 x1005+24x100% 26x100%+ 27x100° J

= 100° (23 + 24 + 26 +27) = 100° (100) = 100° (Ans).

28b



Rtz 1Q SUMMIT
28. 296x 296+2x 296x 4+4x 4=FSY [JU: D Unit: Set-F; 20-21]
A. 92000 B. 94000 C. 90000 D. 98000

RN C)lEkin) 87616 + 2368 +16 = 90,000
29. Soft FUR QMR 3db | &S Syt A 7 © QAN T T, ST RYTGTH TS
IS AT [CU: D: 20-21; Dsy-1; Shift-1]
A. Ny B. M. C.».¥v D. v

oft U AT = 33t 12l ST T © T FATT

TR © x Yo =vo | .. QUF Yofl MY AT = 3db + Vo = 38V |

s, U G = 38 + S0 = 8.1 |

30. W (x+3) (x—9) = o T, BT X GF NF IS [CU: D: 20-21; Day-1; Set-1]

A 9 - __B.9,» C.» 0 D. -}, ©

A Eﬁ@ THSH I, (x +3) (X—9) =0 |SREL, X +>=01|
A, Xx=—3| WRH, (x-9)=o0 ..xX=9

31. ﬁx:y= R:VINY: Z=8:¢TH,TIRAX : Y : Z =7 |CU: D: 20-21; Day-1; Set-1]
A :90:¢ B.x:8:¢ C.b:53:% D.8:%: %

B ClHER] x: y =3:9=1:33[8 wret3w

qRY:Z=28:¢ =53 : ¢ [0l ot 3] IORET, X :y:Z="b:3:d¢|
32. 36 TTGHIRS TOT o TR AT & TR @I o w2 3y STy 3@ |

TS WY R I Wy 39S T Sremigeitw s F Z@? (CU: D Unit: 2021,

Day-1, Set-1]

A. SO b8o WRF B. IO o M3A C. ¥/ 830 W2A D. TOIW ¢uo W3e
m O GO YR = o X b = dybo AN | SR,  TORT dubro
mw&wwwmﬂf%wrm’ﬁ:—“=vaoma

33. w.xﬂyiﬁwwmmﬁxy=>m§=>w,wx+yqzmw

[CU: D Unit: 20-21, Day-2, Set-1)
A R B.o C.» D. )

R AEGED| 7=, x aw y 7 wiae st | @ xy = 3; o, x =

BUNY =31 X+y=3+>=1.

34. x>y QR x <7 T, SR @IF FED T2 (CU: D Uait: 20-21, Day-2, Set-1]
Ay<z B.y>z C.y=z D. @ s

ol AR trewr s, x > y. @@ x < z. o, Srwar g, y <x <z

wRy<xd,y<z

35. 0.01 1o (0.0001)2 1B B1ECS TS o A7 (JU: B Unic: 18-19: Set-G|
A. 102 B. 104 C. 106 D. 108 ¥

WL

I 0. -2
Ll CHEI) 5000 = o = 1 X 1072 x 10° = 106

(0.0001)2 ~ (1x1

o83




Riisa 1Q SUMMIT

36. 300 X 30 =300 + 000 = 300 = ? [IU: C Unit: 18-19: Set-B]

A D B. qvo C.»% D. a0

w EJ][ 300 X 30 —300 + 000 + 300 = 300 X 30 —)oo+{?

= 3000—300 + 30 = Y030 —300 = IR0

—

37. 0.0 MM 0.003 G& F% ¢4 TFT [1U. C Unit: 18-19: Set-B]

38.

39.

40.

41.

42.

43.

A.3 B. o C. So0 D. soco

v ) () e =% = 30X 30~° = 30

25 X25+25+25-25=? [¥. T T R 3v-30: B5EE- & 0B
A0 B. 25 C.1 D. 50 -

B GEn 25 x 25 < 25+ 25— 25 = 25 X 2 + 25 — 25
=25+ 25— 25 = 50 — 25 = 25 a
.0} W Ifzey [*. 3T & 3r-3: BFR- K o))

A.o0) B. c.03 C. 0.00) D. o}

» B] E (0.3)'=0.3X0.5 = 0.0

GO (ST 3F T e o ume | I WINR RYT 8Y IR ATH YT 280 7,

SR TENE AT FE? (1. 205v-3, BEL: B, OF: 3)
A R B. 20 C. 8 D. ¥

R D)) <7, T 70T =x 4R R RGT =(8Y- %)
T2, 2x + 8 (8 — x) =380 = x + 33 (B¥ — X) =380
= =3 =3y - FTRGT =3¢ |

RIT 2 PEROT I T T WIED G FEAPT “GE X (10 T W

‘i‘ﬁ‘tm (wf: 303v-33, TofP: B, oF: G, f53¥5: ¢)
A. e B. C. 5

:

e A[dEED] 16 7o ez =8
gvom e = 41
4o cem =21
2 v oo = 1.7

D. v

.':Wﬁﬂﬁ(ﬂ“: 155

mmmwmmmﬂﬁﬁmﬁavmmw

L1l atmmbwﬂ?mqﬂvm (wift: 205¥-33, TSFE: B, oF: A, Fred: ¢)
A 18 B. 15 C.12 D. 16

el B G e et =n,,=6¢, = %;: 15
R FoATT I W T T R e T (G 6 Wb e

TLAY (wfk: 3034-5v, WEL:
A 2] B. 19 c23 D 137
0 7x6 __
"# BJ[ “mm:nfz = 752 =;a =21
S¢o



4.

wfsttsh [Q SUMMIT

€57 16 5 71 T80 MGfeTe oo gizAmT o168 Gt T2 U5 T WA (v
;-ts-:r.tﬁ‘:vo

A 12 B. 18 C.21 D. 15

el DEEK) 1670w comzz =87

Svom o= 47

4R cmm=2%

2R =117
LM aEt e =151

5. There are 20 members on a foot ball squad. In electing a captain and

46.

47.

48.

49.

50.

-}

52.

a vice captain, how many different outcomes of the election possible?
(CoU: 2016-17)

A. 760 B. 780 C. 190 D. 180

N O e me = 20,= =

During a certain chess tournament, each of six players will play with
every other player exactly once. Then, how many different matches
will be played during the tournament? (BUP:16-17, Dept: MKT)
A 12 B. 15 C.18 D. 30

6x5
mw_nfz_ﬁcz 1x2 =15

0.000044 =~ 0.11 =? [JaU: 15-16]
A. 0.0004 B.04 C. 0.00004 D. 0.004

'9.’, ] E 0.000044 0.000044x1000000 44 4
) 011 0.11x1000000 11:-(10000 10000

= 0.0004

0.001 T¥7= 0.01 = e TG? (InU: 15-16]

Al B. 10 C. 100 D. 1000

" 0.01 0.01x1000 (1}
Rl B 5o = sooii005 = 7 = 10

0.001x1000 1

What is the value of 7.9 X 105? (Ju: E Uait: 15-16: Set-C]
A.3,950.00 B. 79.10 C. 7,90,000 D. 790,00

R ClHEEi) 7.9 x 105 = 7.9 x 1,00,000 = 7,90,000

wﬁ-_qo 09 !?.T,Wx G 5 FE? (JnU: 14-15)

1 . 1

2

1 1 1 :

1= = = =

m SORi x 0.09 %% Y009 J003x03 _ 03

'ﬂm@lﬁ 5.93 x 10~2 9 5= [JnU: 13-14)

A. 0.0593 B. 0.00593 C. 0.593 D. 5.93

ol AR 5.93 x 1072 =232 = 222 = 0,0593

fsr @R AT 1 9= S_ew FeefRe (gou: 13-14: 10-11)
5 5 C 5 5
" (5+40.05) " (540.05)? " (5+40.5)2 " 54(0.05)?

0D




Pa5% 1Q SUMMIT
A

= | '“—"W v 5 3 3
- 1 R " '54(005)2  S+00005 50005
= =0.9999 = 1

53. J(4.5% 0f50) =2 yv: £2 Usit- 13-34: Set4] o
A 12 B.1.5 c.1 D. None
il B BEa) /(4 5% 0f50) = (so:-cm):ﬁ:;:i.s

54. 0.9+ 0.9 =2 w2 v & 3034]

A.0.] B.ccoy C.» D.s
=09

55. 2= Zmarases
A 10 B 11 C.45 D. 95

=Z=x=2x55=99

56. ﬁ:?fwmﬁ‘ 0.0017 ﬂ#{cﬂﬁa#mm as3a-ve]

A 0005  B.0.004 C.04 D. 0.04
' [E@ 0BG === ) %=, 0.04x 0.04 = 0.0016 =~ 0. 0017
57. Y100 — 64 =7 JU: F Unit: 11-12: Set4] .
A2 B.6 C.8 D.4
4 B |3k Vioo —64 = V36 =6
58. V100 — 64 = 1wt 303333 BF, OB o
A2 B.6 C.8 D.4 _

v Eﬁ!- Cni) V100 —64 =V36=6

59. /150 4% /54 o2 € FT? (v 332-33)
A 276 B. W6 C.96V/6 D. 6712

W Fcin) V150 = V25 % 6 = 56 @ V52 = VI X 6 = 31§
. e =56 — 36 = 2/6

]

c;.e :

-
R e

ey Nling e L L T S ——
TR R e ey v o
| ﬁ
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%anﬁmqwmmwm

| VOCABULARY
Synonyms/Antonyms

Pt e S

Annihilate (v) oo z21; 5% 231 AT €T 32| -
Synonyms : Eradicate, Erase, Exterminate, Extinguish, Extirpate,
Nullify,Abolish,Destroy, Eliminate, Obliterate, Slaughter.
Antonymas : Raise, Rear, Build, Set up, Establish, Found, Organize, Develop,
Produce, Create, Make, Manufacture

Benefactor (n) wreT; S&e%@ |
Synonyms : Donor, Fairy, Patron, Philanthropist, Promoter, Sponsor, Angel,
Backer, Supporter, Well-Wisher.
Aatonyms : Wrongdoer, Terrorist, Venal, Nihilist, Detractior, Evildoer,
Malefactor, Sinner

Contempt (n) §17; fFafE=rr §o; [72(%; e Fr

Synonyms : Detestation, Disdain, Disgust, Dislike, Disrespect, Loathing,
Ridicule, Scorn, Abhorrence, Contumely, Derision.
Antonyms : Amiability, Affection, Love, Like, Adore

Docile (ad)) fr1 qzzet wesra; farsfae; ohee; ang |
Synonyms : Obedient, Submissive, Willing, Tractable, Tame, Cooperative,
Domesticated, Obedient.
Antonyms : Reluctant, Averse, Opposed, Cautious, Shy, Bashful, Unwilling,
Indisposed, Loath.
Extricate (v) I% %31; *Nf& caat; €3 w31 |

Synonyms : Disengage, Disentangle, Free, Liberate, Release, Relieve, Clear,
Deliver, Disembarrass.

Actonyms : Captivate, Slave, Implicate, Mix up, Associate, Commit, Arrest.
Forlorn (adj) T=sry; «faemt z21; fammr |

Synonyms : Desolate, Destitute, Disconsolate, Forsaken, Abandoned,
Comfortless, Deserted, Hapless.

Antonyms : Moderate, Friendly, Democratic, Abandoned, Comfortless,
Deserted. .

bl e




SRis® [Q SUMMIT _ $

g Languid (adj) wysRY; Yy 1 ol v

monyms : Faint, Feeble, Flagging, Heavy, Lackadaisical, Languish;
Lastless, Drooping, Enervated, Exhausted. g
Antonyms : Dynamic, Enthusiastic, Energetic, Active, Animated, Forcefy|

Mundane (adj) "RR; TR TR
Synonyms : Terrestrial, Worldly, Earthly, Secular, Temporai.
Antonyms : Alien, Unreal, Spiritual
Revive (v) 53 W= 717 31; Sgr; ey 337/
Synon_\_'ms : Cheer, Reanimate, Reawake, Recover, Refresh, Reinvigorate
Resuscitate, Animate, Awake, Invigorate, Quicken.
Antonyms : Suppress, Weary.
Spurious (adj) F; fT; ©7; g

Synonyms : Feigned, Fictitous, Pretended, Sham, Unauthentic, Artificia

Counterfeit, False, Feigned.
Antonyms : Actual, Certain, Dependable, Factual, Authentic, Genuine, Real,

Accurate, Genuine, Honest, Legitimate, Original
Obsolete (ad)) R5HS; RBIT; OIS |
Synonyms : Effete, Old, Past, Ancient, Antiquated, Archaic, Disused,
Antonyms : Current, Modern, Contemporary
Trivial (ad)) 35 (@F; W; TGO |
Synonyms : Incidental, Inconsequential, Inconsiderable, Insignificant, Little,
Meaningless, Minor, Negligible, Paltry, Petty, Small, Trite, Unimportant,

Worthless, Commonplace, Everyday, Frivolous.
Antonyms : Essential, Far-reaching, Foremost, Heavy, High-ranking,

Influential, Important, Serious, Significant.
Utilitarian (adj) Seamams; IRIAF; I0T; 4T |

Synonyms : Serviceable, Practical, Sensible.
Antonyms : Engaged, Occupied, Absorbed, Betrothed, Busy, Engrossed.

Immersed, Committed, Employed, Involved.
Vocabulary e ofix $3S Res gfgtias Student Vocabulary JRMB Tt I

v foE e (01-03) ave RerrR e dey SRfRe os e srde 7w @

30 %0 & F[: [CU: D-Unit: 22-23: Set-1]

01. SENTENTIA
A. Dialogue B. Adage C. Proverb D. Maxim

eratv#a5=; 734 Dialogue ¢ 51omMt | W& Dialogue & =7 |

02. PLEDGE
A. Promise B. Agree C. Oath D. Vow

a8

o -][- EiLilj| sententia, Adage, Proverb, Maxim % ey e |



Rhifs® [Q SUMMIT

RS B)|3EiR0] pledge , Promise, Oath, Vow <% ¥e0 e o e
3 SRR | R Agree W€ 7ve gett | woUR, Agree s T |

. POSH

A. Elegant B. Dowdy C. Betoken D. Dispatch

o E]] [ Posh, Elegant, Betoken, Dispatch q¥ *YeTT WR1
whegs, Witfs, q¥zaw o @R | SoRfite Dowdy AT FB8, ST @&
I R | TSR Dowdy T 7w |

v T PTTR (04-05) T§ WTST WFT 78 0 THEF T G o G ¥
[CU: D-Unit: 21-22: Set-1]
H. RELUCTANT

A. enthusiastic  B. Hesitant C. Skeptical D. Disinclined

Ol A)|IERET) Reluctant- sfisgs, Skeptical, Hesitant, Skeptical. &%
¥ =% Enthusiastic-Sw, Energetic.
5. COLLABORATE |
A. cooperate B. Collude C. Oppose D. Concur

(el C)I9E0Ri| Collaborate- i@ %1, cooperate, Collude, Concur.
¥ R¥fe =% Oppose It Rt =1

v RT57 SPTR I QTS WER oW e dE T qw W @@ 31 (06-07)
[CU: D-Unit: 21-22: Set-2]

6. ENFORCE
A. Thwart B. Implement  C. Carry out D. Administer
o ] § Enforce (v.) "= W€ om0 @F ReA1e =% o

Thwart (v.)-U® | Implements7f ¥ Carry out-- ™ M
Administer-=f5m=t =31 |

7. DILIGENT ,
A. Industrious B. Hard-working
C. Careful D. Casual

IS D)) piligent (Adj)-1R=® | «x Retfie #%- Casual-wfufie |
Industrious-+f={; Hard-working-=f; Careful-y |

8. Which one is opposite in meaning to purchase? [JU: C Unit: Set-E: 20-21)
A. Procure  B.Sell C. Procedure D. Buy

il B )| IR Purchase Wit oy 33t | o Rerfie =+ sell ( RfaF 1)

Y TR erpTE (@ 09-10) IG ZITST WHE #FS W STNdE T w3t e woda

&I T N S FHI® FA: [CU: D' 20-21; Day-1; Shift-1]

' ¥. DRENCH

A. Immerse B. Inundate C. Rain D. Submerge
Sl A | FEIIEI) Drench o em 3 3t Rfty oewt | axr smides Rain,
submerge, Immerse. R¥ Inundate ¢z e1Re w1 | o} B 7 b |
pliqrq




10.

11.

12,

13.

14.

15.

kg% 1Q SUMMIT

MAGNITUDE ~
A. Weight B. Altitude C. Degree D. qlgnrf‘ca:w '

i

ol A G Magnitude =€ ‘fomeret =1 fagfer, Altitude w4 ‘S
Weight =€ ‘e, Degree w€ ‘Tiar @ Significance w¢ vy | ¢ox

Weight 15t e ez fezwm 2o cive fgy | o2 A 7fé B |
T ™ @ R (CU:D:20-21, Day-2, Shife-1] 1

A. Contemplate : overlook B. Pleasc : vex _
C. Wony : console D. Prayer: Supplication |'
|
A. Contemplate (" z=m : Overlook (Et=r#t 1) |
B. Please (*W® %) : vex (f7& z) .'
C. worry (foat =) : Console (T4 creur) I
D. Prayer (a1€) : Supplication («14)

Tl faw oz (B) e 3 ot |

e aepew (e 12-14) 79 Qren 9w aFe =ia Tk 70 w4l [e0 ué |
SENTENTIA I
A. Dialoguc B. Adage C. Proverb D. Maxim

»” BJ[ SENTENTIA *tsg = @7 | ‘Adage’, Proverb ¢

Maxim %€ 71 ¢4 217 | % Dialouge 057 =¢ FT4194 | (qEY @]
v e Ty wval 30 e dart i @i 14 e 79 | etZ (A) Dialouge| |,
T Af5w Bar | '

TENACITY
A. Guts ___B.Grits C. Steadfastness D. Physical strength

RN B [AGEi0) TENACITY o v *cat frgres wiboret” | Guts owa |
‘Tow’; Grits v wé ‘gf¥e *p's Steadfastness towa =€ ‘qyer; Physical| |
Strength *ow wd nhfew srwyer | e weReT ftE AT giew ¢, Grits| |
e fog | of?, A% T . . |
APPROPRIATE
A. Taper B. Private C. Piracy D. Tenure

O AJELT) APPROPRIATE "o o ‘sfiwtags/adid’; Taper 1| | |
o ‘Tamafe’; Private v o€ ‘@@’ Piracy *1t%a e ‘a@ wamw 3R ww| |
wfiara 70 Aeur; Tenure oo o ‘Tt 7t wfiata’ | y@ar Taper 97 o L
o fisgy | o1 % Bag A, .r

farsa 1AM @y (CU: D-2021; Set-1; Day-2
A. Eggplant B. Eggs C. Broccoli D. Radish |

-l‘gﬂ' (fem) gt Afwawn safer 0 | Eggplant we e,

Brocwll yoraf widiy; Radish- o1 | o2 7fa Saq wopty B,

WY
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H,

0,

BiRi% 1Q SUMMIT

4, Fs7 @AM R 1 (CU: D-20-21; Set-1; Day-2)

A. Request B. Recommend  C. Question D. Sequester

]E Request- w3214, Recommend — 771 %41, Sequester
- TG AT 34T | W17 Question *icwz o et w31 | Fzam C. 74 &7 )

fsw @AM et (CU: D-20-21; Set-1; Day-2

A. spill B. Meazl C. Seal . D. Deal

[ B)JAGiRi] Spill (verb)-#1, Meal (noun)- €@, Seal (verb)-
e 72, Deal (verb)- 76 %21 | 797 30 04 A, QA
9= B. Meal (noun) %% 21f% w1t verb.

e 1 (3T FA? [CU: D-20-21; Set-1; Day-2)

A.Table : Chair B. Refrigerator : Electricity
C. Laptop : Desktop D. Tea : Sugar

@ CIAEIED]| Table (Bftn) zom  Chair (owm) a7 fips)
Refrigerator (fre); faue (Klectricity) wer g 1| w@wM, Tea (1) 20|

Sugar (Bf0) v o717 7@ vy féador| f&w Laptop (1) e (et
(Desktop) @z =BG f&i version.

. fosr @AM =2 REMUNERATIVE [CU: D-20-21; Set-1; Day-2]

A. Gainful B. Lucrative C. Rewarding  D. Moncy
DAEURNS| Remunerative- ee@# | a7 9% % T Gainful,

Lucrative, Rewarding. &% Money "1vsz a4 ‘Srar" at af@aren cars fogea
frsa @AM e tr VERBATIM [CU: D-20-21; Set-1; Day-2|

A. verbally B. Preciscly C. Litcrally D. Accurately
m ARkl Verbatim o e ‘urefie o @@ e 19 g
Precisely, Literally, Accurately. % verbally s =€ aiftwera

feqrew |
ﬁtﬁmﬂmﬁﬂqﬂr OUTSPOKEN [CU: D-20-21; Set-1; Day-2]
A. Candid B. Reserved C. Honest D. Straightforward

el BIIEILT) Outspoken v wd =ioall; ax e 1w won
Reserved (*#17) | Honest =t#% w4 ¢ Straightforward w¢€ smmmyd |
fisw el frg 7 (CU: D-20-21; Set-2; Shif-3)

A. Truck B. Lorry C. Train D. Bus

Cll C IR0 Truck @), Lorry (vf), Bus (35 oot gont sty
UG | W17 Train (GE{E) GABTR O ST G RaH T |

fosa B @2 (CU: D-20-24; Set-2; Shife)

A. Idca B. Concept C. Isolation D. Nation

Cal C)[Ex)] 1dea, Concept, Nation ot qrs Svices s ar o

) | f8 Isolation ™oss o faceg | oig wee C. féda |
39
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24. FOR @0 R [CU: D-20-21; Set-2; Shift-3] |
A Hamlet B .Macbeth _ C.The Tempert D. Othello i
The'rempatwmmwaﬁiﬁwna@
Macbeth, Othello T CREMITR TS REPIEF 757 | T W1 Cuy

R W O T I
25. 0% &R PPN (CU: D-20-21; Set-2; Shift-3]
A Spot  B.Boot C. Clot D. Plot

»” B}E Spot (n). - w7 Clot (). — BM/]7Ee 59; Plot (mﬁ..
5279 | 2 Boot (verb) — iR =1 | e P B. fEd= |

26. o7 =R R PLEDGE [CU: D-20-21; Set-2; Shift-3]

A. Promise B. Agree C. Vow D. Oath
B i Pledge (n). — 3w | &% 74 " 71 Promise, Vow,
Oath. B Agree w3 w¢=7= 271 | ¥R W B. AFow <= &
27. 7z =@ &1t OPAQUE [CU: D-20-21; Set-2; Shift-3]

A. Cloudy B. Transparent _C. Gloomy D. Blurred
g— mi Opagque 7 21 | @ 7éE >z Cloudy, Gloomy,
Blurred. ¥ Transparent =% 9¢ 7% | SR =™ B. A0 0= oz
E5 2 75 QIR TR R SIS TGRS MReT (39 7 (2 28-30)

[CU: D-18-19; Set-3; Shokal]
28. TANTAMOUNT
A. Huge B. Highest C. Equal D. Gullible

Tantamount =€ 7w EH @R equal WE 717 | THEwR
£ huge:- 7 etiquette :- FoTm; Gullible -5 77 |

—

—

29. NAIVE
A. Rural B. Secular
C. Unsophisticated D. Sultry

v EEEE]] Naive :- @, Rural :- &1, Secular:- s, |
Unsophisticated:- %%f&, Sultry :- oAt | 75 o C o ANET |

30. DECORUM .
A. Ment B. Etiquette C. Parliament _ D. Slipshod

i) Decorum :- wire], Meril:- @rrel, Etiquette :- S52

Parliament :- %@, Slipshod :-R7% !
v B orE 1T Qe e e e ReRie TnE e = (2 31-3))

|CU: D-18-19; Set-3; Shokal]

31. KINETIC
A. Cold B. Static C. Lewd D. Foolish

v E]E Kinetic- #fe=f&, Cold- 511, Static- f&7, Lewd- S®iL,
Foolish-t@# | ,

blig g
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Qg 1Q SUMMIT

PUNCTUAL .
A. Close __B. Trady C. Sloppyen D. Precious

Punctual- >%%f3¥, Close- ¥, Trady- 2, Sloppyen-
%, Precious- 38377 |

v

VACILLATE
A. Decide B. Teeter C. Dilate D. Please

»w Vacillate- fexizrg zezt, Decide- & Gz, Teeter- 301,
Dilate- #AR=TZ 371, Please- 5§ |

ARALOGY (21t7)

Ry - B Avmieuies ]
r "

word: antonym

Analogy FTAZ T AT A1 AP CeT | 9T 40 7 9T 1 31 e
g o A1 et Jra o e v | ey e oo e sar s e e |
@3- Quantity :Unit 31 387 R,
Product: Raw material;
Worker : Working place;
Male : Female;
Worker : Tool;
Part : Whole;
Word : Synonym /antonym;

1 T,
ST & FIEETE;
o 1 ofzerf 2 Ay,
5 1 AFEE etc.

d e Analogy o e e fum %, ot By @t wrpiaet w0z sy 2

b AR RS H

e 2TaE 2 SR 1 g TR Ao iy e 7R | Te e o

22 IS, TS FE T ([ T WA |

Ex: Tiger:: Zoology: Astronomy [34 th BCS]

37 A4 CETG] a7 G20 AoE @3 TH o1 1 onew @ o1 ey
EZEeTR AL A (I I O T AE TS Wzt wena fow 3w |
Ex : Bouquet : Fiowers
A. Forest : Trees B. Rose : Maple

C. Woodpile : Logs D. Dnft : Snow

bl




wiid 1Q SUMMIT |
@dmﬁ(mmwmmﬁ AT (eBTW / Ty ks |
COUW| INTE 3, WA P I SRIAAT ACUCE |
Ex : Embroider : Cloth
A. Patch : Quilt B. Chasc : Mectal

C. Carve : Kuife D. Gild : Gold =1
FETRRRTR ¥t et wrt® ST #1MC% €0, Analogy ®T2 €9 om0 C¥ Pary; |
of Speech oty fawy Tmemiee g% Parts of Speech G7T «€TC# |

Ex : Pilot : Ferry [DU,Unit-C: 2007-08]

A. Plumber : Pipe B. Carpetbagger : Carpet

C. Teacher : Chalk D.Physician: Heal
* Analogy 24 ity 44 s §htds ENGLISH 2810 vmact A

c). ¥i1Bb119 1

T W 1 M| 1.5 ¥, Y
» | mvﬂmﬁ*ﬂﬂﬂﬁﬂw @w 3%, b, B, T, o et
mﬁmmswm.
o3, fafe 1w s sgerey
"ﬁ“r" Y, faden s, Bt vy, Ao

P[] vt ‘eafs’ e @t SO ‘el A TerT T
WMIWWMWWW; mﬁﬁmmﬁa

wfefer g A |
09. Root : Stem : Branch : ?
A. Trec B. Bark C. Leaf D. Blossom
el C)lELij| Mewa (Root) e A e (Stem) T THE N0
(Branch) % e =2t (Leaf) o7 51 |
o8, Shrub : Prune
A. Beard : Shave B. Hair : Trim
. Lawn . Mow D. Wood : Shear

ﬁmwwﬁwﬁrmwmfﬁwmwﬂm
Wrmrun w, Shrub at o w8 SRTH SrCHler wet @F
&% T Prune | G GO A St WG cpeiee 2o & Trim |

oe. Triangle : Hexagon
A. Angle : Quadrilateral B. Cone : Sphere

C. Rectangle : Octangon D. Pemntagon : Heptagon
I C[IEEi) v v wogee fargrers ot e g Wi |
Rectangle 1 vg§me fud 5iees® Mg W€ Octangon 31 WEFTH |

ot, Water : Convection : : Space : ?
A. Vacuum B, Conduction

(' Transference D. Radiation

Mo

—
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S [Q SUMMIT

mmmm:(mm«ﬁmmwmm
2T 70 | weE e Convection 3t “fiswa #%fers meiors ox | W Space
T W 21 Radiation 41 fafaset eenfore swrfore o)

Food : stomach : : Fuel : ? _
A. Plan B. Truck C. Automobile D. Engine

D---—-—-«

L) ek «ms #fare fite am wz e yerfaos ofes

Fatl

wfere fire o0 |

Dog : Bark : : Goat : ?
A. Howl B. Grunt C. Bleat D. Bray

e C|4E0500) 7307 517 Bark; wia Bleat zom wpitw 1% |

. Museum is related to Curator, in the same way as Prison is related to

A. Monitor B. Warden C. Manager D. Jailor
B D | E0n0]| emiecas wificg «ias faft o Curator 291 T | commi=R
Wity diee faf3 ez Jailor 71 7w |

Horse 1% Hoof «@ 14 s=f&w ¢3, oA Fagle fAtsa @by e srf&er
A. Foot B. Claw C. Leg D. Clutch

B JAEIRII| Hoof 1T 70t 47, WA claw W07 200 9RT | (IGH *11 (% 3

A0 I BTN AT & 1T A0 |

Fire : Ashes : : Explosion : ?
A. Debris B. Sound C. Funy D. Flame

EE]| we+T fATS Treur o7 7fieTe 9ot gon WE a1 Ashes O 79%%

@1 Explosion 31 Regmem @ #fiers wet, Debris 31 womom

Winter : Hibernation : : Summer : ?
A. Survival B. Activation C. Aestivation  D. Cache

C )| 4EL 1] Fre= quez 201 Hibernation 41 hexrvrer i Ao

ETF ¥ T Aestivation |

v st s s e e
T, AGrer ¥, YT W Wfiare o, gfem ¥, WM
o [ EEEn) =P it s o v wiaTe R o S e e |
TRt 2 BreaG s ¢ ewr 5
7. M1 o, famrerm o, s Y. oTal

o Cl R R E R S e———
fererear art =ew |

Ruling : King : : Learning : —

A. Book B. School C. Scholar D. Teacher
ol D LRI sren =i e s ez v | i 1 Sew D |
MM




01.

02.

03.

04.

05. Cardiograph : Heart rate :: Thermometer: ?

06.

07.

08.

Qe [Q SUMMIT

RS g SR

Smile : Amusement *%-TSIGRN AP *¥-T8G: (JU: C-Unit: 22-23: Set-J]
‘A. Angry : Happy B. Animal : Zoology
C. Tragedy : Hero D. Yawn : Boredom

m HEIkI] Smile (WFR) St Amusement It <= wfee | Nﬂﬂ
Yawn (TXreM) @ At Boredom 3t #1f¥ Ftwesugs |

Ship : Harbor- ¥-T8IGR T *¥-T8M§: [JU: C-Unit: 22-23: Set-L]

A. Car : Garage B. Human : Heart

C. Examination : Teacher D. Sea : Port

P A)[H i) Ship (s, Harbor 31 Ters cines ; % coxfiom

car AN W Garage (*0T0) @ |

Vaccine: Prevent *%- (ST9R 71 *%- (|[: [JU: C-Unit: 22-23: Set-I]
A. Wound: Heal B. Chaos: Disorder

C. Antidote: Counteract D. Diagnosis: Cure

m TG0 Vaccine (B3 firr Gt afdwny =1 & 0% cexfem]
Antidote (2fme%®) RSy ol Counteract (FFIEA F3) |

fArsa T (04-07) S 1S S ¥ [CU: D-Unit: 22-23: Set-1]

Boxing : Ring :: Cricket: ?

A Track  B.Court C. Deck D. Pitch

Boxing ¥ & Ring &% 309, c=3xf¥ Cricket (¥ @

Pitch ¥ T00 |

A. Temperature  B. Pulse rate C. Scale D. Pitch
o l E Cardiograph ¥RT Heart rate ¥ ¥+ T, ceR
Thermometer W& Temperature W€ =T I IR =71 T |

Court : Law : : Society: ?
A. Rules ____B. Custom C. Act D. Ordinance

o ][ Court ¥ &%« Law 3 W& WITE, cexf3 Society ¥ [ic1s 8201
R a1 Rules.

Hotel : Manager :: College : ?

A. Waiter B Dignitary C. Anchor D. Principal

w" | DJJ3Ei) Hotel @@ &%= Manager ¥, College < =X
Principal.

Delete : Deleterious :: Expand:? [CU: D-Unit: 21-22: Set-1]
A. Hamful B. Fecble C. Expandable D. Mysterious

> J E Delete (31 (fe): Deleterious (%fo%w) wée » =3 fef w.
cezt e | BT Expand (3% 31): Expandable (3€amn) T ¢ T

MR

|
i
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RIS [Q SUMMIT
Apprentice : Master :: Pupil:? [CU: D-Unit: 21-22: Set-1]
A. Employer B. Teacher C. Loyal D. Young

B )[IEE] Apprentice (Premfr): Master (Pree) s @ty
QR | ST Pupil (Fred): Teacher (Free) T A Bew)

. Audience : Seats :: Crowd:? [CU: D-Unit: 21-22: Set-1]

A. Goalpost B. Podium C. Stadium D. Fans

m Audicnce (%) : Seats (W) e W% ST 30T ST

BTSN FW | (TARSIE, Crowd (&et) : Stadium (FORAM)- @ ICT ¥
TSI I |

Kangaroo : Australia :: Elephant:? [CU: D-Unit: 21-22: Set-1] .
A. Africa B. Brazil C. India D. Thailand

8 D)|3EINN) Kangaroo zom Australias w8 9| ceRfsia,
Elephant T Thailand- % @iy #v |

. Appearance : Affection :: Beauty:? [CU: D-Unit: 21-22: Set-1]

A. Taste B. Fragrance  C. Joy D. Happy

Appearance (T5%31) - 00 SIFRF (P10 €0 | (BTSN,

Beauty (CW=8) S w== o7 |

o5 epTgeR (13-16) et &% TP P 0B F: (CU: D-Unit: 21-22: Set-2)

- Preparation: Result:: Baking:....?

A. Juice B. Cake C. Maze D. Carrot

P

JEUKT}| Preparation (2%f%)-3 e Result (wre) i | =

®WASIE Baking (WIgH) 3 Cake Moft 3313 |

A. Ambition B. Contempt C. Bother D. Affection

0] Dream () @z Reidie Tt Reality (amen) | e et

Hatred (M) 9% fR>3i® qoam Affection (STRTT) |

. TRT: BEw wicHfdE:: W,y

A. afem B. 3wt C. vt gfrgr D. 3Tewafemr

JEILH)| re1 (NAFTA) @@ ffaet 2o North Atlantic Free
Trade Agreement T ¥ex wisfeaw of6 oo (g, wHret, ) a3

TR @@ Affere 5 | WA (SAARC) oo st v g oS cieetr
(FOFR 7 Tgaw = fe Jeyy |

A 26 B. 50 C. 21 D0

Ll C) JRIL0) 2wfe ot 26 & Alphabet <% Y00 Vowel zom 5% GE

Consonant 21 f5 |

Son : nuclear :: ? : extended [JU: B Unit: 20-21: Set-A|

99
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Ridd® IQ SUMMIT

A f“cf ____B. brother C. cousin D. daughter
L ] HEIET| Nuclear family @@ o e zen <% 'lfi'ﬂ;;
Extended family <z «ffRem gom ciiwt (31 | qa% AR IR0-T0R A 7
ST G 4 o Rt | SFficE Extended 31 G 1R -, BIOTTT SRt
M cousin AT I PRI IF |
18. Native : aboriginal :: naive ___? (JU: B Unit: 20-2i: Set-D]
A. lcamned B. arid C. unsophisticated __ D. tribe
ROl R [Aixi5] Native 1 3w W& aboriginal W% Sifiify 3t vy
23T T | (SIRSIA naive (577 43 NS TF arid FF) | |
19. Flow : River :: Stagnant: _ ? [JU: B Unit: 20-21: Set-E]
Rain B. Steam C. Pool D. Canal
RN O3] = (River) 7 @< (Flow) 3t GI1® «ie | R (Poal)| | |
AT T I I e ; +F A A Stagnant I R |
20. Fossils : Creatures :: Mummies : ___ ? [JU: B Unit: 20-21: Set-G]
A. Egypt B. Humans C. Animals D. Martyrs
R A)JHEi0ki0| Fossils @y 2ot et t ©féw (Creatures) =M wfare]
TR T G M Q@R | S Mammies (3%) 2o 25 e friew

—

(Egypt) Tratete 3T |
21. SR : T 2 ES:? [JU: C Unit: Set-C: 20-21]
A. 7o B. WP C. T¥R D. W=

RO R [ 3] e et sireey G 5 SR SPY SIT T4 |

22. Mind: Thinking :: Body :? [JU: C Unit: Set-F: 20-21]
A.Cry B. Feelings C. Smoth D. Extension

RO i) <! ¥ fice 1 3, "fics¢ O Feelings (%) T

23. School : Students :: Shep:? [JU: C Unit: Set-J: 20-21]
ATV B. Rice C.Egg ' D. Goods

ﬁmmm—rﬁnwmw“m]
24. WMt : A :: AP (JU: C Unit: Set-J: 20-21]

A. T3 ___B. SwgErE C. 7% D. Wig _
wwﬁ-@;ﬁwmmmﬁwwm TrSIER,
ST T Al M/ |

v e 2P (2 25-27) P P T F9: [CU: D: 20-21; Day-1; Shift-1]

25. Nation : History :: Man:?
A. Profession B. Intelligence __ C. Biography D. Friendship

mhﬂh (Nation) M¢ 7 ¥z (History) r=if¥e, &3
cexfaera, XIqed (Man) 93 Y oR W4T (Biography) sif¥® | =i% (C) ¥
Tex

u8
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16.

1.

8.

9.

30.

i

3.

33.

34,

Rt IQ SUMMIT

Virus: Resistance :: Fog: ? o
A. Obscurity B. Visibility C. Rigidity D. Flexibility
RS B |5 Virus . amm ey (Resistance) 31 I, (3o

Fog (F™N) & w47 (Visibility) =1 3m |
Judge: Verdict: Mason? , L
A. Forecast B. Office C. Departure D. Building

RS D |4EiRT| Judge (Ror®) 31 (Vendict) ¢ Wi Mason (FTefifa)
Building (Rf&y) w3 3w+ |

A6 PR (@t 28-29) STt YoM ™ F9: (CU:D:20-21, Day-2,Shift-1]
¥ : O @A o2
A. o3t B. 5317 C. affmr D. @

R D [HEiin) @t st “ape’ st Anewies S e |

AT 515 Motefer SR
A. TR I B. TiEmw (gt C. 3 Fawe 39 D, TEEY WIRAm

RN Cltni) ‘Trotefr s@ed Stgea ondt Wi SERAAT 6 Tow
FIITTR 1T | '

1% : Wi af* R - S : 7 [CU: D: 20-21; Set-1; Day-2]
A. afsmt B. 3/t C. vt o« afimt  D. Tewafmr

Ll C 3 EI0ET] SAARC zoat vt afétr «@efd siwefirs staraifiet st | i
ASEAN (Association of South East Asian Nations) zrt vt «$ aftai
G0 T o T T SR St e |

| ISR «¥s= Doctor (e5%) ®R @itE  BRTE

Doctor : Prescription :: Author : ? [CU: D: 20-21: Set-1; Day-2)
A. Steel B. Publication  C. Celebration  D. Novel

(Prescription) T7| SR ¥ oT4% (Author) R FRe X erit
(Publication) ¥ @It Wl ©f%0r (7 | WH- WHIMe ARF I8

AT ATt PPt fomr it S iews St eies |

Mansion : Residents :: Bus :? [CU: D: 20-21; Set-2, Shift-2]
A. Dissent B. Stone C. Passengers  D. Desire

O ] HE0RI}| Mansion (SU1FRT) & Sy M (Residents) 3 | Wi
I (Bus) faow 7@t (Passengers) S0t 36 |

Cardiograph : Heart :: Therinometer :? [CU: D: 20-21; Set-2, Shift-3]

A. Scale B. Pulse rate C, Breath D. Temperature

Sl D [T Cardiograph for 2 (Heart) 3 3t ao~i ot &7 ||
W Thermometer Tt A St (Temperature) MR T |
Yield : Relent :: obese :? [CU: D: 20-21; Set-2, Shift-3)

A. Stout - B.Ugly C. Resilient D. Story

e



3s.

36.

37.

38.

ghitds [Q SUMMIT
il AN Yield s w€ 7w weut 3t T WAt 1 Releut won
T 1% | % =xfeF obese WE TN PR W AT % Stout.

Boxing : Ring :: Cricket :? [CU: D: 20-21; Set-2, Shift-3]

A Pitch B. Track C. Court D. Dock

R A3 Boxing (< cem)-x i o @=f® Rf® rew (Ring)

CUTF (WS X | 5™ Cricket TR @ 3 Toam {2 06 Pitch—a% o1 cvre 2y

(T TR, SRFST ATWT T (R 205v-30, B B, OF: A, Feb: ¢)
A RR:pe B.Grenre: 8w C.IF: S D. %439 : Tg

»” E]E QYT R T3 WK | CIAEPTTS SHIE T | TR

TR LS WK | Ry 130 TR ¢S M 1S A=FTe A |

G T 7[4F? (wk: 203v-39, B5F: B, oF: G, el <)

A. Sun:Star ) B. Moon:Satellite
C. Jupiter:Planet D. Rocket:Space

R D [3E500) if <=f ot 1 @ T | ST 3 4% | TR @z
T T T A o | e @ D.

@R TR YT ATET Y 77 (wR: 203v-33, BF: B, oF: G, Fwdi o)
A. F5:7e B e C.®mwemRE D, et

O [Fen) e o < wiee | By e B <t | e
ooz 21 <z | R Fpe o1 WP ST *10% |

. (TR RO WYFTT AT TP (wR: 203v-30, B: B, oF: ¢, Fwd: 3)

C. sTefaaidr : @eq D. wi3F&A : §mES

N CIC) Pree o o | Rt SREE ¥03 | SRTa Se
<% | (Y TR TREIE @O Y A (7% % R RfFw wrer 7 |

40. SRE: TSR, INT 3 (3: 203634, BF Y

A. farafa e B. GYEeER C. Swret D. T2t

7S Ea 39T 1 T | 30 AT o |

D JHEin0)] T T 4% Ol (40 S ST S | S avi

41. o : afares : 1T : i 00v-», BF: D, 001 Y)

A. wfare B. TR@E C. o= D. T4 TIRwHEE
mwmwﬁmmmﬁtﬁmwmﬁm
wYTE A7 |

v oz ool e qerare] 1% I | <X (aTgR Y weifte Aty camer W
T T2 (27 42-44) (oR: 3033, BT Y)

42. Peace: Chaos
A. Creation: Manufacture B. Creation: Destruction

C. Creation: Build

D. Creation: Construction
b




A 4

[N
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~

Qi IQ SUMMIT
* | B)|AE0KI) Peace- =¥ ; Chaos- fpeter wfe e | Creation-

Destruction- ®¢T, e =%

. Horse: Mare

A. Fox: vixen B. Duck: Geese C. Dog: puppy D. Donkey: pony
R A)|FEIR10| Horse- st ; Mare- caft®; e firr | Fox- oo ;
Vixen- &t *1f&fram; R foer |

. Ocean: deserts

4.

46.

4.

48,

9.

50.

A. Waves: Dust B. Waves: Sand Dunes
C. Ocean: Ripples D. Waves; Sea

.8 B)|3E0ET] Ocean- 3w ; Deserts- waef Retdie =% | Waves- &8 |

Architect: Building :: Sculptor : ? of: 10sv-3», ¥ D, o: e fewm)
A. Museum B. Statue C. Chisel D. Stone

» E]] E Architect- g1, Building- Rf& | Sculptor- %

AMI%%4, Statue- S%¢)

Painter : Brush :: ? ofR: 203v-3», 3368 D, o8: <; Ram)
A. Magistrate : Police B. Crime : Lawyer
C. Carpenter : Saw D. Cloth : Scissors

o i Painter- /& ; Brush- ¢®; Carpenter- 3@, Saw- 321% |

Prose: Poetry :: Conversation: ? of: 203v-3, Bf5: D, o%: < frem)
A. Song B. Poem C. Language D. Listening

w"'E AQILI)| Prose- a@s  ;  Poetry- ¥, TR, 7|

Conversation- 9Rref | Listening- =3¢ |

EIm: Tree :: ? (5f%: 2o3v-3», WaFM: D, o0 o; fAwm)
A. Oak : Maple B. Dollar : Money
C. Currency : Dime D. Map : Leaves

o E] E Elm- RTER 9 @ T¥ | Tree- "Mg| Dollar- 5|
| Money- 9 9 (IemTa=) |

Socks : Foot :: 7:7 (53 205v-3», 03f®: D, oF: o fewm)

A. Neck : Tie B. Lace : Shoe

C. Stocking : Arum D. Map : Leaves

»> ] E Socks- ciren, Foot- 1, *a *meT | Neck- &1, ¥1g; Tie-

o e e g

Patron: Support :: ? : ? (R: 205v-3, Tf5: D, ofF: < 3em)

A. Spouse : Divorce B. Restaurant : Management

C. Counselor : Advice D. Host : Hostility

v [ ALRi)| Patron- 3F/A#=ef, Support- €71 Counselor-
0781, Advice-B¥Ta |

nq
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51. Cricket : Pitch::? :7 o@ 03v-3», X8 D, off: o 7rwm)
A. Ship : Deck B. Boat : Harbour

C. Wrestling : Track D. Boxing : Ring
m Cricket- f&3%, Pitch- 5 | Boxing- 3R | Ring-mﬂ
52. Toxic: Harmful :: 7 oft kosv-3», WF8: D, ot ©; wmn)

A. Tron : Useful B. Police : Awfully
C. Gay : Chcerful D. Cruel : Jouful

Sl AJ|AENT) Toxic- Rare, Harmful- *R37| Iron- o1y, Usefﬁl
ST |

53. Fish: Water:: Tiger:? fom e f: 1038-3el .
A. Deer B. Forest C. Zoo D. Flesh

mﬂ]l Fish- Sfg, Water- %1 | Tiger- q19, Forest- & | 7
- SR R B 28R ST Model Test (30 MCQ)

0d. (A0 G (ATF W#Wi?
7. (SRS 9, I sf. qrEhife . Hfaw

0y, (I TR AE *wewr fAri= Iwr

R, 7, 7, 3B, R, ot ‘
=377y 3Ry TIFTTIRNIAY  WIYITMAE

09, TR ICT QRH-
%, yify ey <, SrEmee! of, 1 T ¥, At oirgfy
08, FUF M *0F PR-

Ll

=, 7@ YE! ICIR AN T ¥, T I R
o, THF AT ¥, QeI (ot azet
oe. S ey Y a3 L iy e gor M o 3t 31 I I e
7. fedty, wéi ¥, Ty, 5ud sf, "1y, ¥ ¥, 599, ey

o, W T A © e et | I T ceeT R i e cee T | ¥ e
w6

Z, Big 4. T of, =T v. oIy
o4. White Collar is related to —.

A. Fabric B. Well-dressed C.Manner D. Professional
ov. CIEEERSSYV qwmee wes famy sy e 157 330t Fosw 1o siféer

A. Receptive B. Recessive C. Recession D. Reception

on. ‘@ € GT A ¢ G A A QR | T -G GR T -G oW | SR -
e ‘-7 AE
A ‘=gz ew'y B, F-aramt'd  C'F-@aA'y D.'w-ag Aty
so. ‘ayToeE weTE Wrel stfery Bave FAE-aR AT AT e I3RS TAR

7. WAy A QRIS <. SIS P47 @RIt
of . WAFE G QATS ¥, ¢MER Y9I @RITE 77

o
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Rftdsh IQ SUMMIT

@D R.5: Sivt fRct Rt G0 3Rl ol Gt 2t gy o @D

[o3.1 [0 ¥ [ 00.% [ 08.% [ 0¢.% | ou. % [o%. C | ob. B [ 0a.D | 30.% |

o, [AITOL] ST CICR S SR A AR o e A

o o] v *rew 51wy fRer- 3 I g

oo, [FOrOL) TN ICS o1 et T |

o8, [OTROTY T OGN S WGt FREUR ST FCS AT |

. S (5T, L (%), U (¢%), K (8¢) 3[@aR M & ¢ 31 &b YT *3rwt 3=t
A |

os. [orei) T ¢ e Fret— wrmi | ¥ ot cvw, o o1 W ' =,
ST 0T |

o1. [Xzrr)] White collar- &€ @etstitt cormi @1k Profession T3 |

ov. CIEERSSV et it Recessive % %67 41 T |

o>, [FTOTY ¥ I o 0 TR ORET ¥ e W, T I % SR O F AT G
STy |

so. [T OTY 9RIC, UT0ER ©IST W g R QIR T |

SRRtz RRAICER C RS SIMTT Model Test (o MCQ)

o). S0, }], BY, B8 ......

F, B ¥, dbo 5. %o Y, 203
o}, FTULTTE > Fe? '
Disease: Pathology: planet: ?
A. Geology B. Astronomy  C. Anatomy D. Palentology
00, (P *IMOBR SSYITT T Wl sy
T. 35w, o, W, aw . SO, W, STevE, WieaRg
of. Wi, wFe, W, Wiy ¥, T, Tg, B, Ty |

08, WIRFAAIA @ REMETR TR @ 7o FRe5w cator HfPicertst o % e 5w
o A
¥, CTETTG: We oA, AEW FAW: AEATSS W
o q@: G : 9, Qrat: 3

o¢. FACF I A, ICRCE A, A ey, Ffores g G TYCF T I SIT T
TR FG TS F| JIFS TA?
3, qOR <, A . 7Y . afH

ob, WITHHT 1A COTH ¥1NT | RAT IR (BT AN | T WOz W50 <1edt | Rt RSRr
5T STCOT | AT ST (6TH 7IRT | U S0 (& 519 5130 "™y
T, Wil AT o, ST 9. M\t

B
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oN. TR TaTH arvoy @l crowa WA | TR 21 AA-NIoHE @ STaT | A #hy
», fifoe mowe o fifma covm o1, fafe tha v, fafora croua

ob. "TUUH 1 Ml qar 63 W3¢ ¥4 ok 500 1 0o38H 321 ...7
¥ 0 Y. ¢38» ", 348 ¥, @3S

od, Statement: Moncy plays a vital role in politics. Conclusions: T, The
poor can never become politiclans. I1. All the rich men take part iy
politics.
A. Conclusion | follows B. Conclusion II follows
C. Both I and II conclusions follow D. Neither I nor II follows

so. Which mood Is evoked by the following sentence?

“The baboons’ plaintive cries plerced our hearts ...”
A. Determined B, Hopeful C. Optimistic D. sad

@D 2. 4 Tt Rt Rty 0! 2 = A i At syl s D

[o5. 4o B[ oo [ o8 Y[ ot. W] ot €] 087 [or.C [ on. D | 30,D]

0). @ NI, 30433 = 39 394+38= BY; BUHBY = 58; dB+vb =dho,

03, QuIA, Panet: Astronomy.

oo. [AiY 14 el | wfeure aew 79 (<) | |

08. mmﬁummmmwwﬁmu

o¢. [AMLY #"1¥ 102 A 7% € P ATHCE o A 6171 T | T 1T e
#ifoy wrage A |

ob. [urar] wrewar>Aeft, T Hc, paf% <aaa, Art<2AT . ATy N & |

09, ﬁﬁmm—mwmlmrﬁm'mmmwuﬁﬁﬁw
1 faafew 7w o1 e @ GiE | e Wi et cirew | W4l et wiwe e

ar | wre wfafb fafes wow
ov. WM’!WW nfandy w0 ¢, 6, 4 @7 A TN e Tg 2 &

w3 e A @2, 1A v 7 7 68 OI% 2368 |
oM. mam,wmmmm|m, wiraat arerfefAg @z

e A G A WA e a2 9t 2 fadn
So, @ Plaintive- qree® 2% sad mood 77 |

SEsREAT RyutEryd D BAwa wwor Model Test (8 MCQ)

03, @ WieTE GRTE @@ &g W A TR SRR AR W WA G e |

wfenfbz wre omefba € ¥
A ¥ B 1 # C. @ D. @

%0




v : R |

Wz 1 SUMMIT
») A Afa Ty ad g w5 212 w21 wmr
. A. mitionread B. tionmired C. missionred  D. misreadsion
7, OO mm%m,wm&_o%j

% vo %, sto N, oo ¥,
A4, COIRVE ATUE CNAZ B2 (%= o oy ceravs T enp
%, " 1, I ", A Y, AT A

@ . 5: 2001 () vt 8 2231 78 A s 2pans w4 G

oy, [CoTL) IR A GG o AT A, O et i, onahe w1 ara
7141 212 o 21g efz 7y |
o Opllun C. % oz Red mission =% 2% %21 777 |

he
A< = S—=
2. [RT) 220 @ 2a% = o30% —=Vvo

WEAT, X A 0% =0 = XX— =Yoo = x=

2 2o

. [AGarul) co A0 AR A | B <7 7 SRV W T (TR GO |

S RraRtersd IBA ZeRB7 wor Model Test (¢ MCQ)

§. A train takes 10 seconds to cross a pole and 20 seconds to cross a
platform of length 200m. What is the length of train?
A.400m B. 500m C. 200m D. 800m
. At the end of a banquet 10 people shake hands with each other. How
many handshakes will there be in total?
A. 100 B. 90 C. 50 D. 45
3. The day before the day before yesterday is three days after Saturday.
What day is it today?
A. Friday B. Monday C. Tuesdzy D. Saturday
A man is asked what his daughters look like. Het answers, "They are
all blondes, but two, all brunettes, but two, and all redheads, but
two." How many daughters did he haye?
A.3 B.6 C.5 D.4
5. Three of the following four are alike on the basis of their position in
English alphabet. Which is the one that does not belong to the group?

LR

= X=8oo

=

S

A. WZT B. KNH C.RUQ D. DGA
| o1.c | 02D | 03A [ 04A | 05D |

} 335
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55 ReRatetar D aﬁﬁmw Model Test (Qoﬁr‘ \Y (e(0)!

01. AZ BY,CX?

A.EF B.GH  C.U D.DW
02. QPO, SRQ, UTS, WVU?

A.XVZ B.ZYA C. YXW D. VWX
03. Wb YR 7% TR 2x-+1, I G YT x-2 W, O WU Y Fe7

A. x+] B. 2x+2 C. 3x+4 D. 4x-1
04. I3 AN @17 SHCT TR dbr X017

A. 724 B. 24/98 C. 12 D. 7/12
v  osw epefice Rerpt Wik @@+ (2 05 - 06)
05. A. football B. cricket C. hockey D. chess ’
06. A. IMF B.ILO C. UNO D. ADB

v oz emm fReidiends = w1 2= (a1 07-10)
07. COMPLIMENT

A. insult B. complexity  C. inaugurate D. verify
08. MASSACRE

A.mass media  B. interfere C. coopcrate D. nurture
09. SEVER

A. service B. join C. fear D. domain
10. SENILE

A. young B. yean C. castigate D. revile
11. %" GIOR efere 1 - '

A. Panacea B. Remedies C. Medicia D. Cure
12. & fafst ¥ Contiguous T¥, O 4fb T3-

A. A Neighboring Country B. Small Pox

C. ADrug D. Container
13. Prmamfer gy

A. THEH VI GIR B. S fraame @t

C. T T e D. wgmiEE fawr
v 5 T R o el = ek ¥ (o 14 - 15)
14. AUTHENTIC

A. Adept B. Counterfeit  C. Brief D. Open
15. REVIVE

A. Slander B. Awake C. Deaden D. Praise

16. ‘Although he is poor, —-
A. he tries to help his relatives as well
B. he tries to help his relatives C. but he tries to help his relatives
D. he also tries to help his relatives
17. The antonym of alien is

A. imigrant B. ncar C. native D. exotic
1. The meaning of the word ‘SUPPORTIVE”’ is
A. active B. helpful C. dangerous D. aggressive

2R
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(9. The teanantsare asked to throw all recyclable trash into.
A. the green big bag plasticbag  B. the big plastic green bag

C. the big green plastic bag D. the green plastic bid bag.
30, It is important that the admission office _ your registration.

A. confirm B. confirms

C. should confirm D. must confirm

01.D | 02.C . o ; . 08. . .
11.A | 12.A | 13.B | 14.B | 15.C | 16.B | 17.C [ 18.B [ 19.C | 20. A

01. @ QRIT, e T mmmwﬁA 3 Y ST TAPACH ST

T Z, 33 3 B 971 et Tt wrrpie a7 f Y aq on 3 C g7 A TohT

TP ¥ 3 X e g | o sradie 8€ af D« e Srot araies
s€af Wz

02. [Rorag) @4, Iferane fRedre wurpime e e OPQ & Retdie o
QPO, QRS & R*fie T SRQ, STU & Re@e wewr UTS, UVW &
R T WVU B e 1 o) WXY @ Rl ard YXW o Zag |

03. Xr) 7o e e (2x +1) 7o, FR=2(2x +1)
SRERT=22x+1) - (x—2)=4x+2-x+2=3x+4

1. [AeaTY > ToR=a = (A% 38) Tol=bub T3 | e, Erffeet= :ﬁ:slQ

05. [Xzoren]) @i, Chess =T Indoor game W A1f¥ wtt Outdoor game.

6. [X=1i1] ADB (Asian Development Bank) T8e ¥ e fReews arer
FWI

07. Compliment &¢ eMet | SRe™R T, oM (A) Insult w¢
W #9011 J@Ar Compliment @ R+ % Insult |

08. @ Massacre It T8J131S | Co-operate W€ et a3t | Septarom
T S TS (C) |

1. [Azoraf) Server (s ) a7 fedie % Join (75 #41) |

10. Senile ¥ F1eraRe/fermy | Young &€ oo/t

1. mwmwm Panacea |

12, Contiguous- &, A Neighboring, Country- afétat ¢t |

13. [Xora) Prrcare e zom e fraom @ |

14, Authentic ¢ 9% | sriRew 100 (B) Counterfeit S wvy/sar |
&AM, Authentic <% fa¥e == Counterfeit

549
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15. Revive (7w &fFe 221) < R7E % Deaden (T2 330 |

16. Although =€ %Re| W Although <z Also, but Teré

conjunction ¥ IF T | T C € D IW | TR IoT A (T 49R2hs
as well = o « 75 | SR B T= (B) |

17. [Xra) Alien (Rert/ femrea) & Refdie =% Native (rort/Teardiz) |
18. Supportive 77 % W& Helpful 17 5273 |
19. [Ar) ¥, e Size TR colour T | ER @ 39 UM AW 7

I I
20. Important <3 Subjunctive word /% #1=Ct *RIel Clause ¢

verb <7 Present form T3 1|

SRz R 203330 ANk 1Q sRfa

01. I G GTZ 17 TeTF &7 5T € PiFeReR &fE Mfere woo Tt dm
€ 231 T aR T & SRERE a0 BT G 4 T T | GNSRYH @I
BT M7 &0 T Y800 D11 BT 4 71 T, TR AMEHTS (1o FTe= WA fem

[JU: B-Unit: 22-23: Set-F]
A.doEF B.uy &7 C.»&q D. 0 &1

R A [ EE)| et e, s € PRERERPR dfE M BT woo TR
G T & G 90 BT | TR, BIPR 6 IRSIREIE Hiew GreT I1TT w38 oM
= (3800 ~ &0) B1FT = 990 BT |

90 DI O (7 = 3 &

. BTt T O = w1 . %0 B T G = 2 W = 33 W

TN, 5 © PIREZERER MHTe @0 A = 3453 OF | = 30 &F |

02. A 7% B " (4@ § &7, Ao wAYS; B 7T 4w C 17 v Ff. e
w3 | 7@ D @ C & 16 ff. o€ wafye a7 E <& A D 12

f&, fir. Towy WY T, 17 A /@ E G FY FO7 [JU: B-Unit: 22-22: Set-F)|
A. 10fef. B. 24 f&fT. C. 20 f&fx, D. 30 f&.fx.

[ DRl E
TR A,

S 12
AE*= EF4AF?
=182+24?=324+576 =900 6
o AE=+301 A“=g B T .
et e v, farsrers AfOTOR T A WIS T AT |

wean AE (sfege) = 30 R

Sl

5498
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;. SUMMER <& 375 3% RUNNER @, ©@ WINTER & (376 T3 &y
[JU: B-Unit: 22-23: Set-F)

A. SUITER B. VIOUER C. SUFFER D. WALKER

| [BJ|EEE1]) SUMMER=RUNNER @1, WINTER 7|

w2 VIO U E R. G=, S 97 20 9% ¥ WOR letter ‘R’ 40y, U wriRafEe
3 I M 97 9% %7 157 3f N 367 9 E ¢ R ¥R | & e
r WINTER = VIOUER =@ 733 ¥&%|

. AT G20 037 W 8% ooy el T aqr ofF céoty e T, @ MR ET s
(RGO STATE FS7 [JU: B-Unit: 22-23; Set-F]

A.x:ie B.uv:8 C.os¢ D.8:y

B A HEIRT) T 1 e soft o it 8 | (oA R W - A%

MM =8:0=x:¢|

5. Who is the strongest boy? If-

i. E is Weaker than B

ii. D is Weaker than A

iii. C is Weaker than E =

iv. A is Weaker than E [JU: B-Unit: 22-23: Set-F|

A.D B.E C.B D A

il C)|AEIRT| ermmdl, B> E> A > D > C. wéie 5w == zom

B; G 5R{06TH ¥ 20 C |

16. Frfeesr et 1w e S et | 15 Te o R T T [WER L of 7T |
TEI PR T 7 (JU: B-Unit: 22-23: Set-F]

A. 30 B.5 C.25 D. 15

ol CIEIR] 77 =8, 31 < = = 7w, aw frfds @7 = 5% 7@
AL, 5T+ 1S =2 (F+15) T, 55+ 15=23+ 3031, 59 - 23 = 3¢

S = ¢ | SR, PR et = 53 = 5x5 = 25 3w

. @It @36 3fGre ofb Tt comien ofb Ao comrer qaw, o 2w commer e | 3%

(VT FTACF FSICTAT (ST QR 0T SR 7 J067 O 6T AMR? (JU:
B-Unit: 22-23: Set-F]

A. 8 B. Yy C. Y | D.e

vw* Y] E (101 i e SN Ty 2 Y e Se———n
Y06 31 30fba T AT I 6T @ I  T06A COUT TS WA ITTE |
e 3f 3816 et T, ez ffbweR o W ot Bite |
8. (7) BF® FT RITRAT TTA? (JU: b-Unit: 22-23: Set-F|

2 3 6
6 8 4

v4¢




whitaidr [Q SUMMIT
A. 6 B. 4 C.8 D. 0

Ll BTERT) fou, T s e it i setees sttt oet ;-]
ST T ot e Se |

"y Ix8 24 4x6 24
uyqf&ll::-—-:-—: Bz —=—=
2.6 12 2w i 24 2

oufa=22=2 oy - e o d
09. 9B 3o R ez Sty v F0t @ RS FOR T T M T Teoty T2 (ju:p.
Unit: 22-23: Set-F)
A. 40° B. 60° C. 20° D. 50°
T - M D
PECTHEE]) v o o st com - [0

_|11x20-60.3|% _j220-180(° _|40(0_, .
l 2 | 1 2 | [ |_2' i
10. (7] fofF YR @1 YT AT (JU: B-Unit: 22-23: Set-D]

4 3 7 9 18 8
8 15 ?
9 14 12

A, 23 B.19 C. 17 D. 25

WWWQWWWQWWW, atsw
1T TR GIOIX T fagrey foetaw et | (A, 4+3+9=16 + 2 =8, 7+9+
14 = 30 + 2 = 15 | Oz 18+8+12=38+2=19 | J=AR 36 T&A 19 |

11. S 33 O ©6F A Qor & 3oy o & fRor oo | SRR It ¥ b iR
TR 4 A ST G & TR0 (OB o | T SR Y (4T IO 6 SR

FS WTA? (JU: B-Unit: 22-23: Set-D]
A. 3 B. v C. <8 D.v

w” m] E e D 6 E
‘ 6 . ‘
#f%w
I‘f C 6 B
. wiet 12

A

(=2

o3 fBu ot TTE, A T4 E 9F @Y = 1246 = 18 o)
12. 307 wo (R 30 woR 101 ¢ s 0R w0y F@ fely T By THY (JU: B-

Unit: 22-23: Set-D]
A. d0° B. jo0@° C. vo® D. »o® .

»* .EJE o1 ¢ w7 I0R Seg @re= lllW;GOxH'o: llx'xaoz-soﬂr

L Isso;zol“ _ .%gr’ —~ 105°
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e 1Q SUMMIT
3, B G0 ACTTT v 8% ooy el gor e ofb v wrIfers T, & WO
*RW 8 GG CHAR HAE %S [JU: B-Unit: 22-23: Set-D)

A.83Y B.x:e C.os¢ D.u:8
Rl CAGIE] ot e 6+ 4 =10

.. VO *TTeT € GG CRT A ¢, : S0 =0 : ¢ |
(4. T A=, Z= 5 qa’R SUN=24 @, ©@ CAT=? [JU: B-Unit: 22-23: Set-D|
A. 67 B. 49 C.59 D. 57

BROICET] zeafer aumm 26% 1 wren, A=26 @ @ Z=1 7@ a®

SUN=27 T; 4 CAT =73 57. &1, & over C 43 I T3 24, A 9% 94|

QI 26 G T= GA I 77 7 | 72 C = 24 + 26 + 7 = 57.

I5. @ 9o FRiTe shrer e Mt voo ST G Wi w4 wA qae T AfE
e Soo WM 41f w1 zwt | awerEw @i TR 1T & I oo SR

@1 41 T3 T R MEHre @S Fwer T &2 JU: B-Unit: 22-23: Set-D]

A. 0 & B. 3 &7 C. 33 %H D. 33 &

RN st A wafie @™, (¥00-00) = Y000 B1AT|
OIZI#, o0 BIFT BF (AT S &

n 2X3o0o

Qo000 s

= 20 9

Joo
. T T fowAt (R043) =y W
16. A, B-9% & ROy 399, “07 Wi fretie e w3 o ¢ B-ag 4
FAE A-97 A TA? [JU: B-Unit: 22-23: Set-D| '
A. 2Tt B.gg C. 1ot D. =

v [0 e R e S ————

wwqﬁmwmcﬁm@mﬂmwwmm,
SER A 8 B @3 57w w1 W19 |

17, =R T 3w e © et | S 0 IRA A IR T IR WOE 2 o
TR | AT ARG T F? (JU: B-Unit: 22-23: Set-D)

A. S B.¢ C.vo D. 38

w3 E(mam) T 3, 2R T % T R F R T A | o4 4w,

YF+ 20 =3 (F+20), T, $F + 0 = T + 80 I, &I - ¥ =80 - 30 T, §3 =
o . F=¢ .. WEIWA=¢ &7
18. [7] o™ QTT T RO TR (U2 B-Unit: 22-23: Set-G]

C.50 D. 100

349
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A DN EIRT)]| v foafow s et v 4t @ arer 1 w7 0T | 07,
2T T @ SR M 2 7 eetwer | - few e yiE - 13, 26, 52; Aot
2 I o%W | IR 4RI 8, 16, 32 | SR, S ¥ T 25, 50, 100 |

19. LOYAL @7 @6 1 JOWAJ T, & FRONE ¥ &6 T FHB? (JU: B-Unit: 22-23: Sag]
A.QRPNE  B.ORNMG C. ERMNC D. DRMNC |

w* ) [T
L K J F E D
0 @M | 0 R a3} R
Y X W | o=, 0o N M
A @ A N gz 3t N
L K J E D C
. FRONE = DRMNC.

20. iﬁr Wmmﬁwwmwlmwmwmﬁw mmwfw
N oW /% | & &G (JU: B-Unit: 22-23: Set-G]

AT B. g C.3f= . D. 3
v ) EN eI, T > T > WX > AT > 4T | S IR I9 M
MW@W|
21. 8bTwo ﬁﬁﬁamﬁmﬁeﬁﬁmmwwﬁsﬁ T ToAg THY? [JU: B-
Unit; 22-23; Set-G|
A. 8c° B. ¢o° C. 8e° D. Lo®
w.,l. :] mﬂﬁﬁj mhﬁM— 11x M- 60!”' — 1‘1.‘;'30z G0x4 S 450

22. 207 T S TOE 8 o | IR 33 T&F I A T WA I R 6T T
FEIMH A4 WA FOF [JU: B-Unit: 22-23: Set-G]
A. S B. 8 C. o D.e
N B [AiD)] e+, Whw <51 = ¥ 96 SRR A T = 4F T | A,
43+12 =2 (F+12) 1, 43+12 = 73424 A, 49-23=24 - 12 3, 2= 12

L F= 6. I =4x6 =24 I |

23. ﬂmmmﬁwvﬁrﬁ wreer off e 33 LR, a1y Bew A v R o
I SR ey WA (W mmmwﬁ‘ﬁr W@ C™IP [JU: B-Unit: 22-23: Set-G)

A. s fefr. B. s &M C. 20 f&.fa. D. 28 f&.fa.
[ BETs .
At e, 8km " |8km
e = LR B 8icm 12km €

AD? = AE? + DE?

= 16%+12?
~ 256+144 = 400 . AD =20

S4b
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24.

15.

26.

27.

28.

29.

gtz 1Q SUMMIT

WA 93 AGre 8 For conn, ¢ A oM AR ofb W ST ITATE |

G (ATF FAICF FCGTAT (ST (a7 FATH 79 F06R (TN SR, “Meul AT (JU:
B-Unit: 22-23: Set-G]

A.9© B.y C.v D.

A D EELET)| 3fre i commor we = sef® T O 8 T, ¢S AT«

oft 3@ | TEAR 33 31 O T AyF FeT @ @I & 70eE Ba0T | W 33T o
WX © A0S CSTHTH B | |

@ G faFeen wor of ooy el 7ot @k bfS ot e T, & VO R
8 (0 CA#F SIS FS7 [JU: B-Unit: 22-23: Set-G|
AVviy B.rsy C.eo:19 D.8:14

el DS i oo et =>sfe

. AR A 8 (W10 T STATS = br: 38 = 8: 9

R 93T @RS s ¢ PirsEErER o MR seeo BT G wif T4t T
IR A &S WRRT Yeo BT Gie 416 331 0T | TSRYE @ IR NS U

A vooo TIET Gt 41 =4t T T AT @b F@e ¥ fe@? (JU: B-Unit: 22-
23: Set-G) "

A. o & q B. > &q C. 044 D. Yo &+

D [TER)] s « imeizermem ifer Err a1 dwe= (sooo-soeo)
IR = du¢o TIFT | SIXE, TS, S¢o TIFT GF (77 = 5 &

S, Yo BIIT B I = 1’;156;“ =11%x

. DI '@ SPSIREIETE, (WG TR = 3+3d= 50 & |

A T @1 AT AfETSIR E PR 80,90, RQ, 4,7 [JU: C-Unit: 22-
23; Set-J]

A. q B. 38 C.v D. 53

Nl DGR et st oS siel ¥fat TFAINGE FTH GO | GO 8o
(|{TF Yo q FTACR Yo, Vo (UTF R 9 FOAR b, X (AT DY (T FOACR b, SR Y

RTF 8 I QR TR I N |

Smile : Amusement *¥-TSTGR P *H-THS: [JU: C-Unit: 22-23: Set-J]
A. Angry : Happy B. Animal : Zoology
C. Tragedy : Hero D. Yawn : Boredom

Smile () FAd Amusement I W+ &GS | (SRS

Yawn (2@ @3 A Boredom It Ff¥ Aesyf |

e Ty @ it AT JUEE T

¢, Y%, B, 58, D, ? [JU: C-Unit: 22-23: Set-L]

A. B. vwo C. 9oy D. wo

Rl B | dELT| avcrme@m s, o, ¢, 9, », 3 auF 3w cagre | |

AAAE+d=4, b +0 =0 b+ C =3¢ 38 + 9=}, VD +d =0,
Y0 + 3d= 83 | AR How TeR- vo |
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30. Ship : Harbor- “¥-TspR X1 "¥-T&1%: [JU: C-Unit: 22-23: Set-L]

A. Car : Garage B. Human : Heart
C. Examination : Teacher D. Sea : Port

.l A 3K Ship (wriw), Barbor 3t TRy citez 313; 5% ceafem
car ¥ & Garage (") 4 |

31. BT | @ i QR e yE 3
39,39,53,39,3¢7 [JU: C-Unit: 22-23: Set-1]
A 8 B. 2 C.vo D. oo
A BIEED) av e 5w oo e 8 i <tz @ 2fow e
3 A ] Wk | IOR BRED offeme ) @3 30+8=319, d4R= 3b, da+8=
IS, XSHI= 30, EHB= I, A = 03, ©3+8 = ©¢ | TSIR T TH I/ |
32. Vaccine: Prevent - =T5% 7 *1%- (q¢: [JU: C-Unit: 22-23: Set-T]
A. Wound: Heal B. Chaos: Disorder
C. Antidote: Counteract D. Diagnosis: Cure

W Cllein) Vaccine (5o) For Gt afewn =1 ;o ooy
Antidote (&fem%®) RS @R Counteract (FFIEAT F) |

33. AeBR2S%, CeDRRAFIA R @D @R | ¢vswd B, C F EF T
{JU: D-Unit: 22-23: Set-P]

A5

A.oY B. wm1 C. fore D. =01
B J|SRILL| 707 3%, A T T &M 4R B X1 BTN I SR |
W AR R AR AR Ce D |

A TR (TR TR ;D' TH (R WY @0 SR |

T B 0 (ITRR 5751 | W B % FY C «F T XL BTeT SifefE |
34. T SRESUH? [JU: D-Unit: 22-23: Set-P|

A. Apple B. Mango C. Orange D. Pear
:3 Apple, Orange, Pear (F4°11f&) FTo= TR IT (XTF =1
g o1z; e = o 51 | R Mango (STITE) F0R AP SIHITH +18 CAMT|

v

35, o R o i ot 3R TF 4, wrireeR 2 A o fE TR =@ pu: -
Unmit: 22-23: Set-P)
A.zezz B. Gz C. TF1% D. 3=

[ BIIEER) e o fix wiot = 3w | orer wrer g S7
e ST | R IR 3 o T TR |

36. ¥ GROWTH @ G BMJROC T, T KGVXZN @EHTH 31 T
[JU: D-Unit: 22-13: Set-P|
A. PLACES B. CRISES C. GLARED D. AROUND

W A JAEIL) <<= o Letter < €27 ¢ | @97- B ™4F G 97 FY ¢
ez Fauez w2yl ¢ ¥F | T e ¥er PLACES.

o
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38.
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40.

41.

42.

Riifsis [Q SUMMIT
£YRANT Y 3R YT I3? [JU: D-Unit: 22-23: Set-T)

SISIO
‘..@

A. 67 B. 99 C. 87 D. 74

»~ 9% FRERre I =i R oI T T | ¥ i T
G il *F MU W@ vt = w778 AT @ 26+2+6) = 34;
34+(3+4) = 41, 41 + (4+1)=46; 46+(4+6) = 56; 56 H5+6) 67; T=F

TS, YR | SR 33 BeT 67 |

FAFEAT I, AT Y, TYF IR 8, TGE | F, ¥ GF-? [JU: D-Unit: 22-23:
Set-T)
A. AT B. 5% C. sreat D.=fe

»” T T, 7 8 < T COTHAT 7R, @ | SIRT, o1 T (o1 e

COTAT (A "« G T | S Z0AT GBI AT | (TG " (SR W 8 T C8T

AR T SR T B X v o e e o g v gz e

FeefE I RRIRFSIE Svex ot I fte 30T W87 @FHD? (JU: D-Unit:
22-23: Set-T]

A.H B. S C.F D.J

B A)[ZEE) English Alphabet 26% | wrriRe w12 svex 3 <o R
¥R R 97 IO 307 W1l H |

‘DESENSITIZATION’ >t 335% IFR % 31 1R TRTH 3@ @1
{0 TSI AT W A2 (JU: D-Unit: 22-23; Set-T]

A. DESTINATION B. NOTATION
C.INSTITUTION D. DETAIN

(ol C)|3E0KT| DESENSITIZATION st af ‘U’ %1 w2

INSTITUTION > te8t 3%t SoRT @t <% e ‘U’ R

WA T (FHG? (JU: D-Unit: 22-23: Set1)

A. Hospital & patient B. Teacher & students
C. Nest & bird D. Prison & culprit

» ﬂé e (Hospital) GTt (Patient) ¥t®; Nest @ <=

bird ; == ST (culprit) QI e (Prison) | ¥ Teacher student el
SR e S Reteia ST @S |

M KITE = 45 ¥, S5, WILD=? [JU: D-Unit: 22-23: Set-T]

A.T72 B. 40 C. 48 D. 29

gl C)JE0Ei| @< English letter @ &0 @ letter @7 ¥
CRPTFET ST TR | @ k = 11 7 3, [= 9 o5 3, T=20 oy 3f E=5 wy
3 | &I KITE = 21+9+25+5=45 | S0, WILD = 23+9+12-+4=48.
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43. ¥ EXAMPLE @ & LEHTWSL @, o)k ZAYHALNF 9% G
R1ADY (JU: D-Unit: 22-23; Set-1]
A.STRATEGY B.CAMPAIGN C.COMPOSED D.LEVERAGE
Ol A J3ERT| ¥ EXAMPLE it &te1& Letter @7 *Ra3t

9% Letter & 3t we -LEHTWSL | @57-

E X A M[P ][ L E
7 7 T a9l 31 9 7
. ? E H | T|W]| s 7

g, TR R STRATEGY &% 2% T& 13- ZAYHALNF.

4, T @AW S GRA R QATI TR TGTAN 5, TG % | b G AKX F
=& &1 [JU: D-Unit: 22-23: Set-M]

A.3v93sR B.rs,sgreny C.¥59II@ D.F, F G I@

RO D )R] w7 =, 7 7o o | S %ot COR W | I o e o
T 1 | Y O OO AT 5 I (ST N0 0 | ™I 5 R (S qAT |
ST T 6 b qF FRE QT WS L

45. T @THM? [JU: D-Unit: 22-23: Set-M]

A. Internet explorer B. Chrome
C. Google D. Firefox

Sl ] ]E Google Zo 4R3I FGW ez Search Engine ¥
Internet Explorer, Chrome, Firefox o web browser |
46. ACEGI 4 fifirew 738t 3f @167 (JU: D-Unit: 22-23: Set-M]
A. L B.J E:K D. M

R O[] <% Fifsfors TRTd Letter 3 ey (a1 Letter I0TR|

@i- A, BCDEFGHIJK. e A Tea K |
47. % MONDAY @ cte JLKAXV T, 1gt WIZARD mmwﬁfﬁmr

[JU: D-Unit; 22-23: Set-M]
A. SFTXNU B. BENXRU C. TFWXO0A D. RFUXMN

O -]E- Eil] e &f® letter Turgad letter o 3o - J, L, K,
Axwenermem:mwﬁmmeONDAY fo wt
WIZARD R @EZRZTFWXO0A|

48. What comes next?
A, 1A, 111A, 311 A, ? (JU: IBA-Unit: 22-23: Set-I]
A.31112A B. 13211 A C. 13211 B

P EICET) es, < v = A
y 7P = 18 A (1A) [ foreeet]
oy 71 = 15 1, 10 A [y foreeen]
g€ 7if = 3% 1, 16 A [ foreeer]

ex = 153,20 1, 15 A (13211A) [ e

D. 31221 A
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| 9. Ajay ranked sixteenth from the top and twenty-ninth from the
bottom among those who passed an examination. Six boys did not
participate in the competition and five failed in it. How many boys
were there in the class? [JU: IBA-Unit: 22-23: Set-1)

A.40 B. 44 C. 55 D. 50

Rl CJH G0 «rwee, it et wrace = 16+29-1 = 44 &7

<. CHIC T AT = 44+6+5 = 55 &

50. How many numbers between 200 and 400 begin or end with 3? [JU:
IBA-Unit: 22-23: Set-I],

A. 110 : B. 130 C. 120 D. 100

ik 203, 213, 223, 233, 243, 253, 263, 273, 283, 283 = 10
S O 3 W 200 4w 300 97 Yo | WH&E, 300 @@ 400 97 70 100/
YT A SO TR 3 W | - T et = 10+100 = 110

51. There are six persons A, B, C, D, E and F. C is the sister of F. B is the

brother of E, s husband. D is the father of A and grandfather of F.

There are two fathers, three brothers and a mother in the group. How
is F related to E? [JU: IBA-Unit: 22-23: Set-])

A.Uncle B. Son C. Husband D. Daughter
Ieﬁtﬂw Fe@ @7z C.E (R¥) wnimeR gt B. A 93
wdmn quWmeuw 2 &7 Bret 7o (D,A); 3 & S 20
(A,B,F). = F, E @ =0T |

52. Five boys participated in a competition. Rohit was ranked higher
than Dinesh. Kamal’s rank was between Rohit and Vikas. Who was
ranked higher? [JU: IBA-Unit: 22-23: Set-1]

A, Vikas Vlkas __B. Dinesh C. Sanjoy D. Kamal
ﬁﬂﬁﬂ‘rﬁ MR < Sewr; T@et > Aot qae RS > w e >

WuW,WMMW>W>W>W>W|

= SRR RARMISIER 2035-33 FHRER 1Q SR -
01.

M F, ¢ GASRE; o, T 9T QW GR T G R OF T G s
’P’Rﬁqwr [JU: B-Unit: 21-22]

B. sty C. @ D. @=oR 7

w" (D){HRIRI| & o et Sewm cowen, e e w0t g2 e S

T T AW | I I, I SR GR 4 Q0 (O @I | W Z (ST
U S SR | W T Qe N G e | SR, IR SIREE (o 3 N X
T (co) Sifeen/sifeE |

02. errrane forem g s o =

2,6,12,20,30? [JU: B-Unit: 21-22) -

A. 40 B. 42 C. 44 D. 45

b] o)
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[l B[{L] «vr, warResta 4, 6, 8, 10, 12 GSICT QTS 0K |

T (1) BT YR T, 30+12 = 42.

03. & vt O ey el @@

6, 13, 25, 51, 101? [Ju: B-Unit: 21-22]

A. 201 B. 203 C. 202 D. 204 s
Sl D3RR svrs e frwew it wee T | eRwfoE 2 WRT vl W

(XD IRTAX, GRS et TR | IR, RIE = 2 ¥R ot @ 1 Ram
TR T M Q6T T | TSTRR, TSN A | (-
6x2+1=13

13x2-1=25

25x2+1=51

51x2-1=101

101x2+1=203

TR e Te R 203,

04. o7 v = ffoe e Ty

125, 80, 45, 20? [JU: B-Unit: 21-22]

A 5 B. 8 C. 10 D. 12

dﬁfﬁﬁWQﬁwwmwm 3, »

TR T ¢, 8, Qﬂsquaremvﬁwwq{ﬁmw>mtw> m?ﬁs
et T < S ¢ T | 9 ¢ 7 ¢ T ST S S & S |

05. Bz 7m0 2 071 AT <22 TEfE 1 (27 $3E1 [JU: C-Unit: 21-22]
AHRGST B RILSA CDFKOC D WQRGS
P BIE0) R1LS A = RAILS 1 2o T T ¢- G e

06. o5 8 3 ... FUEA (& FYMD FAW? [JU: C-Unit: 21-22]
A. 38 B. ¢ C.se D.e

,afbm-mmm <A & AT (4 T AT T
[ | - o9-c8=s; 0B-03=0; 63-r=2; A-3¢=0 | TTIR 27 TE7 3¢ |
07. zmmmmmr (JU: D-Unit: 21-22]

8 ; v BN
» Je |17 |
[3 [ [ |
B. e B é¢ C eo D. ws

m on J &7 % AT defTe 8 Mt 32 QI | (WI- 8 GF ANK 8
’fmvrynyrm Y &% AV & (T 2P T S | (THAAENA, XT AT 3o &7
!m,. T BT TITE ¢ €A ¢S & FA G 33 O BN TF 8o | FeIn A%

t%z B.
0%8. ABC = 36, ACID = 289 @7, DEAF =%&1 (JU. B-Unit: 21-22
A 7% B.16 C. 256 D. 265

vé
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Riftda [Q SUMMIT
C)IaRIEI| 99, cent =g, ABC = 36
st w1, A= 1, B=2 q@ C = 3 [Rxfer aofa sy aefr o 1
S1+2+3=6
-, 6 T% 6 WA o I 7T, 36
wizw, ACID = 289
wat wfR, A=1,C=3,1=9,D=4 - 1+3+9+4=17
- 177 17 YR vt 3707 =W, 289
o, DEAF = 256 T3 | =1,
s e, D=4, E=5A=1,F=6 .~ 4+5+1+6=16
L1616 R e T T 7Y =256 .. DEAF = 256

——

, ¢ TG o+ W ot iAo gz o .. Fown | o Infiee 2 Wit

f. 2. Jor | FHerE o wiE fare et | o T e @i @R [JU: D-

Unit: 21-22]
A. et B. %7 C. D. 5%

w* ENE(rT To
——
wet

20 T TR c*r,ﬂ#r-rwcsriﬁwﬁwﬁu‘ficm 9G¥ 4tF Clue T 3 WA 0
2N T WWWWWIWWWW@ A T Y

TR BT G mmwmmﬁ:mmmﬁmmmm
oF e wiw e |

. R T A fRea e wg 7gaz 1Ju: p-Unit: 21-22)

01. Child 02.Cry 03. Milk
04. Mother 0S. Smile

A.1,2,3,45 B.431,25 C1,2435 D.1,5432
¢ (@) E[n |mmwmwwh«m%wwml

mwmmmaw&mwmmmm.mm
R O FA0E, W I O T SPRA; G0 AT Y ST o AT
¥ AT 413 | wfe, TSt 2 1, 2, 4,3,5,

. Pz e oo swanf® %97 (JU: D-Unit: 2122)

" b M0
23 8% 28
1_30 ' ? 4
A Sy B. 5 C. N D.¢

m] are Ofrm e 3T 6 o B arme? v rRNeR
IR | TR ST AACE, 524+ 30=3b | WA, 0 AT, 33+38=8 | wTawe, 3drery

*rad aurr fofee e 3% Baq e P, sotv= sy | Tom Afie Bew A

st
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12. % &fers VACATE W AVACET foeti zor, LITERATE @7 U%ta ey

TLAT [JU: D-Unit: 21-22)
A _TLETARTE B.ILETARET C.ILTEARET D.ILETKATE

Ll B)|EIKT]| e onent wee,
VIA|CIA[TI[E LIT|[T|E|[R[A[TI|E
AIVIAICIE[TI T [T|L|E|T[A[R[E][T
AU R Y "EAET T | AEH AW AR ST,

b sk vicl

SRYF @ & [JU: D-Unit: 21-22]
A. Bz B. wfwtet C. #fstT D. 7%

FETRT <% WY IEAT 31T | N F0@, ¥ W B L T TRRA, o WA
SRfET ¢ ¥ S SR | 2T, B g qRee Ao | AT gt Afemz Tum
R T T (TR IR | R o (AeE); (WR) W 9% S SqgH =

14. Fosz e iR e o wéf T@&7 (JU: D-Unit: 21-22]
01. Doctor 02. Treatment 03. Iliness

04. Consultation 05. Recovery
A.1,4,2,3,5 B.3,1,425 C.134, 2.5 ‘D.2,1,4,3,5

Toni| e e @ e 967 T o ZT- 3, 1, 4, 2,5
wefe vty (3% w5 TF (Tlness); ©R#¥ 7 S5 (Doctor) et %%
=M (Consultation) 33 R ©5H Treatment F4C3 | 7401 @M

=RE 74 € (Recovery) TF |
55 R D- 33RB4 033-0 AR 1Q S

v Fosw e (01-04) At 19gm Ty <5
01. Boxing : Ring :: Cricket: ?
A. Track B. Court C. Deck D, Pitch

'5" EJ mlBoxing @ T¥ Ring 9% 00, czaf Cricket (XM T

Pitch X307 |

02. Cardiograph : Heart rate :: Thermometer: ? )
A. Temperature B. Pulse rate C. Scale D. Pitch

Cardjugrnph wa Heart rate % <91 &, (@

Thermometer W&t Temperature € *RTa ST 77711 & |

03. Court : Law : : Society: ?
A.Rules  B.Custom
W TG Court <3 @@ Law 31 W12+ WIg, (& Society ¥ 70

dkl

C. Act D. Ordinance

-

oy fFzwafe 31 Rules. -
Wb

13. 3,<ﬂmmt,ﬂmmmﬁw|w,$mwﬁmwtmwm?ﬁj

O C[An) <% wevs e b werw TR R e B 7o o |
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Hotel : Manager :: College : ? o
A. Waiter B. Dignitary C.Anchor = D. Principal

i E]E ‘Hotel 9% @@ Manager @, College 9% L
Principal.

|| fios% €T (05-08) @a ReFgem Qe o 7l GO 7
£ A Hard-drive B. Pen-drive
C. CD-ROM D. Keyboard

m Keyboard ;2 Hard-drive, Pen-drive, CD-
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07. Tft 2 a8 Wiew IHTE T, WO RAeqdq g R I W, T
TEMH PR @i foire ot Tor WIeel?

A. & B. &7 C. 5w D. vifiet

b




r St B e, |

Rlefizies [Q SUMMIT
v AT SPPTR e Ry e fempt et (a7 #4 (24-08-14):
08. A. Hen B. Doe C. Vixen D. Ram

7 L]
™" ] E Doe w¢ 2%, Vixen- *tfefmwr, Ram-%!, Hen- T
QT 2o A 5= Wi Hen Re1i o2 Hen- T | '
09. A. Fondness B. Love C. Affection D. Dislike

o> m] é Fondness- #&%, Love- ©ar, Affection- SPRFI/CTE,

dislike-SeH- o1 dislike- TRFT T |

10. A. England B. Eden C. Dublin. D. Eifel
Sl AR (B,C,D) bt e =i s Zenrs @@ G0 1 |

11. A. Each B. Every C. Walk D. One
. Each, Every, One- @&t Pronoun, walk 9{ Verb.

12. A. Micrometer B. Microphone
C. Microbe D. Microscope

N E]E (C) Microbe- WiJy, qife =512 70 |

13. A. Efface B. Erase

C. Engrave D. bliterate
o E Efface- % wF=l, Erase- t® (¥, obliterate- IR
@&l | Engrave- /Wi 31| (C) TfewrT)

1-. A. Win B. Own C. Self D. Hold
e Win- &, Own- e, Self- ferr, Hold- ibTe JT |
QT (A) TS |

v TR P s O gt i T, @ i ST e and Rew e i
‘7 PR W o B i iR o (2 15-20):

15. Row: Boat:: Drive:?
A. City B. Road C. Highway D. Engine
S DRI Row- 2w Gt s, cosfit Engine & drive 3905 2 |
16. Painting: Hang:: Television:? '
A. Broadcast . B. Programme C. Watch " D. Perform i
Nl ALJEIR| Painting vt et dnw ) GRReW wgbm
broadcast 7 |
17. Flower: Bouquet:: Trees:?
A. Fumiture B. Garden C. Forest D. Fence
w E Flower 7t &=% Bouquet I I3 (it T coxf
Trees @ Furniture <1
18. Blood: Clot:: Water:?

A. Bubble B. Ice C. Moisture D. Snow

Shd




R 1Q SUMMIT
Sl CIAERL] Blood e wAE TW B A clot =W xf waﬂ

Moisture 3w =)
19. Ocean: Water:: Glacier:?
A. Cold B. Storm C. Rain D. Snow
» m] HEEI| Ocean @ f¥ <, Glacier — RRMZ Snow (%) 1TC?||

20. Stapler : Pin :: Needle : ?
A. Sewing Machine B. Thread

C. Paper : D. Hole

5 ReRtearR D- 33RGEE 03b-d» st 1Q A

v 057 iR e ey are fenpt wiREeat &3 4 (27 01-06):

01. A.8:)% B. u:oy C. a:3v D. o:»

PP ¢ TS S TR T ST 3 T R 1ewy
e | @ (4)? = 16 7oA C 3w

02. A. Dollar B. Euro C. Pound D. Ounce

Ounce T AW 3% | JAFCTT TqR AT | T
Ounce 3% |

03. A.Potassum _ B. Iodine C. Iron D. Sodium
Iron TEt 41T | Jfetat ST | TSFR Iron =)

04. A Ally  B.Antagonist C. Opponent D. Adversary
Ally wé i, 35, SR | T T RS @R |

05. A. Carrot B. Potato C. Radish D. Brinjal
Brinjal :- (9 Wb% S¥1c% & | FMfeeett ibw o 1 -

06. A. Tortoise B. Duck C. Snake D. Whale

RO D] Whale:- fofi o wweirlt i | Peet oo & |
v 0T deTR T e A | @ e e e e eg Rz
2’ fBf%T YR WU OIgS MW AT ¥ (2 07-12)

07. Left : Right :: Horizonatal : ?
A. Below B. Middle C. Down D. Vertical

N D) Left <7 ferie < Right | ®%f¥ Horizontal (WIRf¥?)
«z fevdre =% vertical ( ¥190) |

08.Tree : leaf :: Flower : ?

A. Petal B. Vase C. Garden D. Gardener
RN A[ICRD) Tree (1) &% @ leaf (“11e1) 4=, (o4 flower (F0H)
<7 petal (1) 41T |

Q00




Rfiftatsh 1Q SUMMIT
p. Patron : Support :: ?
A. Spouse : Divorce ' B. Restaurant: Management
C. Counselor : Advice D. Host : Hostility

O {l ] ('ﬂt'll!#) W“m (Grgl ﬂqﬁm I T
(Bvrort) cRewt |
0. Cricket : Pitch ::? : ?

A. Ship : Deck B. Boat : Harbour
C. Wrestling : Track D. Boxing : Ring

w ] 5 Cricket @3¢ %7 pitch g7 ¥€ to%} Wrestling @
S track O S|
1. Poles : Magnet :: ? : Battery

A. Energy B.Power  C.Terminals D. Cells
. Toxic : Harmful :: ? : ?

A. Iron : Useful B. Police :P Awful

C. Gay : Cheerful - D. Cruel : Joyful

1 T 2ME TG TS MG I WRE TR wert @7 3 (@ 13-15)
3. TANTAMOUNT

A. Huge __B. Highest C. Equal D. Gullible
ol C)JSEIKI| Tantamount ¢ et @@ equal & Tt | Svewa
w€ huge:- R etiquette :- PbmR; Gullible %% 5@

li. NAIVE
A.Rural B. Secular
C. Unsophisticated D. Sultry

il CJ|HEIRT| Naive :- smwifint, Rural = atw, Secular-- iR,

Unsophisticated:- S$f¥T, Sultry :- o5 | @ wor C «qa smiée |
5. DECORUM

A. Merit B. Etiquette C. Parliament D, Slipshod

Sl B)IdEIED] Decorum :- "&wet, Meril:- arirel, Etiquette :- &g,

Parliament :- &M, Slipshod :-Rer |

) R epz eve AifReres ‘' ﬁﬁwmaﬁvﬁwﬁmw Tt AfRerem
FE SRS AT (2 16-18)

6. AZ, GT, MN, ?, YB,

A.KF B. RX C.TS D. SH

A DHELRD] AZ % 5% GT creer 1 91 A % ¢ 10fx o1 G <0

eI 19 (qtFe B 07 ¢fd aofe smwaf H, I ST ey i e S @)
oy i it H f 1%

11. 84, 40, 18,? |
A.16 B. 12 C.7 D.9

R0




18.

19.

20.

Qs IQ SUMMIT

e O)ITGa] 18 x 2= 36 + 4 = 40, 40 x 2 = 80 + 4 = 84 WI=
7 X 2=14+4 =18, 7N GF 7 M 7 77 |

January, February, April, July, November, April,?
A. September  B. October C. November D. December

m] BR THE NI QT S, , ©, 8, ¢ IS I 1% (7
IR April 93 % SRE ¢ oW Ao AT October T3 |

APPLE @ 7% 25563 @t RUNG 97 31© 7148 1 PURPLE 4% (3¢ 0z
A. 176351 B. 763512 C. 173652 D. 517563

517563 |

~—

2 D[R] forms st s e 0T St Purple @18 7

i

213, 3/4,4/5,5/6 9% JTEW € FTHEA SHRCTE T AdET T2
A.2/5 B.3/5 C. 1/6 D. 1/7

B Ol 7o « o o =1des |

. BB ReRuteir D- 3B 2024->b i 1Q LM

v

01.

02.

03.

S5z e oo I ST ORI W, (T =S ot e (2 i),
e oy e e bl et o= (g 01-02):

AZ, BY,CX,?

A.EF B. GH C.1J D.DW

N D] e, Zeefer < TR ST 3 A 7 MY B

mﬁsuﬁz,wﬁBmmmmﬁquwﬁmeﬁcﬂ
wmmwﬂxwmmtmma@mshﬁn o« AY T

w86 A WA |

QPO, SRQ, UTS, WVU,?
A.XVZ B.ZYA C. YXW D. VWX

CIHER] e, #ferme fefite TP AN TR OPQ @
fawhe ww QPO, QRS @ fndie @@ SRQ, STU & fasdre @ UTS,
UVW & fandre wa WVU e Zute | B8 WXY & fo=@re o YXW

T A |

H57 el are GaTars % AT | G% COTETE AT HeIHF HAeoffEs cargt e

gt % (@ 03-05)
Peace (*1f%): Chaos (Ret)
A. Creation (%) : Manufacture ('15)
B. Creation (7f): Destruction (‘%)
C. Creation (*®) : Build (t@# #21) D. Creation (3f2):Construction (&) ,

[m ACRT| Peace (1fé) a7 fasfre =% Chaos (=) | Wiii’lwfl

wor=merers v Creation () @7 ferdre =% Destruction (/&) | l

O

r
g




Biefiie 1Q SUMMIT
Horse (C3T%1): Mare (Teio3)
A. Fox (za3frame): Vixen (cfermh)
B. Duck (&%): Geese (Z€H-7g767 =)
C. Dog (%) : Puppy (F% @A) D. Donkey (1) : Pony (5)

am Horse (aTst) *@aa= =% ¢ Mare (co31) T3 = |
wpReTTE A00 Fox (Crefiume) #zuane 19 € vixen (@i #mss 1)
% Ocean (3759): Desert(Tgf)

A. Waves (t6%) : Dust (qmfe)

B. Waves (%) : Sand dunes (a1fmfg)

C. Ocean (t68) : Ripples (T6%) D. Waves (t68) : Sea (F1"¥)

Tl B)|3EET| Ocean (rw) awe Desert (v 22 frrdie P

T | Waves (%) @3 Sand dunes (2fmify) 4t fatdie 22t | g oS
4T SR TS Py wdie afem s < |

) Tow et 20 serefEeyd == fsrrarer Jvar @@ 3= (@7 06-12)

6. A. Crusade (4<g) B. Expedition (SfEar/g%mar)
C. Cruise (3799 37¢) D. Campaign (%fST#/T%)

w” E 99, Crusade, Expedition, Campaign g% 94 A%

31%; ¥ Cruise &g o 2z 20|

fl. A. Vapour (I#/garm) . . B. Mist (g
C. Hailstone (f*1) D. Fog ()
91T, Hailstone TE o) e qad q€ 420t TIHS
| '
F- A. Debit (3m) B. Deposit (&)
C. Deduction (Im/Rami/asy) D. Withdrawal (genza/s«=4)

v B Q¥ Deposit (&) M7 AR 2% NE 2t 37 | B2

I FRE T0g Deposit SpietfEse = |
B. A. Horse (T4rgr) B. Tiger (Im)
C. Ostrich (To#f) D. Bear (515%)

» EI 991, Horse, Tiger, Bear ffie wwr agt om7| fw
Ostrich (ToM1f%)mrefite am o | afie «f e o suefia =t 4w 2
AT | 7S SO e stemm/efene «1ff wfies ame | w1 Ostrich afeaT |
). A. Beautiful (37%7) :Ugly (3<fr)

B. Praise (&) : Blame (TWrarcsn+ =)

_(, Nice (;7%19) : Good (®%) D. Beginnig (%) : Conclusion (S*Pier)

Ll CAERT] e (C) 3 afeemirs g sz fivflie 1w | worm
(C) v= *%if6 et F51ds =)

09




ehid [Q SUMMIT

11. A. Fish (¥1®) and Aquarium (Y& 311 )
B. Bird (") and Nest (1% ie1) C. Student (#r%12Y) and Teacher (Frw;
D. Criminal (ﬂn‘lﬂ’f) and Prison (T57)

o ][ Aquarium ¢ Fish <1F | Nest @ Bird 91tF, Prison ¢
Criminal ¥1% | Ry w7 (C) Tfdwy | : f
12. A. Night (31) : Day (f) B. White (3m1) : Black (3w
C. Moon (5F) : Mars (¥%1%) D. Light (WTeT) : Dark (W%#H) |
N CJHERT| s (C) 78 et =rsew Wﬁmﬂl;I
W (C) X | Bl
13. o TR GO TS O WO SIREA o RO “Ho¥ AT | T 3w |
e R Sy . |

A.wPTeISR B C.mmwersiz D, °@ |
R C)[ERi)] =rove i wiwt o W1 @ IS SR 1‘

14. A 97 (07 B 7 e R T C ¥, IR @A D o« Rz E 93 AN AB

SR | D G AN A R FE I : ||
A. @A B. Y C. =fera D. SroTeT I |

B [ TEE0) vz B 2o A o7 &w, E & SR A o &0 | E )

D < Ry zoawe (SR D T A @7 /Y|
15. mmﬂ.ﬂ,ﬁﬁeﬂw_mlwwﬁmmwm
IR R0 | B o (4o 33T 1 | T ST (4T T TRt | TP @ \

s |
A. SEIR BT IHT IWR B. F@e SfZAT I A
C. S SR I AR D. IFH (FC % )

R B EIE ow o 2w oo crer iR e ST fAeeer | S ) |
w&nmtmmwwmmwwmmnﬁwa«mﬁa i
SR {3 WA AT AACK | |
16. LARVA (730/ fm): ADULT (&8 37%)
A. Adam (SW9/%#%) : Eve @) B. Cub (*f® ™13%): Fox (W¥=FTm)
C. Tadpole (anefs): Frog @)  D. Snake (3*) : Reptile (FA"1)

1
RN CJIER)] a¥t, Larva I5 T Adult & | SFUfacE Tadpole 8, ‘
|
|
|
|

zw Frog T | ©i% % %% C.

17. COFFEE (¥f%) : BEVERAGE (*171%)
A. Bread (#f0) : Butter (31%) B. Milk (7%) : Tea (oT)
C. Burger (arfi) : Snacks (¥4@) D. Grape (Wig4): Wine (W)

Coffee TR 9% &1 *A | T Burger TR IF &3

WI‘GTQWWC. |

08
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| Ris 1Q SUMMIT

" AFTER ("%) : BEFORE (7% )

A. First (&%) : Second (f&Shy) B. Present (I€9F) - Past (%31e)

C. Contemporary (Ffi%s): Historic (2af)
D. Successor (=8t aeM47): Predecessor (47F¥)

IB] R @, After «7 Relie e before | SR 1% 4% $0%1 ¥

T TR | S (D) T ot oRr=rar Re@re w13 g3 Bror 30 o TR |
7 MU TG TR 2x+1, I 0 Myr x-2 T, O &0 i 387
A. x+] B. 2x+2 C. 3x+4 D. 4x-1

m : Eﬁijﬂ] i SRR NG (2x +1) T, TR=2(2x +1)

'1] :.W’R'UT= 2(2x+ 1)—(x_2)=4x+2_x+2=3x+4
)

{

, GF IR CFIF SR TT dbr T2

- A.7124 B. 24/98 C. 12 D. 7/12
o E] E > F8IZ=19 == (A1x38) ThI=db TIT |
T
] i e ki Sor 33

i BB ReRteai D1 & D2- 3367 2006-24 e 1Q SRS

| Froow effSfS efve ST ceet 1% IR | G CarteT IR FS T T T O

e ARFST TAES (e 01- 07):
1* FISH : HILSHA

A.ocean : wave B. antenna : insect
t | C. mammale : whale D. bird: cage

' | IS C)JEIIR) @<, Fish- wre, Hilsha- 3frt | 3fer g @@ 4307 WK |
FUfE Mammale-a0il @, Whale-Rfr | fRf @ o arpandt andr)
o’ S (C) witwsy 7=+ ¥ s |

CLOTHES : LUGGAGE ‘

A.baggage : train B. document : briefcase

C. air mail :mail carrier D. pen : paper

B EEE] Clothes —=mt5, Luggageatis avm v Segerer
%S Document -wifo, briefcase-RFrT IR Tt | o1 ¥67 7 (B) |

)| SKETCH : ARTIST

A. secret : confident B. palette : painter

C. cell : prisoner _D. draft : writer

Nl DRI Sketch- &R, Artist-F@t | P& ) w%7 3@F| Draft-

VIGH/TT, Writter- (4@ | (4% 151 toft 36 | O1 539 T&x (D) |
1EXCITE : CALM

A. restrain : compose B. agitate : trouble

1 C. upset : perturb D. stirnulate : cool down

ROE

| W) -




g [Q SUMMIT
RN D [TCRi) Excite-Swafire, Calm- s wat =@ R w

S, Stimulate- Bwfre, cool down-*1; «at stz =11 ¥ |
05. COURT : LAWYER

A. grass : field : B. legislature : legislator
C. development : process D. None '

w” ] E Court- fR5atm, Lawyer- 1 | B LG T T,
Legistature-eqrer, legistator- R, i Ryrprom Frer 0 |

06. HARDWORK : ACHIEVEMENT 13
A. forward : stable B. job : worker
C. effort : result D. None of the above

Nl C)|3CIRI| Hardwork (3um “ffew) &z Achievement &

0T | WS, Effort ((681) (9t Result (=) ST |
07. DOCTOR : PRESCRIPTION '

|
A. runner : sprint B. devotion : prayer _ 35
C. collector : bestow D. government : reciprocity |
o IDoctor (er&1), Prescription (IIE1@) faer W!ﬂ'
Collector (SR, Bestow (Aieat) 3w | ©12 T&xr 21 (C) |
v  ow eeffite Rept WGl c@ 3 (e 08 -10)
08. A.B.Sc B. B.Com C. MBBS D. MBA 16

» IB]E @9, B.Sc (Bachelor of Science), B.Com (Bachelor

of Commerce), MBBS (Bachelor of Medicine, Bachelor c?f -Surgfr}')
oo st ot | st MBA (Master of Business Administration)
T CoA1 et el | _ 1
09. A.Pen B. Paper C. Dagger - D. Pencil '
> 5@]}3%, Pen (%), Paper (IT°%), Pencil (c*if#) {!'J
TR we | R, Dagger (&) T | :
10. A. August C.November  B. September D. December
AJJEILRT] August 31 7 51 TR T ember WY |

fArsa e Rvdtends = s =% (2% 11 -13)
11. STRICT
A. lenient B. voluminous  C. patient D. devoted |

Rl [IER) strict w¢ 3t sereTITe (A) Lenient-GRTi, 8
Voluminous-3TiR® (C) Patient- wtw, (D) Devoted- IO |

Strict 7 Reffe /¥ lenient | JB
12. SINGLE - MINDED §

A. popular B. vacillating

C. open — minded D. prominent

0Y




r

| Qe [Q SUMMIT

'\ (BEOEEDa] Single-minded-sy a¥b wr@ A1 (A) popular-
wiz¥, (B) Vacillating-wfgw, (C) Open-Minded- 3 0w w7 st
e, (D) Prominent- Rf%® | e sf3= oz (C) | L
3, DEPRIVE
A. corrupt . B. disgust C. denigrate D. bequcath

E] E Deprive (3@ #21); qz fR9fi® #% Bequeath (717 %) |
| 5% BT AT 7 (e 14-17)
4, GO TSNS IR A0 T G | e, G tow ..
A. niece B. sister
. C.aunt D. sister - in — law
| B ANHEIR] comma arment comma vy v s v e g ar comm

SR @, SR GIOH T COTRRT (VT 3T (oI /SR R OO | ST Daughter
AR | ©1% TER A Niece W SR/@F 97 o7 |
5. ‘His die - hard supporters believe that he can win the race.’ 4 @7
‘dichard supporters’ 3 e @RITE-——-17
A. WW@ B. Wqﬂﬁqu
C. Fwfie et s1ardes D. s @ wfya sda

E @R, Die-hard supporters 39ce e 2 @RITR |
~l6. 9o IR A COTFS S TEN T B1A%eT T | S TEX 9T —~mee?
ol A.10 B.11 ° C. 75 D. 30

) R, coroTeT TETT I = x

m]

—_—

e

LTS, x + 30 =4x = 4x—x=30=3x=30= x = 10

1. FoAf ST 1% 202 & R SR SR (47 o 71%) 1% TR v | 59 Seifox
Q T TS TLA?

A.7 B. 8 C.6 .12
il TN T R T ey ———— T BT e T
[ T QAP = b X8 = o) | [OAR TYE A= 0-db =38
MWKWW%:‘!
&8 *TRCTIAR FANGF % 415 #7 (e 18 -20)
. COST
® A, gift B. expense C. gem D. Aand B
ol B AR Cost wé =5 1 (A) Gift-Stx, (B) Expense- <. (©)
Gem-3fR | &7k, Cost @3 € % Expense |

P RIDICULOUS
A. Indicrous C. Revealing
B. Devastating D. Enormous

Q019




20.

gfited [Q SUMMIT
R ASGE) Ridiculous ¥ ¥0=1 (A) Ludicrous2pre ()

Devastitiong- frech, (C) Revealing- &3, (D)Enormous-2§¥ |

Ridiculous <& %3¢ ™% Ludicrous |

DESTRUCTION -

A.delegation  B.demolition  C. degeneration D. arbitration |
8 B)|3ERiD| Destruction ¢ wet1 (A) Delegation — =f¥ffe, )
Demolition- ¥, (C) degeneration- %%, (D) Arbitration- T0g¥,

SR, Destruction <& e =% Demolition |

S ———

b5 R =R D3- 33RBA 0d0-34 Ansideid TQ SR

01.

02.

T & 7 TET, PR AR T TS ?
A. Traffic B. Goods C. Speed D. Road L

= T WO N0 (T T (S AT 3107,
Goods () R GFOR G | |

WET M TR TN TR, (TSNS 5 RS 2
A. Round B. Air C. Spokes D. Cars I

REF “T¥E S <, WIRSIE 5131 Spokes ¥ |

03. % 70 MR FRET, eI IR T=AES__?

v

A. Solar Energy B. Chemical Energy
C. Atmosphere D. Temperature

v ) o g T 2 S R (o < BT I T IR

=

|
ﬁmwwmmmmﬁﬁwﬁ%ﬂ#ﬁmw(ﬂ 04 - 08)

A

04. IMPARTIAL

LY

A. Hostile B. Biased C. Dislike D. Worried

RN B[] Impartial =€ fiaors | (A) Hostile- &f®<, (B) Biased-
sr% 53, (C) Dislike- 5re=, (D) Worried- fsfas | yzar, Impartial K|
febex favfire 7% Biased |

05. LUMINOUS
A. Clear B. Dim C. Brittle D. Clever
»” EJJE Luminous (t%) < fR=F% =% Dim (S=1B) | L
06. AWE
A. Borrow B. Shallow C. Low D. Contempt
DIJACLEL] Awe- /s wormerTE T00 (D) Contempt ||
e |
07. GERMANE _ ) 5
A_ Irrelevant B. Indifferent  C. Impartial D. Improvident

20t



Qi [Q SUMMIT
S ] E Gen;::dmﬂw, Irrelevant- S |
& DEMUR
. A.Embrace B. Crude C. Boisterous  D. Falter
Demur- fixt/sqats, Embrace- 0 31|

¢ T PTIR ST a3 (2 09-12)
¥. Refreshment : Meal : : Vending Machine: 2
A. Change B. Snack C.Candy . D. Lobby

S ] 3 EEHI Meal 9= Refreshment 4 ; W& Candy €t¥ Vending
Machine -9 |

. Dliteracy : Education :: Flood: ___ ? _

A. Rain B. Bridge C. Dam D. River
ﬂ[iteracy (w=et) 5 3t 3@ Education (Pret) fawr
e Flood (3701) aif¥tmy %=1 3 Dam (3n) faca |

|I. Fruit : Banana :: Mammal : ?

A. Cow __B. Snake C. Fish D. Sparrow
Banana (3¥1) @3 @ Fruit () | wRfAE Cow (7F)
&F WeW Mammal (@01l &) |

.. Malaria : Disease :: Spear:  ? ;
ADeath _ B.Sword  C. Wound D. Weapon

Ll E]] E Malaria (Uefir) 9% 7 Disease (@) W Spear
(¥ 9% =T Weapon (57) |

| EE T IR T (e 13 - 20)
L 30,8,3,83,63,...... Biftrew *==Sf sewnif®
1] Abo B. ¢o C. ee D. %0

v N (TR R s R Sse—

b 8 » P W WO

20N 2R R T A
. b 8 > 1)) @R L)

J 1 e T A, B, C, D @ E @7 %00 A TC @7 791 X CONE 2 T 1 D
| WA SR g B TEMA 93 T | B 7 3™ E 7 5o iy

AT B. frrer C. wTo1 D.®®
i‘l Ll AIEED| A 7= ¢ @zt a B T A @ T | weGw, B
[@® C @z 3w avw CwmE @ ®,%®” B @@ E @

L 3RT 3¢ o™ T FEw 38 7%; 1 8oo &% I ¥ 000 T; 7 388 e T faw
i 8¢ 77| o1 Fiesw 1l e e

i A. Yo B. ¢o C. o0

D. s%00

J

Od




REE [Q SUMMIT
A D BGR] »aw e ot 7o e st | S (D) Yoo,
sanbasill
16. =& JAK, KBL, LCM, MDN &ft %7 T, o fRusar 1o i+
A.NEO B. MEN C.PPQ D. OEP
N A EERD| =t o e, 1T S W R AR

Rabluli £ ieuic gl teigicle |
17. =% England & o1 Ow 1234526 Wt 9 France & foet 3w 785291 w

X Greece (3 e 7 — WA

A. 392291 B. 392191 C. 382292 D. 381191
FADEGD ENGLAND FRANCE  GREE CE
Wbbdy v hdd vy ddddve
1234526 785291 381191
18. 00 o O I RGW 20 Jo -G TIL Fefo 6 T 31 A7 -
A. 10 B. 12 C. 14 D. 11

D EEED) 7 rar="—+3=3 T
19. AR G2 ¥RHre (A TU01 THH (AR | A4S A FE7
A.9:30 B. 3:15 C. 1:13 D.11:15

»” B] E T A= 3370~ AR TIT =53:%0-b:8C= 9:0¢
20. T AT T AT TR A I | THID W 1B iy 20T G v

& Al —1

A, S B.»
n(n-1)

CFEL =mmt=nc, =66= —— = 66

= n?-n=132=>n*-n-132=0
—n?—-12n+1in-132=0=>n(n—-12) +11(n—-12) =0

- n-12)(n+11)=0=>n=12[-n* —11]
bR R D1 & D2- 3264 2006-> FNRER 1Q 3R

v Sorrema R o e ¥ (@1 01-03)
01. ANNIHILATE

C. D. e

A. arrive B. establish C. elicit D. deprive
N B [ICR)] Annihilate (ot 1) ; @ feie % Establish (€
0) |
02. BIASED
A. nefarious B. neutral C. nepotism D. depressed

AEILI]| Biased (*1%112) ; 7 e =% Neutral (FRTT%) |

03. COMPLIANCE
A disobediance B. disturbance  C. curse D. power

Po




=pr

e -

= i —————
B

T e

05.

|07

09.

RS 1Q SUMMIT _
O ]E Compliance (@ @ewy/ ¥4 orean); @ AT

Disobedience (Sanget) |

¥ S 0L 37 (2 04- 05)

. “Media Mughal"3# e @R :

A. TR o ffenr B. Y971 IeTTi Mo ov fafenr
C. W= 3% fafew gt D. T ey afefbe fafewm

EE] Media Mughal ate eféfée fafem gl 73

T I3 AT R wid 3w o7 9t v 93 “Outspoken Dailey” T
- i

A. a *TFfa s e oo aizw B. «fimif® “Outsider” @3 41 & o
C. aft a3 =22y =t D.ze

»> ] Outspoken -8 | AT #fdST ‘New age’ 7 CPIH

oft |

fRosw ermpaTiee Rt WIS @ =7 (2= 06 - 07)

. A. football B. cricket C. hockey D. chess
il E] % ¥, Chess @ Indoor game R ¥ w1t Outdoor
game.
A. IMF B.ILO C. UNO D. ADB
Sl E)] E ADB (Asian Development Bank) T8 ¥ woort ey
FE FH |

TR eAaTAITS et (08 - 09) SR Loy e ek 3

. As the Sun is to the Earth, so the Earth is to?

A. Moon B. Star C. Mars D. Saturm

Sl AJSEIST) Sun (76 @v wrfiE Earth (+R%) Y1 S0f@ Earth
(fR¥) = sfE Moon (5t%) ¥ |

As Car is to Wheel, so Horse is to ?
A. Belly B. Tail C.Leg D. Body

X ] m Car (%) @ 5Rf Wheel (5137) 517 Horse (Ca19T) = sRfS
Leg (*M |

wfF Tenfd are® == (o 10 -15)

. A, B 8 C 9% fR30 qoltarey ©, ve>oﬁw&q|ﬁwnmﬁw@ﬁvﬂ?fi«

A ST GI0L SIS S I F DT 4T @1 | st D ©IoRr ©.00 Bt
1| C o 51t #tiear

A. b DI B. ¢ bra C. 8 Brat D. 3 Bret
v (@) (=0 | G0 7= wtr+30=28% | eren® *a= =y 1 3am D

umeﬁi me’cwrﬁmaﬁwmws’ﬁmlctﬂmﬁwbomw @1 ot
W Wi A1 80 wod A | wi% C i 8 Braet |

9D




Kt 1Q SUMMIT
11. ¥ TIF SHRTE Yo WA YD, A SIAMICS YO 3R ¢ R QBA, S
R w1 e Yo e & T e | R o forees o

A. B. *ffox C.%&w D. wf¥et
witest
Wit
Yo WIEA
o | o #f
- tw tw
12. = fSar i 4 M, O oft wpR - S R @I SR STeT | AT

A. iR A7 M3 B. aft T&
C. 3 TR “MfRat A= iy D. =3t I 7 Ze AT A AT

T SR’ i qoT fATe ¢, +HfREr e TS M M

13. AW ToUT S, T [WH WK | O SR AT T¢ BIR WE, S et 7
IR | AR (Fret - ot Ude) Foe (R € IEEH (N WIR?

A. 8 S (R 8 8 85 (W B. © §% (R(F 8 8 & (qWH
C. © &5 (/0¥ 8 © &5 (O D. & (R0 € & AW
RN B [0 e crs oo e o ooy i Wit | 141, @ifef ceer
R B '8 SR (W o) @R SR |

14. 0% G 0T /oW Yar ’
A. 0.9200 B. 0.180000 C. 0.1049 D.0.111

RN CHERD] e &b i I5 P ST AR W,
0.1049<0.111<0.180000< 0.9200

15. o7 @ Ui 5t (A1 U @T T T TR 07
Ao B.) C.o

O BJGET] 2xs=x R ais=2

v T el ar RS e % I | R (SISt QR IS T 41 Y R
e SR TR (21 16 -17)

16. SINGER : CHORUS

A. architect : blueprint B. author : publisher
C. actor : cast D. teacher : student

! N CJiERi] <eift® Singer () Rwt Chorus (TRG W) X
%% Actor (Sfeeen) v Cast (wfew F#ig=) =1

17. CARPENTER: SAW

A_ stenographer : typewriter B. painter : brush
C. lawyer : brush D. seamstress : SCISSOTS

»” E}E Carpenter (¥15ff¥) 215 315 Saw (371%) facw | SrRfAce,
Seamstress (Af¥) 171§ 1B Scissors (F1B) fwH |

D. =

W




Bk [Q SUMMIT
v o e e = i 37 (e 18-20)
18. GENTLE
A. ferocious B. ugly C. nice D. restless
ol CIEEISTI| Gentle wé e, 3 | =i (C) Nice-s | 729, Gentle
% 7EF =% Nice
19. EFFICIENT
A. divided B. dexterous C. angry D. double — edged
S B) KIS Efficient T /AT W1 Dexterous NG W /e |
20. FORSAKE : -
A. meet B. abandon C. scold D. forbid

sl B)J3EIRTI| Forsake € 3 ; 5z Abandon ¢ eyt 2T |

bA FRARAISIER! D3- 33RB 2006-d0 Rt 1Q IR

v

01.

02.

03.

04.

05.

Fosw effSf etvey =i catet =1 Tmime | GI% cagT QR TS TR [ T AT
R TS 71w (2% 01-03)

TOXIC : HARMFUL

A. iron : useful B. police : awful

C. gay: cheerful D. cruel : joyful

B ANEEE] Toxic wé Rt s Harmiul e wfoes | i frats Rt

¥ | UM Iron (IRY) 3t Useful Ee=) |

ENTREPRENEUR : PROFIT
A. philanthropist : charity B. organizer : union
C. hermit : lonely D. scholar : knowledge

' E)J E- Entrepreneur ®turst) @x s w%7 Profit (71rs) |

SeRCF Scholor &% 1 way Knowledge (&17) & 41 |

TAYLOR: SCISSORS
A. stenographer : typewriter B. painter : Brush
C. carpenter : cast D. lawyer : brief

Nl B |EIE] Toylor (%) « TS Bert Scissors (F1fB) | w0
Painter (&3 G ewresy ¥ Brush.

e R 3= (e 04-05)
A. Hydrogen B. Nitrogen C. Water D. Chlorine

= ] E Hydrogen, Nitrogen, Chlorine T ST | W Water
(=1fR) ==z o |

A. Sea B. River C. Ditch D. Water

(Sl D)JEEIRTI| Sea ), River (3%), Ditch (CoR1) et =Nif <

N qetA A7 TS | B A1 93 0, et g

VO




s [Q SUMMIT
v RO QIR Ty Y Swi T 3 (a7 .06 -07)
06. 8 Bre ¥ B 0 ot 7
A.25 B. 20 C.15 D. 10

| O ][ ﬁ.xmio%--s:xi’%_—.s:x= Ao

=>X=%0
20
07. ¥ 629083 it VOLUME Tt @ o17 8owx At R waraimne

A. B. MELU C.VOLU D. UMLE
w"'_]E MULE
VYV Y YYvy
W ¢ 9 o B R 8 o v

v ¥ Swl 1l 3% (2 08 -10)

08. 3 ¥f$re 890 e | 1 e F1ot offiw Aot 3, ¥R Fo1 31 e Fot
FA? '
A.Bw- 51 B.%e- ’pf C.wfeg-f  D.wfra-«fow

o = Jr

09. mmmmmﬁrmmm»mmmtﬁwwmmr
“ A. 19 B. 18 c 17 D. 20

R ClHER) s 208 cvaras 08 ey q v @lIEA

10. X3 $e1%% 0T 71 &F, O 2 -3X 7 A% 0T I 37

A. 4 B.3 0.2 D. 1

RN OFGEm| avw, X o w7 7& 39 T (2-3x) 7 T © & T
@@ X $91F el X @7 o 7 0 e A | X=0 7, 2-3X=2-3X 0 =
2, T s |

v o o Redrends 1w féT 7w (2 11-14)

11. COMPLIMENT ;
A. insult B. complexity  C. inaugurate D. verify

L J Compliment W€ &G | SEPHEIE J0g, SO (A)
Insult < == 1 | 723 Compliment 97 RIS *1% Insult |

12, MASSACRE
A mass media B. interfere ~ C. cooperate D. nurture

» [ Massacre NIt TS | Co-operate W€ JEaifreT 41 |
wer=erad Wo HaeE $gs (C) |
P8
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Bt 1Q SUMMIT
! s
. SEVER .
D A. service B. join C. fear D. domain
B][ Sever (Rew #1) qx Reifre =% Join (T ¥ |
{4, SENILE: | . '
A.young B. yean C. castigate D. revile

} ,
| ’ .] E Senile W€ Afarefs ey | Young W€ & |
¢ 5% BEl MG K (2 15-16)
(5. “He is a ‘maverick’ in that group.” Qe maverick™ b = :
A. Mature B. Conformist C. Rebel D. Complacent

RN C)|3EIRII| Maverick i 3gw, @ 0m oW e o 36 |
Rebel (R@®) *f6 Maverick <& wedar e wfiRe $17% |
16. AT GO FIITS W17, N7 '@ g A0eH o 9T TFTE | 19T IO IR T, 5
o N5 | G MR AT STt ey | AR MET e 7 A 75 F ¥
fom It 0o T cauTers Tt svo Rl | SfiEt G @3
A.vggE B.3® - C. fargs D. 3&gs
el CIEEIE] fretes R0 @it eite e 31w 7R Svo® |
v oo serem st = e 3% (17-20)
17. ANTICIPATE :
A, expect B. talk C. demand D. denounce
'l AR Anticipate (@eimit); @3 nds >« Expect (S 1) |
18. DECLARE
A. deliberate B. denounce . announce D. chensh
»® ] E Declare- (9/¥¥1; Announce- CSIEHT (63T |

19. PENURY

A.perjury B. poverty C. legacy D. bravery
Nl B|4E0Ri| Penury- wsR, Poverty- wiget |
20. NUDGE
A. drive B. push C. shut D. need

ol B)| 3T Nudge- 4@t cemt, Push- et creat |
bEaiit RRteat D- 3BRBH 2008-d¢ FAniied 1Q =R

01, 3 @ afSrays 39t <3-
A. Panacea B. Remedies C. Medicia D. Cure
Sl AJFEIRI) = o efétee 2o Panacea |
02. @ faf*t 7f Contiguous =, o3 «ft z=-
A. A Neighboring Country B. Small Pox

€




giaiis [Q SUMMIT |
C. A Dru D. Container h
o ] [ Contiguous- #f®t@f, A Neighboring Country’ j‘
|=ﬂ%rﬂr ot ;‘
03. P g f
A TEIW TR Grg B. gfi@=t fom wrv |
C. TIPIeT T ey D. Tz R f
il B )| JEIKT]] frercamitr zoor it g wi | | |
v TS R PR oo TS o TOR 7 (@ 04 - 06) X
04. AUTHENTIC
A. Adept B. Counterfeit C. Brief D. Open (
w E] E Authentic =€ 6’ | S e 700 (B) Countcrfelw F
/734 | AR, Authentic 9% f¥Fe "% Counterfeit '
05. REVIVE —
A. Slander B. Awake C. Deaden D. Praise ) !
™ §ﬁim| Revive (73w @f4e #21) «& o=@ * Deaden (g
=) |
06. PARDON
A. Blame B. Boast C. Hate D. Anger
B AJEEE] pardon (vat =) ax Retadt = Blame (¢ crem) |
Il

v Foow o ey 7o @t = 3| CR @Iy IR A0S TI T
oSt A SfeFen 4w (e 07-12):
07. EGG: OVALE
A. bee : honey B. cow : milk
C. brick: rectangular D. camel : desert
Ll ORI Egg %) = Oval (cmem) | wmifice Brick (20) w
Rectangular (WIeRR) | )
08. TREE : ROOT
A. shirt : sleeve B. building : foundation
C. smoke : chimney D. automobile : engine
> EJE Root (1) 97 A Tree (*R) wWewr < | wrfE,
Foundation (%) @7 7ijer Building (S3%) wifar e | I
09. RUDDER : DRIFT
A. anchor : drift B. rocket : launcher
C. paddle : row D. chain : clank _
AJJZ ml Rudder (W) € Anchor (GIF) g7 -rﬁrﬁmwj
Drift 307 | '
10. GRAIN : SILO

VY




F- 24

=/

11

12.

13.

14.

15.

16.

Sfiiats 1Q SUMMIT
A. seed : plan B. druggist : doctor
C. water : bucket D. tree : fruit
N C)[fERi] Grain (+v) <= Silo (oersR)-a; @ Water (1)
«® Bucket (™) q
CHIEF : TRIBE
A. painter . mural B. fort : attack  C. shell : snail _D. captain : team

» E]E Chief (w7et) Tt Tribe (Ser/=enf®) @ &yl aR

Captain T Team 9% &Y |
GLAND: ENZYME
A. generator : current B. organ : kidney
C. brain : hair D. silo : grain
DJ|3EIE| Enzyme (47ei%) 2F Gland (@f%)-q @& Grain (*F0)
_Qtw Silo (*FUets)-4a |
X @3 gF MGt T X+1 & © @S 30 T SN S WEF ¢ |

49 X & & WA S T3 T O WIHE -
A. 1 B.e¢ C.8 D.w

Sl BRI o (X+1) & 6 W ot 33t =7, PR 5 AnF ; o 4R,
X+1=6+5 = X+1=11 2X=10 ~X & W4 10 & 6 9= Si7 T30 5B |
4
ATEPGTSRIQERTER®FIRTR B @ 1ol | B TR A G W
I G % YT & FST T, OF Ufds SIS HeT (T,

A. QT® A 93 Tel B. A aRQ@WW
C.PT= B @a©i% D. BT® R 97 &=

9.1\"‘ E ATRP FER R BTR A @ @ | wEe AP e B

e =i SRR | Weuy, P,B @7 ©i¥ |

‘Praise g3 Praiseworthy’ @ % WioIF cwen fAosa @ Seny
A. = eyt o B. «=fb foat, wwfe ot
C. oy A 3% D. A ¢ B ey
Ol B[] Praise ("5'"“‘1T =M, I fFr @® Praiseworthy
(erreteam) Tt Reted |
‘Although he is poor, —?

A. he tries to help his relatives as well

B. he tries to help his relatives C. but he tries to help his relatives
D. he also tries to help his relatives

W IB][ Although =€ afite | wrr Although 9=t Also, but

eif% conjunction GT T = | SR W C. 8 D, IW | WRT SO A, (S
ufefaw as welld@mw aft e av | oiX s Sex B. |

WA




wisa [Q SUMMIT
17. Ro¥ " W (y® ‘SURGEON : SURGERY’ ™% (WIGRM Sa" 7w
oy wn

Az head : hair B. artist : portrait
C_prison : prisoner D. ticket : confirmation J

Surgeon (BRe®) « 3™ Surgery (S™MIEMR) #)|
=W Artist (i) <@ =W Portrait () Stwt |
18. RO @ "W (I LOVE :HATRED’ ¥ corgia wat 77> faoft

o
A. description : prescription B. admiration : dislike
C. beauty : cosmetics D. mind : thinking

m Love (STRPT) @7 fRvfte & Hatred (T | wofie,

Admiration (217 9% Rfe =¥ Dislike (e 2910) |
19. IWNYE, TR g IACER MY B MW Iwwe RE Fet
IR % 77 | Bier S SRy =nie fAesw @1 S srerr :
A. 5= 1frm wonan R SRR A 1w

B. P1= wrfermz ARt R e A W

C. 3 Frer won Ry aifmz somn

D. &={E =7

RN B)[AERi| aox cron e, woafr siee e s wae i

[ITATCATHRY Y = |
zo.mwm.w,aﬁmmmwm%ﬁmmw

BRI a3 R IRem | fow iR SEh e

A. SR T G310 PR @S aR 30 SAGEA |

B. SRYA SRR 30 IR @ G G TR TS
C. SRRA! ez 93 1 e g g3t AfifEm e

D. cRbE =
(A AR cvx < wie R, wfie, FRel @ oo ST
MWMQW|WWWWWWWMW
R ELRLA e ¥

55 ARG D- 33RB wao-d8 ARa 1Q =i

01. Clay is to potter as stoneisto ___?

D. philatelist

A. ironmonger __B. tinker C. sculptor
»> ]E Clay (amrait) facr Potter (Vo3 *ita) tefy T G| )
Stone (M%) iz (er%t) o =TT |

02. Fill in the blank with the appropriate word: He is a very difficult

person; he doesn’t gef anyone.
A. in with B. up with C. out with D. on with

dYr




Wil 1Q SUMMIT
-ﬁ —
¥ D) HEIR| He is very difficult person, he doesn’t get on with

(rré T AN anyone.

_poyou know___? .
A. who is he B. who washe C. who has been D. who he is
o m] ﬁllﬂ]l ¥, Gt complex Interrogative Sentence. q Q|
w7 Who/What/When/ Where %onfd Word , U
Noun/Pronoun + Verb 7w |

_You've got a book___? '

A. arcn’t you B. isn’t you C. have you D. haven’t you

IB] [ Tag Question 47 fRFIFE, You have =01 Auxiliary

verb R have T | WWmNegaﬁve‘Wﬂm BIX n’t T, G
Pronoun T |
{ Which of the following sentence is logically impossible?
A. He quickly did it B. He did it quickly
C. He quickly didn’t do it D. He didn’t do it quickly

R C)|AEIKI| v, Quickly g2 Adverb e 51 (1% I61 ST
Main verb <% It 307 | ¥ Auxiliary Verb % 1w 307 | BIX Q€I SMF
C. Tfeary |
i Ienjoyed a_ evening __home.

A. quite, at B. quiet, in C. quiet, at D. quiet, about
o ] E Quite >§f; Quiet- =¥ | 9=, Quiet T R BT |
TR SR IWow o 7 “wif g3 =te/Ae ot ; W ot o R |
l. The opposite of ‘deplorable’ is
A.commendable B. deserving C. noble D. creditable

Rl AJ|JE0RTI| Deplorable € cirs3nr | A. Commendable- 2o, B.
Deserving-8»g®, C. Noble- =, D. Creditable-RaFmab| s,
Deplorable % fRR¥¥% *% Commendable |
I Itis important that the admission office _ your registration.
A. confirm - B. confirms
C. should confirm D. must confirm

™ ] ﬁm Important 93 Subjunctive word; % Rt =
Clause 9 verb % Present form T3 |
). The phrase ‘A Catcall’ means —

A. making a sound like a cat B. calling up to a cat
C.aloud v loud whistle or a cry of disapproval  D. a cat’s meow

v (@) E[Tu] Wwwmmmwmmﬁmm
& Catcall [ |

V>
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10. Which of the following sentence cannot have a passive form?

A. He has been building this house for one year
B. He has built this house

C. He builds strong houses
D. He will build a house next year.

» J[ W™F A. Present Perfect Continuous Tenleﬁ

®® X Passive form T 1 | '

11. In answer to which of the question does ‘NO’ means ‘YES’?
A. Would you like a cup of tea?  B. Do you want a cup of tea?
C. Do you feel like a cup of tea? _D. Do you mind a cup of tea?

™ E][ w4 D, %, Do you mind a cup of tea? I
"SR R 5T N T W wiver” | QT & 0 B S 7T O e o
My ¥ | O 9w No AT Yes QRITAT Qe |
12. I'wish I____a musical Instrument.

A. should play B. could play
C. may play D. I play

» B] [ I wish T& Sentence 9 Verb &3 STt Would}’CouIdﬂ

13. What does the underlined word mean in the sentence? The old man'y
house, badly in need of paint, was leaning to one side and had holes

in the roof, but his house was even mere dilapidated.
A. poorly built B. old fashioned

C. run down D. dirty

RN )3T Dilapidated Tt ety | @@ ST ¥00 C. Run
down T QORI | ,

14. The teanants are asked to throw all recyclable trash into.
A. the green big bag plasticbag ~ B. the big plastic green bag

C. the big green plastic bag D. the green plastic bid bag.
N C)[AGR)] v, e Size e colour = (Wi *1qe I TN 7
T TG W I T |
15. The antonym of alien is
A. imigrant B. near C. native D. exotic
N C[iEEm] Alien (RorhRmuarh) <@ Reffie =@ Native
(o rerdt) |

16. The sentence “He’d better have seen a dentist before he lost his

tooth” means:
A. He lost his tooth because he didn’t see any dentist.
B. He lost his tooth though he saw a dentist.
C. Despite the fact that he saw a dentist frequently, he lost his tooth.
D. He was advised to see a dentist before he lost his tooth.

R0
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BfitRish IQ SUMMIT

S ——
FID)[HEIK| 9, Had Better fitr Advise/Suggest THTAT TR
;ﬂ,m« T T, “WIS oAgr o i S it e« Fog e |
‘ﬁqﬁﬂD R A T
The The sentence ‘Need Rafique have gone to Dhaka?’ implies
3,\ Rafique hasn’t gone to Dhaka but he needs to.

p. Rafique didn’t need to go to Dhaka but he has.
¢. Rafique willned to go to Dhaka in the future to
D. Rnﬁquc couldn’t help going to Dhaka.

-mﬂmfhrmf iy s BT TG AU fe” T A
ﬁ mmmﬁwmmmﬁmﬁwwn WAt QR TRHCE |

The meaning of the word ‘SUPPORTIVE’ is
A.active B. helpful
C. dangerous D. aggressive

y lB] HEsi] Supportive M e W& Help ful T 77 |

Whnt is the difference between (a) I happily didn’t refuse the offer.
and (b) ‘I didn’t refuse the offer happily?
Il A. (a) I refused the offer. (b) I didn’t refuse the offer.
v’y B. (a) I was unhappy that i refused the offer. (b) I was unhappy that
ley Ididn’t refuse the offer.
C. (a) I was happy that I didn’t refuse the offer (t) I wasn’t happy
that [ had refused the offer.
D. There is no difference in meaning between the two sentences.

o | (Sl CERIR)| st srerstanr et zace s C. @@ 51

. Which of the following sentence is incorrect?
A. She always reads a book
B. She always reads books
C. She’s reading a book now

1 D. Whenever I go to her house, she reads a book

d

o E]] E Sentence o 2ent ¥R fior qusis “Whenever 1 go to

her home. She is reading a book” ¥ =¥ 7, “T¢ wifiy oz a7 T, G 3%
THLS AITF" |

AR RrRAtettad 1Q A

. VRt of oty e Bty 8 & farw 0o wies T 31 (RU: A-Unit: 22-23: Set-1]
A. 9% B. 2¢% C. 9% D. 20%

) B)JJCICT] v, > x100% =1x100% =25%

. AOP, CQR, EST, GUV ﬁﬁm "R Aty @7 [RU: A-Unit: 22-23: Set-1]
A IYZ B.YIU C. HWX D. IWX

R -



W 1Q SUMMIT
v B —
o () [ (2l A:L c g NG .'L|
0 ;‘-1’0 4'|' s L] 1’ lj L P’ w
pARS TS v iix
W, AOP, CQR, EST, GUV a ites own xes IWX |

O3, @4 ¥ 430 4 4 3O ® P [RULA-Unit 22231 Set1]
B, 9)ey C. odae 1D, vande

QAN I ) WINNS DT (o b e 0 T 4 e Y
AR a0 1) d = 3ex =5 @ + (n-))xO = da = (N-3)x0=d84

=n- 151 1 Lnweom®, I (tn-d)d) = E‘E (R.a-+(n-3)xe)

= 25 (do#(¢0-))x0) = 25 (do+384) = 25x157 = 3925, R
04, 9, 9, ), Mb QX YIRIT YoWY = [RU: A-Unit: 22:23: Set-1]

A By C. >4 D, 339

JI] ©, ®, 33, St QX YW SOWN - SN AW = Y34 3m=0) W MW u

QU OF A m 0xmdd; 8¢ AW = BL-Q=b; L SoN HW = dol+amdoy
QI dox #W Yoy |

0S. 9+ e+ A+ d+ . +0d=1 [RU: A-Unit: 22-23: Set-3]

A, R0%0) B. Y000 C. Yodoo D. doxoo

O DJJHEURI © + @ +9+ 3 + e +303=1

ST W, & =0 ; MW ST, d =@ -0 = T = 0

AEIN a+(n -3) d = 303 = o+ (n-3) =03 => (N -3) = IdV

= 1 -3= 3R N =M = 0 = doo YA, R § = = {a+(n—) d)
= S = eo(S+dXY) = § = ¢o(b+3d) = § = ¢o X 08 .. § = 30, Y00

06. >» oY ey Rad M- [RU: A-Uric: 22-23: Set3]
AwRR B evfil C. e fofy D. > f&fg

Wb TN *R R O FCT (T RTe o7 BRI et B
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